T

TYPEA

The average marks of 32 boys of
section A of class X is 60 whereas
the average marks of 40 boys of
section B of class X is 33. The aver-
age marks for both the sections
combined together is :

10 F WEAD 32 BE 1 Swae0
‘T B # 40 B 1 siva33 &) 2 waned
1 St e =2

a 44 b} 45

1 1
(@ 463 d 455

A man bought 13 articles at Rs. 70
each,15 at Rs. 60 each and 12 at
Rs. 65 each. The average price per
article is

UF =4 3 13 994 2 70 W TR % =R 9,
154 7 60 Wi =g & W ® T4 12

AT 65 9 I ¥ T 9w v T

w1 sitga g s F=2

(@ Rs. 60.25 (b Rs. 64.75

{c} Rs. 65.75 (d} Rs. 62.25
$SC GD 2012

A fruit seller sold big, medium and
small sized apples for Rs. 15, Rs.
10, and Rs. 5, respectively. The to-
tal number of apples sold were in
the ratio 3 : 2 : 5. Find the average
cost of an apple.

U e faal 3 592, O 9 S IR
WT15,T10MTISH 99 9 T 5@
W3:2:5% 9@ § 49 W W

sivea 979 A w2 ;
fa) 8 ® 10 x,«
) 9 dy 7 oA

8sclL .Mm
A man purchased 7 i% at
the rate of Rs. 800 ¢ gs of
rice at Rs. 1000 eac) bags of
rice at the rage o 00 each

What is the aligagl

of rice?

F = A ¥ doh § weF 800 %
%1, 8 et ¥ WG 1000 1 a1 5 it
mlzmxwmﬁmwaﬁ@
& F1 olvem T T T 2

{8 Rs. 1000 () Rs. 980

{c} Rs. 1120 (d} Rs. 1050

SSCDEO 02-11-2014

=1

e e A o B A 3 5 e et
s

Three Science classes A, B and ¢
take a Life Science test. The average
score of class A is 83. The
average score of class B is 76. The
average score of class C is 85. The
average score of class A and B is 79
and average score of class B and C
is 81. Then the average score of
classes A, B and C is

fom faeg 1 9 wamd A, B s C
raa-faam 3t when 30 §) v A st
5% 83 8| @ B® sitwn % 76 §) w0
C % 3itea 3iF 85 ¥1 Fa A 3R B S st
% 79 AR B &k ¢ # rad HE 81
&1 % A, B ol ¢ % ofvwm o feam #7

fa} 80 (b 80.5
) &1 {@ 81.5
(CGL Mains 25-10-2018);

The average of marks scored by, the
students of a class is 68, The%taga

of marks of the girls in the clas® is

80 and that of boys is 60. What is
the percentage of boys. 1r;@the class?

et Han % Famnfial = aﬂtﬁsﬁl At

waﬂaﬁsommﬁmaﬁm%%lwﬁ

oAl FAfEm A % -

@ 40% % .- ‘%1 60%

() 65% __‘.t*-*atjd] 70%
gYPE : B

Tkﬁe ‘averige weight of 15 students

in"y, ass Tncreases by 1.5kg when
one ‘§f the students weighing 40 kg
is rephced by a new student. What

Ys the weight (in kg) of the new

\atudent?

15 faenfefri 1 sliwa 7= 1.5 % 9@ 2,
¥9 q0kg ¥ v faneff # ww T faeme
Wit wm €| T faEnei a9 99 F92
fa) 64.5 kg. ) 56 kg.

{c) 60 kg. d) 62.5 kg.

There are 50 students in a class.
Their average weight is 45 kg. When
one student leaves the class the av-
erage weight reduces by 100g. What

is the weight of the student who left
the class ?

fereit e o 50 faendt ¥ 561 shwa 5=m
45kg ¥ v ww Frmedl T ¥ w0 9w
2,39a 399 100gm 1 € W #1 3§ frendd
I W T, S e o == o #?

@) 45 kg. (b} 47.9 kg.

{c) 49.9 kg. {d) 50.1 kg.

3 S o T A o

9.

11.

12,
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The average age of 45 persons is de-

1
creased by g Year when one of them

of 80 years is replaced by a new
comer. Then the age of the new
comer is:

#y
(8) mg 3} years b

_jti}: years id) 49 years
% wiverage weight of the 8 oarsmen

*}%’n boat is increased by 15 kg when

55 years

one of the crew who weights 60 kg
is replaced by a new man. The
weight of the new man (in kg.) is:

1
8 FEr-FH F st T 15 kg =g <

, o UF TEE-FH T T 60 kg 2,
F TF T AR TR s &) W siE
G 9 BL7

(&) 70 kg (b) 68 kg
te) 71 kg {d) 72 kg
8SCLDC 25-10-2012

The average weight of 12 crewmen

1
in a boat is increased by 3 kg, when

one off the crewmen whose weight is
55 kg is replaced by a new man. What
is the weight of that new man ?

12 fasi o shwg === %kg ¥ W 2,

& | i faww 797 55 kg &, = o=

=i wiaeafra = &1 wfm w1 599 9w

w7

{a) 58 kg b 60 kg

ic) 57 kg (d) 59 kg
S8SCLDC 04-11-2012

Average age of 8 men is increased
by 3 years when two of them whose
age are 30 and 39 years are replaced
by 2 persons. What is the average
age of the 2 persons?

8 =i 1 ofiHa 9y 3 74wy W E, 9.
2 =ifsa foratt amg 30 = A 3499 & =




13.

14,

15.

16.

=1

31 2 TR B Wik e S #) 2

=R #1 siea g T w2
{a} 24 years (bl 32 years
{c) 44 years (d} 48 vears

88CLDC 21-10-2012

The average weight of 15 oarsmen
in a boat is increased by 1.6 kg
when one of the crew, who weights
42 kg is replaced by a new man.
Find the weight of the new man (in

kg):
15 AT 1 sl ao[ 1.6 fFme 95 s
2, 1@ 42 fellle 9 =Tet O AfAF $ 959
T N e N I E, A A s
T HL?
@ 65
{c) 43

(b 66
@ 67
{88C CGL 09-08-2015, Morning)

Cut of 10 teachers of a school, one
teacher retires and in place of him a
new teacher 25 yrs. old joins. As a
result of it average age of the teach-
ers reduces by 3 yrs. Age of the
retired teacher {in yrs.) is:

wh TE # 10 o § | o g dmfee
T W # it T0S TF W T 25 TN
T e TEe F o 3 afomraEy faw
#t ¥iwa o 3 @d F9 B TR & SedEe
e 3 oy foradt (oef W) &2

@ 55 ) 65

dy 75
(S8C LDC 15-11-2015, Morning)

The average weight of 20 student in
a class is increased by 0.75 kg when
one student is 35 kg replaced by a

[c} 45

new student. weight of the new 20_ The af

student {in kg is:

20 ferenfefi 1 sfiwa T 0.75 kg 7 Y

% wE fyme g R 39 35 kg §

1 v 37 forenel gro Wit e v &y

7 faemed =1 =0 *am 3»'1- 2
{a} 35 W
c) 45 (d} 5'&,, T
In a class, there are,AO bo and
their average age is.l edes. One
vithé the class
t‘ average age

becomes 15.8 clmd. The age of
the new TR
s Hm T 40N & 7 T sk o

16 7 ¥1 T e faww Ay 17 0 2,
Fo § T TS TN TF A GG F A
oA B W 31 @ sitEa A 15,8759
7 W 3w e W o
{a) 12 years b} 14.5 years
{c) 15 years {d) 17 years

17.

18.

19.

21.

The average age of § persons is
increased by 2 years, when one of
them, whose age is 24 years is
replaced by a new person. The age
of the new person is :

8 wfwrl 1 sl a1y 2 od =g o ¥, Ay
T QU foww og 24 @ 8, W @
=i @ et fea ) g waf
2] TR T

(a) 42 years ib)
(c) (d)
The average age of 3 men is increased
by 2 years when two of them whose
age are 21 and 23 years replaced by

two new men. The average age of
the two new men is :

8 FfEwl F1 aitd og 2 99 =g &, AR
= & Q) =feaal fml oy 21 3 T 23
i #, S T e A wiwenfi i
HEECE e G Chd

{a) () 24 years
{c} 28 years id) 30 years
The average age of 30 boys in a glass
is 15 years. One boy, aged 20 yka

left the class, but two new bW
in his place whose age differ B
years. If the average age of all bd§ s
now in the class be 15 years,
the age of the younger mer is:

wmﬁaomﬁﬁﬁm 1574 &)
= o fe oy 26 H = 9 2 3
a’l - 1%ren G %W | o ¥,
% 21 A% T ¥
1598 @, d Fa W
T B
) 15 vears
{d} 8 years
erage weight of 12 parcels is
$.8 kg Addition of another new par-
1 reduces the average weight by 50 g.
Vhat is the weight of the new parcel?
¥2 dealt ®1 siwa TOF 1.8 kg ¥ TH
d5e ® WOAad §F % BRI, $Ed w9 50
gm FH & W §| T F%a T a9 T FL2
(a) 1.50 kg. (b) 1.10 kg
{0 1.15 kg. (@ 1.01 kg.
Out of 10 teachers of a school, one
teacher retires and in his place, a
new teacher of age 25 years joins. As
a result, average age of teachers reduces

by 3 years. The age of the retired
teacher is

wE e 10 Henes O | T AT
JATF B S Y T S R WO ™
srears; Tt 3 2599 ¢, afwfaa 88 21
RTTEET, AT F Y W e 3 Tt
e S #) S ST H g {1 w

40 years

38 years 45 years

22 years

22,

23.

24,

25.

26.
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{a) S50 years {b) 55 years

{d) 60 years
Average weight of 25 persons is
increased by 1 kg when one man
weighing 60 kg is replaced by a new
person. Weight of new person is:

25 SfFEl F% 3fa T99 1| kg 9% WA €,
Vo | oA fmE 99 60 ke ¥, W 1 9
e Wit 2 &1 i R S R

(@ 50 kg. v 61 ke.
(c) 86 ke. {d) 85 kg.

There are 50 students in a class.
One of the them wiighting 50 kg goes
away and a&le tudent joins. By
this the s ight of the class

() 58 ycars

increases by ¥ kg. The weight of
s stulflent is :

/Mg 50 forenelt &1 u ferenell forrm
#, 50kg 3, v W # uzdw forenef? st

g S g9 kg%lzm

%l 7 fameft =1 T9F 7@ #E:

(@) 70 kg. b 72 kg.

fc} 75 kg. d 76 kg.

The average age of 11 players of a
cricket team is increased by
2 months when two of them aged
18 years and 20 years are replaced
by two new players. The average age
of the new players is:

fath T dm & 11 famfedl # 3w sy
o WE W 9 %, va ¥ 4 QA PaafeE
o oI 18 @ w20 7 #, ® T =
faenfedi g whrera fem wm &1
famnfedl #1 sivm omg W@ F12

fa] 19 year 1 month

(b 19 year 6 month

(¢} 19 year 11 month

(d) 19 year 5 month

If the average weight of 6 students
is 50 keg. f two student of average
age of 51 kg added and other
students of average age of 55 kg also
added then the average weight of all
students is

6 Faenfefal @1 sivea &M 50kg, 2 i
=1 Hrag T S1kg 791 2 3R franeff famam
w1 aiwa 7w 55kg 8, wiite & 9W d T

wft frenfeidi = ofma oot A #?
@ 61 kg (b) 51.5 kg
(c) 52 kg (d} 51.2 kg

There were 24 students in a class.
One of the them, who was 18 years
old, left the class and his place was
filled up by a newcomer. If the




27.

28,

29,

30.

=1

average of the class thereby, was
lowered by one month, the age of the
newcomer is

wF Fw o 24 fandi ) I A TR R
g 18 T ¥, % O 3W & @ TH T
farenel Toafea g ) e I F8 H
e 1 T 9 @ w1 B  faemeft i emg
A FL?

{a) (b
{c} (i
From a class of 24 boys, a boy, aged
10 years, leaves the class and in his
place a new boys is admitted. As a
result the average age of the class is
increased by 2 months. What is the
age of the new boy ?

24 T F TF W0 I fowewt g
109 # wa § % W 9§ G TF
B At € sra &) foes wren we A
HHrea g2 e 98 S 31 I R 9
T H?

(a)
(e}

14 years 15 years

16 years 17 years

b
d

Type C

The average marks of 100 students
were found to be 40. Later on it was
discovered that a score of 53 was
misread as 83. Find the correct
average corresponding to the correct
score.

100 faenfeid % siwa 3% 40 #1 5% F 98
¥on &6 Afe fF Frw 53 =t 83 A 5
TN W e A w2

o) 38.7 B 39

©) 39.7 ) 41

While finding the average of 10 given
numbers a student, by
mistake, wrote 64 in place of a number

12 years 15 years

14 years 13 years

31,

32.

33.

46 and got his average 50. The: '~

correct average of the given numbess
is : i

o Preft 9 10 HeE w1 stea @ w4

%?ﬂzﬁém%%mmmﬁaﬂm
%am@ﬁmsomm%%ﬂﬁaﬁw
Fif?

(a) 48.2

©) 49.1

The average %
calculated,

{c_n'"-' 98

umbers is
ig tilsoovered later
on that whPe dalgalating the aver-
age one nuwbDér, narnely 36, was
wrongly ré;td as 26. The
correct average is:
10 wemaAl ® it 15 I frm T AR
¥ M gan fF it 7@ 0@ wma T
WEm 36 B WA W26 AdfFa w T
& At 7 w2

34.

ta) 20 {b) 18

© 16 @ 14

A student finds the average of ten 2
digit numbers. While copying num-
bers, by mistake, he writes one num-
ber with its digits interchanged. As
a result his answer is 1.8 less than
the correct answer. The difference of
the digits of the
number, in which he made mistake is:

wF B 2 3! el 5wl | s Ih
w1 AR ¥ T g fE A & e fet
T @ i o age I ¥ fawd wm
IHET IR 3G 9RO @ 1.8 SW s
e % S T st T e, o e g
fa) 2 by 3

(c} 4 d 6

In an examination, the average of
marks was found to be S50. For
deducting marks for computational
errors, the marks of 100 candidates
had to be changed from 90 to 60 each
and so the average of marks came
down to 45. The total number of can-,

didates, who appeared at the eﬁam.!-

nation, was:

it e o, sl 1 @S0 TAE
ﬂaﬁgsnﬁzﬁaﬁmlooaﬁfﬁm
00 % M T 60 AWFerd B TRfaah HHw

mmaﬁm%ﬁm%ﬁwﬂwﬁﬁ
(a) 600 _\r&q do
© 200 &

The average g@gg; of a group of 20
boys was cél to be 89.4 kg and

it was lgt sdiscovered that one
weight wab” misread as 78 kg
instedd of 87 kg. The correct aver-

age ‘weight is

20 B 3 T 89.4 ke Sifwa fHA
T W 9 N O A 87 kg ® M
“¥ 78 kg ¥FEa fEm T G sitwd T

;iaaﬁf?
{a) B88.95 kg by 89.25 kg
{c) 89.55 kg (d) 89.85 kg

The average of 18 observations is re-
corded as 124. Later it was found
that two observations with values 64
and 28 were entered wrongly as 46
and 82. Find the correct average of
the 18 observations.

18 wAl =1 sitam 124 sifFa fEm TN R
¥ 7R g0 7 [ T F 64 701 28 F TH
W 46 747 82 W4 0 Tm 18 9 W=
o sfwm Ja W=

122

7
@ 1113 (b}

123 d 7g
© @ 1373

'wlﬁ"

35.

36.

37.

38.

39.

40,

41.
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The mean of 50 numbers is 30. Later
it was discovered that two entries
were wrongly entered as 82 and 13
instead of 28 and 31. Find the cor-
rect mean.

50 Femai # sow 301 TR H I 5
o WA W 28 T 31 ® WM W 827TH 13
it v ) et sia T w2
(@ 36.12 (by 30.66
(c) 29.28 id) 38.21

The average of 25 observations is 13.
It was later found that an
abservation 73 was wrongly entered
as 48, The new amerage is

25 HIT 4 3 '?1aﬁﬁsnﬁ§anﬁ$
gfz%wmﬁ Tt Tan
aﬁmm#&ﬂw
@) 12.6 -7 () 14

t
© 1% @ 13.8

Mpaxw 10 numbers is 30. Later on
observed that numbers 15, 23

e as
kY Qr&i\vrongly taken as 51, 32. The

oy

cel’rect mean is

10 demst = mer 308 Az ¥ 7w gen

© ffe & FAW 15, 23 W 51, 32 R fEA

TN WE T g w2

{a) 25.5 b 32

) 30 id 34.5

The average of 27 numbers is 60. K
one number is changed from 28 to
82, the average is

27 sl @ Sled 60 21 9K W T4 g1
Ffe & Hrw wF dem T 28 F T W 82
sifera fira T W& siwa T w2

(o} 56 b) 58

[} 62 d) 64

A tabulator while calculating the av-
erage marks of 100 students of an
examination, by mistake enters 68,
instead of 86 and obtained the
average as 58; the actual average of
those students is

wF 0 TR 100 frnfdal @ ol o

4 w0 ¥ W2 0 9w o fF e & s
86 F A W 68 iha wwa & olR fwa
58 T 3 31 Faenidd w1 arates otaw

o Hif?
(a) 58.18 (b) 57.82
() 58.81 (d) 57.28

The mean of 20 items is 47. Later it
is found that the item 62 is wrongly
written as 26. Find the correct
mean.

20 Hemall = slwa 47 1 9 W Fa g
e & w62 % 26 fEa fFm T T
roa Tm =7

@ 48.8 b 47.7

¢} 49.9 {(d)y 46.6

The mean value of 20 observations

was found to be 75, but later on it
was detected that 97 was misread




42.

43.

44,

45.

=l

as 79. Find the correct means.

20 Tl T 3Ed 75 7@ T AR H T §I
fir gfe % Frw 97 F 79 f&a & mn
el ata wm w2

@ 75.7 (b} 75.8

(c) 75.9 id) 75.6

The mean of 100 iterns was 46. Later
on it was discovered that an item 16
was misread as 61 and another item
43 was misread as 34. It was alse
found that the number of items was
90 and not 100. Then what is the
correct mean?

100 Hemet = sia 46 ) 9= F 74 g0
f& qf ® IR 16 F 61 701 43 F 34
FHrra fam T A o I g fE H5w den
100 % T W 90 ofil T irm =

@) 50 (B 50.7
{c} 52 d 52.7
8SC TIER 1 2012

The average of seven numbers is 18.
If one of the number is 17 and if it
is replaced by 31, then the
average becomes :

um demst o Jma 18 %) A wE dem 17
= TF 9 H@m 31 ¥ wiarenf@ e S
21 7 SHFE FE HO
8 21.5

(€} 20

b} 19.5
@ 21
8SCLDC 04-11-2012

In an exam, the average marks
obtained by the students was found
to be 60. Alter omission of computa-
tional errors, the average marks of
100 candidates had to be changed
from 60 to 30 and the
average with respect to all the
examinees came down to 45 marks.
The total number of candidates who
took the exam, was

ot wign ﬁaﬁd#aﬁmaﬁu@@

T TR H gunﬁ%amooﬁmﬁﬁw%%

A 60 ¥ 307 wmnﬁﬁaﬁﬂmm
45 ¥ TN frnfial F e T\ w2

@ 200 b 210
(e} 240 (@ 1807
S8C ASBISTANRT GRAD&;!IF’!,I !d.-2012
The average of 10 1tenﬂs, was found
to be 80 but whllq cqlcuiatmg, one
of the items {¥gas;co¥nted as 60

instead of 501 \:aThen the correct
average haw been :

1omﬁfma@msomﬁmwm{%ﬁ
R § T g, S FRW 50T 60 FPEa
frar T wE Ated AW B2

@ 69 b 79.25
(c) 79 d) 79.5
SSC CGL TIER 1 29-09-2013

46. The average of 9 integers is found to

47.

48.

49,

\)

50.

be 11. But after the calculation, it
was detected that, by mistake, the
integer 23 was copied as 32, while
calculating the average. After the
due correction is made, the new av-
erage will be

o TEmst %1 ofraa 11 %) 9= F 3w gon fa
Afz & Frw 23 %t 32 3w fr T W
sl @ B2

@ 10
¢ 10.1

) 9
d 9.5
88C CGL TIER I 19-05-2013

The average marks secured by 36 stu-
dents was 52. But it was
discovered that an item 64 was
misread as 46. What is the correct
mean of marks ?

36 famfefai @1 siwa 5221 9% § 99 €,
e F F 64 F 46 3ifFa fem ™ T
i ¥ #{?

(a} 54 (by 53.5
{c) 53 (d} 52.5
$5C LDC2014°

A student finds the average 8f 10, gg

of the numbers is interchanged, ‘the
average increases by 3.6. The f-
ference between the - ; of the 2
digits number is k3

ﬁmﬁawﬁﬁ‘ma‘lmmﬁo%mﬁw
m%mﬁaﬁmﬁ%ﬁm% o 3.6
™ w4 T A aﬁﬂ‘wﬁ ot =
W A El'ﬁ) . ng

@ 4 b3

fc 2 § t @ 3

% ,, F8C COL TIER 1 19.10-2014

+ marks obtained by a stu-
& subjects is 88, On subse-

) quenfvsvenflcatmn it was found that

*“the marks obtained by him in a sub-
ect was wrongly copied as 86 in-
"Stead of 68. The correct average of
t?e marks obtained by him is:

6 il ® ww BT W i T 88 B 1 AR
# e w U T fF T e o
T 68 B TR W 86 WS feem =, A

Wt A rdiE A" w1
fa} 87 b 86
{c) 85 d)y 84

{88C CGL 16-8-2015, Morning)

The average marks of 14 students
was 71. It was later found that the
marks of one of the students has
been wrongly entered as 42 instead
of 56 and another as 74 instead of
32, What is the correct average ?

14 famfdal % offmm s 71 IR d ®
e 7 R T fand = o w5 e A 56
F R W 42 @ fam T eI w e

T

digits numbers. If the digits of oneﬂ

51.

52.

33.

54,

55.
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foreneft & ofF 32 % W W 74 fora fon
T HE st T 27

&) 68 (bt 71
{c) 67 d) 69

{S8C LDC 01-11-2015, Morning)
The average of marks of 14 student was
caiculated as 71. But if was later
found that the marks of two students
has been wrongly entered as 42
instead of 56 and of another as 74
instead of 32. The correct average is:

17 frenfefdi @1 sfmm 71 %1 9% § 3@ g0
5 3% T2 F FAW 56 F TR W 4270
32*%w;4aﬁs’rwnuﬁaﬂm
@H; Lo

@ 67" b} 68

) 69 (@ 71

The Qverage- of a collection of 20

measustements was caluclated to bhe
56 ¢fn, :But later it was found that a

mistaké had occured in one of the

meagurements which was recorded
ag, 64 cm., but should have been 61

em. The correct average must be:

20 T F1 37 56 cm #) A% H T g0
fF, 32 % B TF A 61 cm H WH W
64 cm sitwa fE T we siE T
fa) 53 cm b} 54.5 cm
{c) 55.85 cm {d) 56.15 cm

The mean of 50 observations was 36.
It was found later that an observation
48 was wrongly taken as 23. The
corrected {(new} mean is :

SO T 1 WA 36 7)1 W H @ e
AR F HN TH A 48 F T W 23 HFI
fam Tem = swa FE

fa) 35.2 ) 36.1

(c) 36.5 (d) 39.1

The average of marks in Mathemat-
ics for 5 students was found to be
50, Later, it was discovered that in
the case of one student the marks

48 were misread as 84. The correct
avearage is:

i § 5 fenfdEl =1 ofma 50 2) 9% A 9w
M fFE D IV TEH B B AFABH
T T84 HhEa B T T ka9 w2

a) 40.2 by 40.8
(c) 42.8 d) 48.2
TpyeD

The average age of eleven cricket
players is 20 years. If the age of the
coach is also included, the average
age increased by 10%. The age of
the coach is :

11 frsie faenfeal =1 area 20 9 &1 afy
T %) A7 W g = @ TR s
A 10% T A ) FE H Y T FoR?




(a) 48 years {b) 44 years
{c} 40 years {d} 36 years
The mean of 9 observation is 16. One
more observation is included and the

new mean becomes 17. The 10th
observation is:

9 T = 3 16 #1 U WO i gefeE
T ® TR T ofwd 17 W <@ #1059

56.

A AR HE?
@ 9 b 16
{c} 26 (d) 30

57. In a class, the average score of girls
in an examination is 73 and that of
boys is 71. The average score for the
whole class is 71.8. Find the per-

centage of girls.

ot wan A, womedt & ofwl w1 sl 73 o
o % A R i 71 ¥ 9@ W s
71.8 9 3| IENAT 1 VT 717 L7
(a) 40% b 50%

fc) 55% (d) 60%

There are in all, 10 balls: some of
them are red and the others white.
The average cost of all balls is Rs.
28, average cost of red balls Rs. 25
and that of white balls is Rs. 30,
the number of white balls is :

10 TRf ¥ {o @@ W 59 WS T §1 i
e a0 sivem Eg T 28, W@ R T sl T
25 a7 TR WY 1 siraa gea T 30 &1 Wiy

58.

T2+ dew 3@ 12
fa 3 ® 5
fcy 6 d 7

59. The average mathematics marks of
two Sections A and B of class IX in
the annual examination is 74. The
average marks of Section A is 77.5
and that of Section B is 70. The
ratio of the number of students of

Section A and B is
T A F OB P AF W afwm 79 3
W AT Bl H1 S 77.5 99 T4 B
el = S 70§ T A T e

A AT A R
@ 7:8 by 7:5
fcy 8:7 id 8:5

60. The mean weight of
a school is 42 kg.

the teacher be inclu
rigses by 400 grams. i
of the teacherm i

55 kg (b)
(@)
8S8CLDC 21-10-2012

57 kg
56 kg

61. On mixing two classes A and B of

students having average marks 25

=]

and 40 respectively, the over all the
average obtained is 30. Find the ratio
of the students in the classes A and
B.

= F A T B 3iH 3 sitma 253
40 %1 I Fnafl B afw 71 9 oivwm 30
#1 T A7 BR B YW F1 suE
T H?

@ 2:1
fc} 5:6

by 5:8
d) 3:4
SECLDC 04-11-2012
4 boys and 3 girts spent Rs. 120 on
the average, of which boys spent Rs.
130 on the average. Then the average
amount spent by the girls is:
4 WgH a9 3 ARGl SR ®9 9 ¥ 120
Td w0 ¥ R v oliea w9 92 150 =
w0 E, 3 Teied = sua e w0
fa) Rs. 80 {b) Rs. 60
[} Rs. 90 (d) Rs. 100

8SC MTS 10-03-2013
There are two groups A and B of a
class, consisting of 42 and 28 §;
students respectively. If the avgr
weight of group of A is 25 Xa ;
the of group B is 40 kg, fin aviy g
erage weight of the whole classX
el ®an A 9 A6 4270 9 B A 28
fameft 19 gwa =N
25 kg M PT B ®

40kgz’r ?ﬁw*@mﬁamm

@ 69 kg' 31 kg
¢ 70 \"‘:d] 30 kg

__ % ST. GRADE ITI M AIN
E &x;nonthly salary of all the

pMgecs in an industry is Rs.
12 i'-‘_ The average salary of male
empl tes is Rs. 15,000 and that of
*femalé employees is Rs. 8,000, What
%{i the ratio of male employees to fe-
ale employees ?
Gt T F e e % siv wRes
I T 12,000 31 At TEU FEr @
sl 7 € 15,000 7o Bt whven wdwRE
aﬁﬁmmfs,oooﬁlwmnfm
w1 S 7 12
fa}j 5:2 b 3:4
fc) 4:3 dy 2:5
8SC FCI ANIST. GRADE I MAIN
Average weight of 25 students of a
class is 50 l-cg If the weight of the
class teacher is included, the average
is increased by 1 kg. The weight of
the teacher is
Tt wan W 25 Frenfdf & wr =1 sivaq so
kg B A% sreamaw = R @ wiwfea fem
W, @ S W1 kg AT A B ST W
YR R HL?

62,

A
63.

64. The

65.
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66.

67,

G

68.

69.

{a} 76 kg b) 77 kg
) 74 kg () 75 kg
85C MTS 24-03-2013

The average salary of all staff of a
school is Rs. 10,000. The average
salary of 20 teaching staff is Rs.
12,000 and that of non-teaching staff
is Rs. 5000, the number of non-
teaching staff will be

sl fereners ® oot FH=fE =% sitwm am
10,000 #1 20 stsarvaHl Y 3ived € 12,000
T I S weANE T €, FY ofwa g T
5,000 #) wardalﬂ-? Ft dem 7@ wX,
o T de A

@ 7 ¢
€} 10 %

CGL TIER 1 19-5-2013

Th aé\:rage salary, per head, of all
kers of an institution is Rs.

the
iﬁ%\:he average salary of 12 offic-
rs;¥%s Rs. 400; the average salary,

1:»1‘!‘E head, of the rest is Rs. 56, The
otal number of workers in the in-
stitution is

el den § o s ¥ ofva o g
60 21 12 3P #t st ama £ 400 2
A a9 AT % siwd 3t 7 56 ) wEm
H Fo wHaE #1 wem TE
(@) 1030 {1035
[} 1032 {dy 1020

88C CGL TIER I 26-10-2014
The average marks obtained by 40
students of a class is 86. If the 5
highest marks are removed, the av-

erage reduces by one mark. The av-
erage marks of the top S students is

40 forenfeis =t T 3 siwa sfF 86§ of
5 FaiTE 3% w2 e s, fawt shoa 1 s
=Y B W 1 5 faenida w5 sitgq @ w0

ia) 92 M 96
fc) 93 @) 97

88C CGL T1ER I (2013) 20-07-2014
In an examination average marks ob-
tained by the girls of a class is 85
and the average marks obtained by
the boys of the same class is 87. If
the girls and boys are in the ratio 4
: 5, average marks of the whole class

(approx.) is closect to

TF el $ w=fEa w wlisn § v
sitea 85 # ik Tt wen N wewl % warsd
F oiea 87 1 Ak wafwd sk e 4: 5
® apm A ¥ W ol wa B st @

(s e &2




{a} 86.5 () 85.9
ic} 86.4 (d} 86.1
(CGL Mains 25-10-2015}

70. The average weight of first 11

persons among 12 persons is 95 kg
The weight of 12 person is 33 kg
more than the average weight of all
the 12 persons. The weight of the
124 persons. is

12 wivii B wEe 11 @ # sitea 9em 95
fem &) 129 =fe %1 aoF 12 @00 %
shag g9 § 33 fem ofus &, ot 129
b #1 a9 fan 22

(@ 12875 fFm. @) 131 FFmm
(c) 128 fom. () 97.45 fem.
{CGL Mains 12-04-2015)

The average marks of 50 students
in a class is 72. The average marks
of boys and girls in that subject are
70 and 75 respectively. The number
of boys in the class is:

50 franfeil % w = A siwm siw 72§
3% e A vl ik efedl ® o wE
won: 70 3R 75 &, @ w=H w1 HEn
TR

@ 30
© 35

71.

o 20

) 25
{85C LDC 20-12-2018, Morning)
The average age of 14 girls and their
teacher’s is 15. If teacher’s age is ex-
claded the average reduces by 1. What
is the teacher’s age ?
14 TR T stearas w1 ofima o 15 9
#1 ik e | g v QA ol )
o ¥ 7 T &1 STATIE F) A TR
{a) 35 years {b} 32 years
(c) 30 years {d) 29 years
The average age of four brothers is
12 years. If the age of their mother
is also included,

increased by 5 years. The age of t
mother (in years) is :

4 séE F siraa g 123ﬁ%mﬁ3=|aﬁ

T2,

73.

* oy A ot wefer foem o, A i 5 e

¢ 7z W {1 9 F WA FG:
(ay 37 vears {b) g
{c) 48 years {dy 33
The average of marks of alked y 120
candidates in a certain ‘gxainination
is 35. If the ayer arfes obtained
by passed calgiditesdare 39 and
i idates are 15,

those of tge f

what is 111 of candidates
who passed, tf%cxammanon? ]
femil wien ¥ igo fauifti & wais =
sl 35 41 afe sl orat +1 offEa 30 T
Iyl B w1 ofa 15 3, A =il Bl W
T A B2
{a) 100

{c) 150

"'t'.“’

74.

”‘.ff

(b) 120
(d) 140

the average is

75.

76.

77.

78.

.s&

79.

80.

The average age of 20 bays in a class
is 12 years. 5 new boys are admitted
to the class whose average age is 7
years. The average age of the boys
in the class becomes

TF T A 20 FSH F o o 1294 B
5T @R wW A Wi eh £, e
sttm amg 7 ord &1 w1 = T sitea
A H:

() (b}
{c) d
There are 30 students in a class.
The average age of first 10 students
is 12.5 years. The average age of
the remaining 20 students is 13.1
years. The average age (in years) of
the students of the whole class is:
w Fa o 30 fenedi ¥ wem 10 fnfiE =
s 12,574 #1 3 20 faafrl # s
13.1 74 31 wepel wan W sfea 7w # Y
fa) 12.5 years (b}
{c) 12.8 years (d)
The average salary of all the work-
ers in a workshop is Rs. 800 iTlle-

average salary of 7 techn

Rs.12000 and the average safénﬁ OFJ
the rest is Rs. 6000. The tota] numkr
of workers in the work ho

& Frmmen § wdt v
8,000 ¥ o 7W§ﬁ‘vﬁﬁw o !'
moooamar-aﬁﬂ%?sooo 2

8.2 years 9.5 years

12.5 years 11 years

12.7 years
12.9 years

e § ‘ﬁl‘{& Lo e 7| #:
@ 20 ,‘ " 21
{c) % w‘id] 22

In 00k the average age of
% 9,6 vears, and the average
f@W teachers is 40 years. If

aver . age of combined group of all

«the teachers and students is 7 years,

then the number of students is:

_%mmmﬁmmﬁ sirer a1 6 T

PN 12 AT F s Ay 40 7 B A
stemuE! qun faenfddl ) s omg7 =€ 9,
At faanfdil = Fem [ w12

@ 396 by 400

{c) 408 @) 416

The average age of 24 boys and their
teacher is 15 years. When the
teacher’s age is excluded, the average

age decreases by 1 year. The age of
the teacher is:

24 T T A ¥ sioa a5 ad #)

Ta AT 1 o Frrre 4 R, @ it
7 1 7 0 B AR AT FIW 3 FL?
{a) 38 years () 39 years

{c) 40 years {d} 41 years

The average score of a class of boys

and girls in an examination is A

Wizard of Maths - Rakesh Yadav Sir-

A, ich, 35°

$§s

The ratio of boys and girls in the
class is 3 : 1. If the average score of
the boys is A + 1, the average score
of the girls is :

ot o o 9 a9 oENEl & ol W siwa
A% T W o T oAl F1 SgUE3 17
s ol & AFl W oiEA+1 , o oot &
s 1 olma TR w7

@ A+1 b A-1L

fc) A+3 @ A-3

The average age of 30 students is 9
years. If the age of their teacher is
included, the average age becomes
10 years. The agegg)f the teacher (in
years) is : @ %

30 frenfer 44 e;ﬁma @aﬁ 1 7f% ererRe
1 9y &, 3 v 9 shw s
1094 'ﬂ?ﬂ?ﬂ%l T B W (W #) T
w7

@87,

a1.

\‘2&%‘

b 31

d 40

@ ?,l;g ‘average age of 40 students of
i mclass is 18 years. When 20 new
“students are admitted to the same
class, the average age of the students
of the class is increased by 6
months. The average age of newly
admitted student is

w1 ° 40 famfdal # oae smg s ad &
7 20 T B Fan § weiaa o €, @ wE
#F R 3 6 W WG I R e

ol &) i g AE HE?
{a) 19 years
{b) 19 vears & month

{c} 20 years

(d) 20 years 6 month

Type E

The average age of a husband and a
wife was 27 years when the child
was born, the average age of the
husband, the wife and a new-born
child is 21 years now. The present
age of the child is :

ot ta fs =1 afrem swg 27 T o, s T=
1 % 3N 9f, 9fe 4T ) ) e sl
P21 T &) T F TR Y @ R

() (b)
{c) (d)
In a family, the average age of a
father and a mother is 35 years. The
average age of the father, mother and

their only son is 27 years. What is
the age of the son ?

el TRER S fo@ T = oA S 3s
=4 % fim, v 3o G 9 aima g 27 @i

83.

4 years 3 years

2 years 1 year

84.

#1971 oW IR FE2
fa) 12 vears (b} 11 years
{c) 10.5 years (d} 10 years




85. The average age of a husband and (a} 8 years 9 months
wife, who were married 4 years ago, )
was 25 years at the time of their mar-
riage. The average age of the
family consisting of husband, wife
and a child, born during the interval
is 20 years today. The age of the

child is:

aft & Il H sitwd o, e 4 99 gd
faamz gan o, faam & Owa 25 9 ot of,
ofe1 & q7 #) sitem g 20 7l F g W

7 vears 3 months
{c) B years 7 months

(dl B8 years 11 months

$8C GD 22-04-2012

90. The average age of husband and his
wife was 23 years at the beginning
of their marriage. After five years they
have a one-year old child. The aver-
age age of the family of three, when
the child was born, was

T Y T B2 foam & wwa afs v vfe = sl st 23

a) 1 years {b} 2 years =4 it fooms & 5 94 Ivw 37 o T6 #

€} 2.5 years {d) 3 years o0 §1 A= B W S 9 9ER F afd
86. Five years ago, the average age of P o T H?

and Q was 25. The average age of {a) 23 years (b} 24 years

P, Q and R today is 25. Age of R (c) 18 years {d) 20 years

after 5 years will be

= o qd, Paiit @ % aifom a1y 25+ #h
W9 PQW RH i oy 2594 %1 5
Y T R 3G A F?

(a) 15 years (b} 20 years

fc) 40 years {d) 35 years

The average age of a family of 10 mem-
bers is 20 years. If the age of the

SBC CONST. (GD)24-03-2013

91. Two years ago the average age of a

family of 8 members was 18 years.

After the additicn of a baby, the av-

crage age of the family is same to-
day. What is the age of the baby?

87.

youngest member of the family is 10 T 5

years, then the average age of the T T

members of the family just £ 1.
before the birth of the youngest mem- (a) 2 years ) g years
ber was approximately. a 1 o
10 SRR =R 9fER 7 alter swg 20 o & {c} 1 years __L&]I*’*-‘Q% “years

Il 7ER F wad IR T w9 107§
, 78 vfEm %) sim o1 TR o o @
I F GHA T HL?

5 SSCCGLTERI 19-5-2013
92. From a clasg 4f 42doys, a boy aged
10 years goestamy and in his place,

(@) 27.14 years (b) 12.5 years a new boy admitted. If on

ac t &f this change, the average

1 & th boys in that class

() 14.28 years (d) 11 g Years incféasé¥ by 2 months, the age of
S8CLDC 21.10-2012 .the ffwcomer is

Tl san 6 4230 €, o o g oy
T30l ¥ T e ¥ v TR W W
T0 HE A O W ¢ (e B Ha
* 3T 2T 2 I8 W W ¥ T B F

88. S years ago, the average age of P angd:,
Q was 13 years. Average age of P4Q
and R today is 20 years. How ofq,-‘

will R be after 10 years?
59 A, P Q'q'ﬁai’lqaam;mw%l

P, Q, W& R %! siwa amg a,a,aﬁ ¥ W 2

AE R & 3Mg T@ FE? ﬁ - {a) 19 years b} 17 years
{a) 35 years b} -io y'ea,rg {cy 10 yr. 6 month

(©) 30 years  (d) '*-.50?axea:s (@) 12 yr. 2 month

S3C MTS 10-03-2013

The average age of Ram and his two
children is 17 years and the average age
of Ram’s wife and the same children
is 16 years. If the age of Ram is 33
years, the age of his wife is {in years)

T IR ST @ w=t ¥ shwa amg 17 99

89. 03,

% «
B was bo wg
months avas born when B
was 3 years'd #mohths old. When C
was 5 years Zynonths old, then their
average age was :

BRI TH M EH, TRAF T 48 7915

ot C 9 o9 78 g, TR BF a1 34 AW T ¥} 9 AR XA T 3 akem ey
o Hh W™ CH g s 2 W ofi, ™ 1674 &) afz W #t arg 33 =, @ T
I Hroa T FY2 TR F g 7\ 2

274 7 AR Ft offed o 18 @ oft,
fored 8 W 41w 7= B wimfaa § 9
Wz, ﬂﬁaﬂﬁﬁa‘qﬂa@w%&ﬁ #®? S

94,

95.

96.

97.

98,
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@ 31 (b} 32
{c) 35 @ 30

S8C CGL TIER I 19-5.2013
The average age of A and B is 20
years. If A is to be replaced by c, the
average would be 19 years. The av-
erage age of C and A is 21 years.

The ages of A, B and C in order (in
years) are

A¥R BH sita s 20 B Az aw C

¥ yfeeeniaa fear IR, A siea 19 4 & 9

Bamcus A sltmm s o1 & A

T A,B 7 ¢ H 3 0 E?

() 18, 226, fy 18, 20, 22

@ 22, W%dd) 22, 20, 18
$8C DEO 04-11-2013

In a fﬁmnly of 5 members, the avarage
age t\g present is 33 years. The
youngest member is 9 years old. The
avelinge age of the family just before the

bkth of the youngest member was :
% il B oREr # ol smga A &

T B W W g 9 Y ¥ vl 3R Tem
F 9 & W TRER i s s aa w12

(&) 30 years {b)
[} 25 years (d) 24 vears

§S8C CGL TIER II 29-09-2013
A man had 7 children. When their
average age was 12 years, a child

aged 6 years died. Then average age
of remaining six children is:

T wE & 7 7§ T T sl o
128 off, v o1 f g 6 ad oft W
W 217 3 6 a3 sy wa w2
fa) 13 years {b)
{c} 11 years (d) 14 vears

838C CGL TIER I (2013) 20-07-2014
If out of 10 selected students for an
examination, 3 were of 20 years,
4 of 21 years and 3 of 22 years, the
average age of the group is
10 feratfiefal o, 3 %t &g 20 76, 4 %t oy
2194 7o 3%} A 22 7 ) Wt Prenfi
Y ol g T B
fa) 22 years B 21 years
{c) 21.5 years (d}) 20 years

88C CGL TIER I (2013) 27-04-2014
3 years ago, the average age of a fam-
ily of S members was 17 years. A
baby having been born, the average
age of the family is same today. The
present age of the baby is
37 W, 5 R At ufER i oftwa oy
17 a4 ofjt TF =% T S TN a4 vRER 5
M e 7 T §) T T ey

A F

29 years

10 years




1
{a} 1 years b 1"2' year

{c) 2 years [d) 3 years
SSC DEO 16-1i-2014
99. The frequency distribution data is
given below, If the average age is
17 vears, the value of m is
Age {in years)
a8 20 26 29
Number of people:
3 2 m 1
st faeRm i frn v @ Ay oifeE oy

17 99 B, m ¥ °F I FL2

Age {in years): 8 20 26 29

Number of People:3 2 m 1

@y 1 (b} 2

ey 3 ) 4

88C CGL TIER 11 21.09-2014

100.After replacing an old member by a

new member, it was found that the

average age of five members of a club

is the same as it was 3 years ago. The

difference between the ages of the re-

placed and the new members is

T [ T H T weE ¢ i S

T T TR 5 uEwE A T 3 siv

arq , 3 T e W ofrwm g % A

T A T G H Y F AR AR

(a) 2 years (b} 4 years
{c) 8 years {d} 15 years
S8C TIER 1 21-09-2014

101.Three years ago, the average age of
a family of 5 members was 17 years.
A haby having been born the average
age of the family is the same as three
years ago. The present age of the baby
{in years) is
3 d e, 5 WEE A WEn s S
17 9% ¥ v w=1 1w g @ i ot wfEm
1 Fdem sim 2P 3 A el F e 6
F AW ¥ W ) SONA g TE HL?
fa} 2 b 2.4
chy 3 @ 1.5

SSCLDC 16-11-2014 7

102.The average age of P, Q and R is
5 years more than R’s age. If the
total age of P and Q together is 39
years, then R's age is
P, Q@ R#I 3R 51 R¥ R H 57
o 21 aft pud Q W wF o1g 39 T
#, 9 R F 7 T FY
@) 12 years (b}
{¢) 16 yeargs - {d) 14 years

.- SSCLDC 16-11-2014

103.The average age of 30 students of a
class is 14 years 4 months. After ad-
mission of 5 new student in the
class the average becomes 13 years

9 months. The youngest one of the
five new students is 9 years

24 years

11 month old. The average age of the
remaining 4 new students is

TF w1 F 30 O H AT 9 14 T 4
e #) T F Y 50 EE F WA B
e o 133 o 7 1 W ¥t uiE 7o BE
T 7o 9 O 0 Fd 11 WIE F 21 T4 TG
e # g a1 ReaT 22

{a) 10 years 4 months/10 T4 4 W

(b} 12 years 4 months/12 4 4 WI¥

{c) 11 years 2 months/11 o4 4 AE

{d) 13 years 6 months/13 ¥4 6 W

{CGL Maing 25-10-2015)

104.Average age of seven persons in a

group is 30 years, the average age of

five persons of this group is 31

years. What is the average age of the
other two persons in the group?

o 0 ¥ H @R # o s30ad 1,
0 U % i wtwd A shea g3 ad ¥
1 % o <) S F sl o e 22
(&) 55 years ib)
{c) None of theseld) 15 years

26 years

(SSC LDC 01-11-2015, Morning)*

105.The average age of mother andhar

six children is 12 years, whichk is-’

reduced by 5 years if the age of

mother is excluded. The age of the

mother (in yrs} is: e

T st T 6 T F ol g 2 A S

i # o F O T B S 76 w4 W

e &)W g P (e H) ¥

@ 40 b 50

© 42 [y 48

) [SSC '_LDC 06-12-2015, Morning)

106.Avq_:r§'ge age -of 6 sons of a family is

8 years, Average age of sons together

with their parents is 22 years. If the

father s older than the mother by 8
“years, the age of mother (in years) is:

" fp TRER § 6 R F siea amg s

i e Ar- o w1 g i 22 9 B

%tz fom @1 g =l F oA ® 8 = AfvE

2| T T S AW H

(a) 44 b 352

) 60 d) 68

107.3 years ago, the average age of a
family of 3 members was 17 years.
A baby having been born, the average

age of the family is the same today.
The present age of the baby is:

3o =, fFet 9fER & 5 vl S
215 17 74 31 1 forg W1 9= g3 w0 ofEn
# FEE siem g wAe W #) fig
FHHA AR FQ T

{a} 3 years

(b) 2 years

1
(cl 15 years (d) 1 vears

Wizard of Maths — Rakesh Yadav Sir

108.Average age of mother, father and
son was 42 at the time of marriage.
After one year, an infant was born
and after 6 years of marriage the
average age of family becomes 36,
Find the age of bride at the time of
marriage.
T B I, fra o g # el g
42 99 oft| TF WE A= T FA FAH g
st i % 6 AW ufER W s g
36 ad 7t w1 @ W F TR -
1 T
(a) 26 years Lb]
{c) 24 years,
109.The present aderage age of a family
of four Wembefajis 36 years. If the
present age of‘the youngest member
of the famjl¥ be 12 years, the
average age of the family at the bisth
of the youngest member was :
fort ftam % 4 W w1 i o 36 T
- %) 7R of@R # g PR W H AT 12
Ad 2, 3 wfEr # sfwa g, SR WA F
o= & TG 1 A1?
{a) 48 years (b
{c) 32 years d)

Type F

110.The average of five numbers is 7.
When three new numbers are
included, the average of the eight
numbers becomes 8.5, The average
of the three new numbers is :

tfe gemel = w7 &) wa 9 demell @
T feq T €, 313 HEAH F1 3 8.5
21w 31 T A wened F ol T w12
fa) @ b} 10.5
ic) 11 (d} 11.5

111.The average age of ¢ students and
their teacher is 16 years. The
average age of the first four students
is 19 years and that of the last five
is 10 years. The teacher’s age is
o I Fo AT F oftww g 16 79 B
Wt 4 B F i 3 19 74 T W S
=i 1 sia g 10 9 §1 ATTIE H A
L4
{a) 36 years (b}
(¢} 30 years (d)

112.The average weight of five persons
gitting in a boat is 38 kg. The aver-
age weight of the boat and the per-
sons sitting in the boat is 52 kg.
What is the weight of he boat ?
T 1 3 i s w1 slre T 3skg 1

T8 T 4TS T 32 R # oiea T 52

kg &1 1 F I T HL?

25 years
ﬁ;:l} 23 years

40 years
24 years

34 years
28 years




(a) 228 kg b)
(c) 232 kg [f:]]

122 kg
242 kg
88C TIER ] 2012

113.The average monthly expenditure of
a family is Rs. 2,200 during first
three months. Rs. 2,550 during next
four months and Rs. 3,120 during
last five months of the vears, If the
total savings during the year was Rs.
1,260, what is the average menthly
income ?

T fEr # e wieE 2 o S T T

2,200 ¥ MY W) WE # T 2,550 & iR

o o %17 3,1202) af 7 9f A T

21,260 W, 4 siid wifes 313 T w2

fa} Rs. 1,260 (b Rs. 1,280

{0 Rs. 2,805 (d) Rs. 2,850
S8CLDC 21-10-2012

114.The average of 30 numbers is 40 and
that of other 40 numbers is 30. The
average of all the number is :

30 el w1 sitm 40 391 377 40 T
1 3ma 30 31 Bt Femedt w1 oivea 3w
o

(a) 34% b 35

) 34 ) 34.5
S3CLDC 20-10-2013

115.The average of 20 numbers is 15 and
the average of first five is 12. The
average of the rest is:

20 Femei it sivaa 15 ¥t ik wem 5 Jeetr -
T 3 129, T 3 T .

w0
@ 16 b 15
) 14 @ 13
BSC TIER I 19-05-2013

116.Find the average of 1.11,
0.101, 0.001, 0.11

111, 0.01, 0.101, 0.001, 0113513‘1&”
A L2 LW

(a} 0.2664
f©) 0.1264
2013

117.0ut of 20 boys, 6 are ¢ ml m 15

cm height, 8 gre of T i m *¥0 cm and
rest of 1 m ."The average
height of all the% is :

[bi 02554 A

20 eEHl 1, g .

8 %l T 1k [Bem a0 W= wEw w
TER 1m.12cr ¢) Tt T W st
T AR

(@ 1m 12.1 cmmb)
€} 1m2l1em (d) 1 m 12 cm
88C MTS 17-03-2013

I1m 21.1 em

121.The average m

0.01,

118.The average of 11 results is 50. If

the average of the first six results is
49 and that of the last six is 52, the
sixth no. is
11 Hemsii @ 2l 50 %1 wom 6 e &
s 49 7o AW 6 dema w1 svew 52
&, 9 v Fm 2
(@) 48 b 50
{0 52 {d} 56

83C CGL TIER Il 29-09-2013

119.0ut of four numbers, the average of

the first three is 15 and that of the
last three is 16. If the last number
is 19, the first is:

4 Jremsii 0, vorw 3 Sema # ima 15 74
w3 demaAl w1 9w 168 afr whm
e 19 2, 7 waw e w10
@ 19 (b} 15
c} 16 d 18

SSC COMTAHLE (GD)22-04-2013

120.The average of nine number is 50.

The average of first five numbers is
54 and that of the last three num-
bers is 52. Then the sixth number is:

o Femsit 1 s 50 #)1 wum 5%;@:34}@

@ 35 b 32.5
© 37.5 d 36
S8C MTS 24-03-2013

124.In a pre school, the average weight

125.The ave

&

of 30 girls in a class among 50
students is 16 kg and that of the re-
maining students is 15.5 kg. What
is the average weight of all the stu-
dents in the class ?

gt fommera |, so farmiviat =t = § 30
B BT ST 9 16 kg a9 370 B W
¥R R 15.5 kg 2t T w0 o offwm R
A Fif?

15.8 kg.

W 152 kg, of

€) 1541@ %@ 15.6 kg.

, B numbers is 63, If
the average oEfirst six numbers is

60 and theylast six number is 65,
then ﬁze 6th number is

Lg% 1 sh 63 o 6 el 1

‘Bitie.60 B 7o 3w 6 Temel =1 st

&5&), 9 =3 g 7@ B

%»“*efal 57 ) 60

[} 62 @ 64

s 54 7w offim 3 Wemedt = MS?‘“‘" 126.The average monthly expenditure of

B, 9 erndEm 7 w2
&) 30 (b %4"%
e} 24 @ 44

sscmk k9-05 2013
a.?kig obtﬁmed by 22
candidates 4n an fhation are 45.
The average ké.gf the first 10 can-

_I‘\E}qﬂ'fhosrnf thw Jast
eleven & afg: 40. The
numper of marks obtained by the
cléyeny h ‘tandidate is:
ﬁ«a‘é«n‘i‘?@ﬂ 22 Tenfer w1 st as
T9m ww&maﬁaﬁwssmmﬁq 11

gl w1 siee 40 1 113 v # s

%maﬁa
(a) 45 by 0
® so0 (d} 47.5

B8SCLDC 04-11-2012

122.The mean of 20 items is 55. If two

items 45 and 30 are removed, the new
mean of the remaining items is:

20 gEa 1 sfem 552 3R 2 S 45

W 30 % T fia W, A 0 siwm s
@ 65.1 by 65.3
(©) 56.9 id 56

S8C CGL TIER ! 19-5-2013

123.The average of 50 numbers is 38. If

two numbers namely 45 and 55 are
discarded, the average of the remain-
ing numbers is:

S0 Hemai F sitwa 38 21 R T wEmen
45791 55 T Treamiem e ond, & a=h g
weEms F sivad aa 32

a family for the first four months is
Rs. 2370, for the next three months
Rs. 2490 and for the last five months
Rs. 3030. If the
family saves Rs. 5320 during the
whole years, the average monthly

income of the family during the vear is:
et ofeam 1 ol wifes =9, wm IR OR
% fow 7 2570, v d7 W @ fe
% 2490 T 3ifeN uie WE & YT 3030 §)
TR wER @ 9 | T 5320 T &, ofaw w
T o 7 slvem Wi s T S0
{8 Rs. 3000 (b Rs. 3185
{c) Rs. 3200 (d)y Rs. 3580

8S8C CGL TIER 11 21-08-2014

127.A man spends Rs. 1800 monthly on

an average for the first four months
and Rs. 2000 monthly for the next
eight months and saves Rs. 5600 a
year. His average monthly income is
T SR Siw w9 9 v 9R WE 21800
ufs wE @E w2, e a3 W
¥ 2000 W = W # wo gt wd o
T 5600 T 21 SuH! s WiGE o W
w2

fa) Rs. 2000 (B) Rs. 2200
fc) Rs. 2400 {d) Rs. 2600
88C CGL 1TER I 21-09.2014

128.The average salary of all the workers

Wizard of Maths - Rakesh Yodav Sir-—

in a workshop is Rs. 8,000. The
average salary of 7 technicians is Rs.
12,000 and the average salary of the




rest is Rs. 6,000. The total number
of workers in the workshop is:

& wriomen § sl # sim o
T 8000 &1 7 FHATEA M W e

134.8ix numbers are arranged in
decresing order. The average of the
first five numbers is 30 and the av-
erage of the last five numbers is 25.

139.The average of the marks obtained
in an examination by 8 students was
51 and by 9 other students was 68.
The average marks of all 17 students

The differences of the first and the was:
£ 12,000 31 T g FHAE Ft siwa last numbers is: g farenfefall ® of3 1 afw@ 51 % Ton 39
W*G»Og;?'*‘ﬁ*"ﬂ‘ﬁ@m'mm B¢ YT R 9 N wraferd ) ) R forefei & st a7 siem 68 & Tt el
HeA 3w o wemsd & st 30 ¥ ol offim e 3 siF 9 sl @ FHAC?
@ 20 b 21 w1 i os ¥ wam o sty gemsi @ 59 (b} 59.5
(c) 22 d 23 w1 3 Fm ? fe) 60 @ 60.5
8SCLDC 05-11-2014 {a) 5 b 20 140, The average of five numbers is 27.
129.The average of 50 numbers is 38. If If one number is excluded, the
two numbers, namely 45 and 55 are ) 25 () 30 average becomes 25. The excluded

discarded, the average of the remain-
ing numbers is

50 demst 1 ofm 3g 9t € demed
457 55 F e fRa S, @ I

{SSC LDC 15-11-2018, Morning)

135.The average of 12 numbers is 15 and
the average of the first two is 14. What
is the average of the rest?

number is :

QTEIF@TIEHTM'?% I TF HF A
fie W, aﬁﬁmﬁmilmwmﬁa

. . (a) 25 “EEm b 27
Hemsil ® s o w2 12 el 1 3iEa 158 it weeh & demei © 30 - 7 'Ed]l 35
@) 37.5 ®) 37.9 1 Sl 14 %1 e emei 1 st 0 42 141.A comipany produces an average of
ic) 36.5 dy 37.0 ) 400®ritems per month for the first 3
SSC TIER I 26-10-2014 (a) 15§ b 14 nmtenth§ How much items, it must
130.The average of six numbers is 20, '-g PI‘UCLDCE on an average per month
If one number is removed, the 1 1& over the next 9 months to average
average becomes 15. What is the ic} 11— id 15 «‘}375 items per months over the

number removed ?

6 demail w1 siham 20 %1 A% o d=w A
7 form g, 70 ovE 15 8 9w 2w

($SC LDC 15-11-20185, Exhelﬁn@

136.The average expenditure of ?‘ﬁafip;
for the first five months is 1200 #yd

E! aiw ‘whole year?

TF FT 4000 TY 7 WE F T W AR
oF T ¥ I8 T H AR 9 R 5

T HE T F for the next seven months is T130D, ferert et St e 8 @ A T 2 o
@ 5 b 35 If he saves ¥2900 in'thss year,his T = 1 shwa 4375 wEg i wE o I
© 112 i} 45 monthly average incomfyiist, (@) 4500 o) 4600
S8C TIER I 21.09.2014 wF T e W ‘ﬁﬁ‘f%@ﬁ 21200 {c) 4680 @) 4710
131.0ut of four numbers the average of sl s wma m?BOOél A% 142.The average of 9 numbers is 30. The
the first three is 16 and that of the 9% 39 94 229 Qoﬁ Yem @ A average of first 5 numbers is 25 and
last three is 15. If the Tast number Mﬂ!ﬁ?ﬁﬁ mm—,ﬁ L1 that of the last 3 numbers is 35.

is 20 then the first number is :

) v ¥ A Wl 3T # s 16
# sl sifm 4R wemell @ sim 158, 3Rk
sifem w20 €, @ Wl W T[ w0

@ 21600, ‘#f‘“{b} 21700

(€ E1440 B (d) T1500
4, ¥ [98CLDC 15112016, Evening)

What is the 6th numbers ?

o T # it 30 21 yua 5 Hemsd H
srra 25 & va sifm 3 W = o 35
2, o g I\ w0

137.’1‘]13 velde of 13 results is 70. The 30
@ 25 b} 21 avera§p of first seven is 65 and that @ 20 (b}
fcy 23 {d) 28 +pof the last seven is 75, the seventh fch 40 {di 50

{88C CGL (09-08-20185, Evenin

132.The average of 7,11,15,x,14,21/2
is 15, then the value of x is:

- A%, tesult is:

%ﬁmﬁmﬁmmtwmmeﬁm

65 % ol offm = ®1 s 75 3 WA

7,11, 18, x, 14, 21, 25 %1 dem 158, % Rom FE?
A x T TE TR FI -~y @ 70 b} 67
fa) 3 b} See f:?_} [} 70.5 (d) 68

0 12

@ 13% %y
(88C CGL 1
133.The average ofsix F%n js is 3.95.

% twq ofgfhem is 3.4,
he other two
afye of the remaiming

. soshiTHAA T

{88C LDC 06-12-20153, Evening)

138.The average income of 40 persons
is Rs. 4200 and that of another 35
persons is Rs. 4000, The average
income of the whole group is :

40 =fFE # A o™ Rs.4200 3 A
o 35 =fsd # sl 9™ Rs. 4000 2,

143.1f the average marks of three batches
of 55, 60 and 45 students respec-
tively is S0, 55 and 60, then the
average marks of all the students is:
i gge frd 55,60 W 45 1 el Sufew
¥, =1 e 50,55 T 60 &1 @ widi fergfetar
1 s T FL:
{a) 54.68 {b} 53.33
) S5 (d)

144.The average of 30 results is 20 and
the avergge of other 20 results is
30. What is the average of all the
results?

None of these

T HEma! F X
Hram 3.4 4 wals o= 2 wEme = sl o T e o i =2 30 Tfowal w1 sdad 20 & oW SF 20
3.4 %1 719 2 dEmat w5 siea T 22 1 wftomsl o1 sfvm 30 1 |l SR = s
’ ’ (a) 4100 (b) 41067 T
(@) 4.6 ) 4.8 :
{c) 4.5 d 4.7 s 1 (a) 24 (b) 48
(CGL Mains 12-04-2015) {c) 41063 (d} 41083 {©) 25 () 50

=1

Wizard of Maths - Rakesh Yadav Sir

=3



145.The average of 15 numbes is 7. If
the average of the first 8 numbers be
6.5 and the average of last 8
numbers be 9.5, then the middle
number is:

15 wemsil 1 Sirga 7 21 3fk yum 8 Tewas
= WA 6.5 0d sifm 8 dens = simm
9.5 2, i ae gEn T w:
@ 20 h 21
) 23 d 18

146.The average age of 15 students of a
class is 15 years. Out of these the
average age of 5 students is 14 years
and that of the other 9 students is
16 years. The age of the 15th
student is:
st wan § 15 frenfelt =1 omg = s
1574 21 fored 5 fanftfl =1 i 14 =
F o1 o farenfelel o1 odtwd 16w &1 15

foreneff %t a1 7@ FE:

{a) 1 years ib) 15 years

{c) 15% years (d) 14 years
Year : 2004

147.The average of 8 numbers is 20. The

1
average of first two numbers is 155

1
and that of the next three is 21 3-

If the sixth number be less than the
seventh and eighth numbers by 4
and 7 respectively, then the eight
number is :

8 gema T st 20 2 f yun I demsit

aﬂaﬂmls— T I R v W e

ISR

21~ 21 oft gh e, 7o e g HEN A

m?ms‘l.a‘lsmmmﬁ: "
(a) 18 (b) 22; .. F
() 25 (d) 27,

148.The average of 20 nu be';s is 12,
The average of the »ﬁ%t‘l@ numbers
is 11 and tﬁsat a,of he next 7
numbers is 10.: ~‘@"hé‘lhst number is:

20 Tl Mﬁ%’?%l ot wem 12
Hemal 1 Sy 11 9 o 7 HEst W
ﬁmloﬂ,?ﬁ%mmaﬁ.

(@) 40 b 38

(¢} 48 @ 50

149 The average age of 5 boys is 12 vears.
The average age of 3 others is 16

years, The average age of all the 8
boys is:

s TEH B AY 7 oA 1299 ¥ o 3
wEH B g T Iwa 167 & Wt g

AIH B g F T 7@ w)
1

{a) 135 years (b 14 years
1

{c) 125 years (d) 13 years

150.The average age of 40 students of a
class is 15 years. When 10 new
students are admitted, the average
is increased by 0.2 years. The
avearage age of the new students is:

et e | 40 faenfefai =1 sima 1599 &)
v 10 T4 famdt wfaa 99 €, shomo.cad
72 I 21 Frenfe @ o o I w12
(a) (b}
(c} {d

15.2 years 16 years

16.2 years 16.4 years

151
The average of these 100 number&;_
and 4 others new numbers is 59. ‘*'s;
The average of the four- @eﬁw
numbers will be :

100 FEm = aﬁm%jl afk 3 100
HensT am 3|=q4maq‘la=t3ﬁw503’l @

qﬁ4mﬁmﬁmaﬂ*ﬁ9
fa) 800 ) 200
(©) 176 - - W) 24

152, The average ef‘SO numbers is 15.
The averagesol ‘the first 18 numbers
ise 1& a%j that of the next 11
numbhxrgs 720. The last number is ;
SOHWEFI sihaa 15 %1 e 18 Wems
msﬂumo T SRR 11 wEma = it
“209, A i Hen | w1

@ 56 by 52
(¢} 60 @ 50

153.The average of 6 observations is 45.5.

If one new observation is added to
the previous observations, then the
new average becomes 47. The new
observation is

6 Femst W sied 45,5 ¥ AR ©F dEn
ik i 1 o, T sl 47 7w
it g 3| w7
@ 58 by 56
) 50 &) 46

154.The present average age of a family
of four members is 36 years. If the
present age of the youngest member

of the family be 12 years, the
average age of the family at the birth

Wizard of Maths — Rakesh Yadav Sir

.The average of 100 numbers is 44. ¢
. «rﬁg

e

of the youngest member was :
et ofear % 4 weEi #1 AiEa o 36 ad
21 afz vfEr & Wl 92 W w g 12
74 2, A TRER %1 ofvem umg, SR WA B
W % TG 0 47
(@ (b
() ()
155.The average age of group of 20 girls
is 15 years and that of ancther group
of 25 boys it is 24 years. The average
age of the two groups mixed
together is:

48 years 40 years

32 years 24 years

20marﬁaﬁaim 15 74 & qon 25 3ol
B T Fs

{a) {t) 20 years

(c) . (d} 21.5 years

i wy TypeG

%564& eﬂckct batsman had a certain av-

i

age of runs for his 11 innings. In
i the 12th innings, he made a score
f 90 runs and thereby his average
of runs was decreased by 5. His av-
erage of runs after 12th innings :

UF Tear B 11 WiE w5 ol #12
& wht o, 7w 90 @ T ¥ fawd TR0
IgH AvasFH A w12 A wh F A
T sffm a w2
@ 155 () 150
(¢} 145 (d} 140
137.The batting average for 40 innings
of a cricket player is 50 runs. His
highest score exceeds his lowest
score by 172 runs. I these two in-
nings are excluded, the average of the
remaining 38 innings is 48 runs. The
 highest score of the players of
foralt weara 1 40 i w1 alwa 50 #
qeohars ST TR, TRE SR @
172 T afas 31 3R F Q wiE = frewe
T <, 4t A=t 38 ol w1 shmaas T a
A &) Ao it AT TR T1 HE7
{fa) 165 runs {b) 170 runs
fc) 172 runs {d) 174 runs
158.The batting average of a cricket
player for 64 innings is 62 runs. His
highest  score exceeds  his
lowest score by 180 runs. Excluding
these two innings, the average of re-
maining innings becomes 60 runs,
His highest score was ;

it aveT T 64 WRET #1 sitwd 62
31 w1 S @R, =[N R R 180
T afvE # Ak w2 wiel w5
WA, o weit gg miE w0 e 60 7 i )

Fooars W1 AR TR T F=?
{a) 180 runs (b} 209 runs
{c) 212 runs {d) 214 runs




159.A cricketer has a mean score of 60
runs in 10 innings. Find out how
many runs are to be scored in the
eleventh innings to raise the mean
score to 627

uF e w10 widl # s 60 T R
113 it o =afw @t fFat W 9 =@,
s 3o fwa 62 7t w2
(a) 83 b 82
(c) 80 d 81

88C TIER 11 16-05-2012

160.A batsman in his 12th inning makes
a score of 63 runs and there by in-
creases his average score by 2. What
is his average after the 12th innings ?

w TeeEE 1241 T § 63 @ @ €,
fyws wm 39F a2 @ 98 S 2

129 9 % w7 oo T w2
@ 13 by 39
b 41 @ 87
B8C TIER I 2012

161.A cricket player after playing 10 tests
scored 100 runs in the 11th test.
As a result, the average of his runs
is increased by 3. The present av-
erage of runs is:

o frae faardt 119 ¥9 4 100 ™ & @
3 Fawa wro I9E @ 57 W@ ¥ o

F1 TdaA e TR W7
@ 45 by 40
{c) 50 () 55

S8C CONST. {GD) 24-03-2013

162.The batting average for 30 innings
of a cricket player is 40 runs. His
highest score exceeds his lowest
score by 100 runs. If these two
innings are not included, the average
of the remaining 28 innings is 38
runs. The lowest score of the players is:

o fege faard @ 30 wivdl =1 ¥ft|a 40

T 31 v sfusay @, mwﬁﬁ'
¥ 100 W sfus ¥ afk T % WG 3 fa
fean s, a’raa’rg%zsqﬁmaﬂmasw

%) AW TR T w7
(@) 15 b 18 e
(c) 20 ) 1h M

§8C CGL m M2013

163.5achin Tendulkar ha.s cettain av-

erage for 11 m s the 12th
innings he % IQO runs and
thereby 1ncreak hi# average by 5
runs. Lavgrage is:

Wﬁgﬂﬂﬂ&l el w1 75 e ¥
12 9@t & dw 120 @ wT@ #, e
T AtEd 5T 98 A &) 39 T e

A HE?
(a) B0 by 62
{c) 65 d) 66

88C CGL TIER I 19-8-2013

=

164.The average age of a cricket team of

11 players is the same as it was 3
years back beacuse 3 of the players
whose cuurent average age of 33 years
are replaced by 3 youngsters. The av-
erage age of the new comers is:

11 frsie faenfeal wmeht frge 9@ #i siwa
g, 35t e o & wum & fornd 3o
veet 3 Faerd foet FEOm siga o 33 =
o, ® 3T fiawral gr Sheenfa fF |
faantedl = shea oy 7@ w1
fa) 23 vears (b 21 years
ic) 22 years (d) 20 vears

S$8C CGL TIER I1{2013) 20-07-2014

165.A cricketer whose bowling average

is 12.4 runs per wicket, takes
5 wickets for 26 runs and thereby
improves his average by 0.4. The
number of wickets taken by him till
the last match was

& Tz faenst fags fizawt sivma 12.4
@ i fadz ¥, 5 fawe W 26 W 94 2,
o0 FHU I AT 0.4 T IR 5 T

der 7h w7 .

@) 64 by 72 s

ldl 85 ?’

éﬁuaou
166.The average run of a is 32

{c) 90

out of 10 innings. How Many runs
must he made in.the n&t inning so
as to 1ncre£se h1§ aveltige by 67

w faast ﬁ)m‘H‘{maﬁmt—lsﬁ
F el aHEH TH T FOT A
wﬁ%ﬂ'&ﬁaﬁq@ﬁm}

@k 98 ) 6

(e} »{ﬁ?% d 38

o {CPO 21-06-2015, Evening)

16% cricketer whose bowling average
& fs 24 .85 runs per wicket, takes 5
sﬁm:kets for 52 runs in next inning

d thereby decreases his average
vy 0.85. The number of wickets
taken by him till the last match was:

w fEP foawan el oimg 24.85 @
ot fade 21 3R IR § 7T T 52 T W
s fade s #) fows Frn 3o oiwa 0.85
FR 7 o & 3Ee g o i uE R E

s =t dem 9+
fa) 75 by 85
fc) 80 (d 96

168.The average age of 11 players of a

cricket team decreases by 2 months
when two new players are included
in the team replacing two players of
age 17 years and 20 years. The
average age of new players is :

11 faenfeal # sima 1] 2 W 9 0 I
#, 5w 2 T faenst du § Suftera 2 faenfe

-Wizard of Maths — Rakesh Yadav Sir

fomat e 17 o€ 7 20 94 i Tfwarfia
F %) 3 T faented A1 sima oy WA
fa) 17 years 1 month

() 17 years 7 months

jc) 17 years 11 months

{d) 18 vears 3 months

169.The average of runs of a cricket
player of 10 innings was 32. How
many runs must he make in his next
inning so as to increase his average
of runs by 4 ?

wF fFse faemdt &1 10 Wil =1 o 32
§|mmﬁ3ﬂwﬁnwﬁﬁﬁ o

SHHI 3’““3 3 F'-‘ET‘W
@ 72
{c) _ 2
170.The uyerag;'g of runs scored by a
pl 'in 10 innings is 50. How
- mtany tuns should be score in the
% “11#h_innings so that his average is

,vag%% ihcreased by 2 runs ?

‘§|aﬁqﬁaﬁmmﬁﬁﬁﬁ§z‘fﬂa@r% e Faeel w1 10 WK = i 50 #

1141 writ § =4 fa&a @ =9 i, e
IS A 2 T T8 T

by 72 runs
{¢} 60 runs {d) 54 runs

171.A cricketer had a certain average of
runs for his 64 innings. In his 65th
innings, he is bowled out for no
score on his part. This brings down
his average by 2 runs. His new av-
erage of runs is:

o fiaeE) i 64 T # E5B sia 2165
S aft § 7w wm @ @ T o 2
HHW S Sia 2 T AR S 2 S6a
v TR F?
fa) 130 b 128
(c) 70 {d o8

172.The bowling average of cricketer was
12.4. He improves his bowling av-
erage by 0.2 points when he takes 5
wickets for 26 runs in his last

match. The number of wickets taken
by him before the last match was :

T ieae 71 3o 12.4 8 3w 30 diganst
1 ofa 0.2 Fg 8, W W R A9 A
ol 26 W W 5 Tage o % ofaw #= 9

{a) 80 runs

7 fod T fasel it WEm T| w12
@ 125 b} 150
{c) 175 id) 200

173.A cricketer has a certain average of
vuns for his 8 innings. In the ninth
innings, he scores 100 runs, thereby
incrases his average by 9 runs. His
new average age of runs is:

T T F18 T T %5 drm tp A ud
H 98100 7 =R F@ &) 90 FRo 36
S o @ a8 S 1 W T ed 7@ w2




@ 20 b 24
) 28 d 32
Type H

174.0ut of nine persons, 8 persons spent
Rs. 30 each for their meals. The
ninth one spent Rs. 20 more than
the average expenditure of all the
nine. The total money spent by all
of them was:

o =fEE A ® 8 =afe voF @ W 30
w0 21 s =i afrea ¥ adan £ 20
s @ wwa &1 it el g ' 5w\

o I w7
(a) Rs. 260 (Y Rs, 290
() Rs. 292.50 (d) Rs. 400.50

ESC TIER II 16-09-2012

175.The mean high temperature of the

first four days of a week is 25° ¢

whereas the mean of the last four

days is 25.5° ¢. If the mean of the

whole week is 25.2°c then the
temperature of the 4% day is:

TF WER F A =96 R w1 odee ==
WOEH 25° ¢ ¥ wafR offm wR R W
i 25.5% 1 3% R a8 i e a9ue

25.2° ¢ & o < A =1 Ao &
(ay 25°% by 25.2° ¢
(€} 25.6°c (d) 28.5%

(88C LDC 01-11-2015, Evening)

176.There were 35 students in a hostel.
If the number of students is
increased by 7 the expenditure on
food increases by s, 42 per day
while the average expenditure of
students is reduced by Rs. 1. What
was the initial expenditure on food
per day ?

foeit v W 25 faendt o afg faenfdg) =
T 7 9% S &, A dem W wfafe el

178.The average temperature of the first
4 days of a week was 37'C and that
of the last 4 days of the week was
41°C. If the average temperature of
the whole week was 39°C, the
temperature of the fourth day was

Hon AR & = otwa AT a7oc T s
T A w olm W 41%c 31 AR

wdE &1 HhEa aeEE 390 B A I T wm
AT T L2

{a) 38°C {b) 38.5°C

e} 39°C {d} 40°C

179.The average of eight successive num-
bers is 6.5. The average of the small-
est and the greatest numbers among
them will be:

S FAE e w1 s 6.5 & TR

B AN A Y HE T A T B
@) 4 b 6.5
ic) 7.5 (dp 9

180.The average of the first 100 positive
integers is

mmowmﬁmaﬂmmﬁ?
@ 100 b 51 :
{c) 50.5 (d) 49.5° m* ";

181.The average of odd numbers upto ‘QO
is

100 7 1 Wl forew wEro !
{a) 50.5 b) 50%
(c) 49.5 (g) )

182.The average of theé squares of first
ten naturahmim T is

wam 10 gt F R TR w7
@ 355 % % M 36
(@ 37.5% :* (d) 38.5
183.The arithmetic mean (average] of the
first»10 whole number is
e 10 I FEmst # sftea ma #¥2

242 9% T ¥, SAElE S v e, £ e @) 5 4
TH T BN € T & IEEE AR *}4{::1 5.5 r d 4.5 '
S Y S .The average of seven consecutive
& o ) -~ positive integers is 26. The smallest
(a} Rs. 400 (b} Rs. 432 % of these integers is:
) Rs. 442 (d) R\ﬁ?%‘; WA AR SEe w1 3ied 26 # wEd B
L9y e T wX?
Typel Y o
% (a) 21 M 23
177.Total weeklymtﬂ% s of the fc} 25 (d} 26
workers of a ¥g Rs. 1534. 185.30 pens and 75 pencils altogether

lument of a
& The number of

Average weekl
worker 5N
workers in

Wmﬁmmmﬁﬂﬂm
21534 %) UF UL 1 WEEF g9 o
2118 #1 B H T Aol 1 W T w2
{a} 16 b) 14
() 13 () 12

|

were purchased for Rs. 510, If the
average price of a pencil was Rs. 2,
what was the average price of a pen?

2 510¥ 30 1 & 75 e wiR ™ ot
% e 7 ofem g 2, A W w o
Hed 7 7
fa) Rs. 9
{¢) Rs. 11

() Rs. 10
(@ Rs. 12
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Year: 2011

186.1f average of 20 observations x,, x,,
‘‘‘‘‘‘ X, is v, then the average of x, -

101, x, - 101, x, - 101,..... x,, — 101
is
20 A Xps Xgs Xgpoornnenss Ko T shwa ¥
21 ®9, (x, - 101}, (x, - 101),
(2, = 101).cereerenene. (i, - 101) F% A
A HL?
fa) y-20 B y- 101
fc) 20y d) 101y

187.The average of xgnumber is y and
average of y# is x. Then the
average %&Z‘nbeﬁ taken to-
gether il
x Fema @ y U y Gt # i
x%tlﬁ i 1 sfigg 9@ F?

ey 2xy

o (o 2 ® oy

A Q"Q

%, Mo o~ @ g

9:%88 The average of x numbers is y* and

the average of y numbers is x®. So
the average of all the numbers taken
together is :

x St = i y2am y densd w s
* %1 a welt Hensl o shem wm w2

xi

@ iy b xy
x4yt

[ d xy® + yat

189.The average of n numbers x, x,.....x

is x. Then the value of E (x. x)

i=1

is equal to

3w g(x; - ;) B WA A HL?

@ n

) o

©) nx d x

190.The average of three numbers is 135.
The largest number is 195 and the
difference between the other two is
20.Thesmallest number is:

o Fema @ oitua 135 21 T T den
195 T 37 5t YEsti 1 3R 20 & T
o W 7 w1
fa) 65

© 105

(b} 95
(@ 115




191.The average of three consecutive odd
numbers is 12 more than one third

of the first of these numbers. What
is the last of the three
numbers ?

7 wure faen dema = siea sam de
® TH-fE 4 12 sfuw &) A demed o
T8 wfm geT ah w10

{a} 15 by 17

€ 19

(d) Data inadequate

192.a, b, ¢, d, e, f, g are consecutive even
numbers. j, k, I, m, n are consecu-
tive odd numbers. The average of
all the numbers is :
a, b, e d e f, g FFE T doN ¥
i kL, m, n, FW fGR dew #owd
e w1 3 T w12

a+n T+d
@ 52 e (5

a+b+m-n Jre+n+g
@ —— @

193.The average of three numbers is 40.
The first number is twice the
second and the second one is thrice
the third number. The difference
between the largest and the smallest
numbers is

A demeil w1 siraa 40 %1 v de, A
Fom = T A 3t Je, A9l dom H
9 T 31w 7€) v T S Wen @

R T 2
fa) 30 ) 36
{c) 46 d) 60

194.Among three numbers, the first is
twice the second and thrice the
third. If the average of the three
numbers is 49.5, then the differen

196.0f the three numbers, the first num-

ber is twice of the second and the
second is thrice of the third num-
ber. If the average of these 3
numbers is 20, then the sum of the
largest and smallest number is :

9 demeti ¥, vom dem, i dE | 9
T 7o i den, @ dem A g
afz 41 demeti #1 sfwa 20 7, 9 w90 =

= g oid dem = Im I m =
&) 24 by 42
{c) 54 {d) 60

197.The average of six numbers is 32. If
each of first three munbers is increased
by 2 and each of the
remaining three numbers is
decreased by 4, then the new average is:

o: demsl w1 afwm a2 ¥ Ak vem 3 Femsl

F 291 fam 91 offt T=h € 3 demart

Wi 4 =1 o 9 & T s e w7
@) 35 (b 34
ic} 31 d 30

198.The average of the three numbers x,
y and z is 45. x is greater thay t
average of y and = by 9. The ,av&rag
of y and z is greater than y
the difference of x and z is:

= demst x, y am 271 sl 4521 M
Ty ANz ﬁmﬂgmy‘mzrﬂ
e y 9 2 w1 470G P HR F@

02 e, ®
@ 3 M 5
ey 7 & 4‘ W,

%
199.1f the aves I{ x and —(I = 0) js

Fa &} E iy
3 o fi L"

average of »* and =

4
M:"ﬂﬁxm —(x=-= 0) # A M2, T £

between the first and the third n - fen, ’%"4 1

ber is: %, k3 — 1 3iE 7@ w2

d demoll #, wm dem, G d@ A AT e o 1 ou
Tﬁmﬂ?ﬁqﬁmaﬂmﬂ%lmﬁ {0 2M?-1 d) 2M? +1
demsl # 3iwd 49. 5'& ?&Emm ﬁ'q 200.A library has an average number of
dEm T 9 T =Y L "1‘;; 510 visitors on Sunday and 240 on
@) 54 other days. The average number of

%

wse average is
ne-fourth of the

e. The first num-

{¢} 39.5
195.0ut of 4 num

60, the firgh onk
sum of the
ber is: E .

.
- demd, faa swe 60 %0 v ge,

i s & 4 w1 uH-<HaE ¥ yem

T 7| 7
@ 15 by 45
c) 48 d) 60

=]

visitors per day in a month of 30 day
beginning with Sunday is :
wF e H o g dent 9 s
T Tar | 510 7 51 &l § 240 ¥
30 &l & W W < faEm & wow g
wfafen sl denfrdl 2% Hoan 3 w0
{a) 285 {b) 295
(c) 300 {d) 290

8S8CLDC 21-10-2012

201.0ut of four numbers, the average of
the first three is 18 and that of the

Wizard of Maths — Rakesh Yadayv Sir

b"'@,’; B

last three is 16. If the last number
is 19, the first is:

R demaAl |, wan 3 densd = sieE 18

391 R 3 Femel = ohwd 16 ) 3 fm

der 197, & wun e 9 w7

@ 19 b) 18

(¢} 20 @ 25
88C GD 2102

202.The mean of 11 numbers is 35. If
the mean of first 6 numbers is 32
and that of the last 6numbers is 37,
find the sixth number.

11 Hemsit 7 3iwm 35 41 3f% ww 6 demsi
#1 ol 32 9@ & demat = ofwm
37 ¥ 53 ?
@ 28 é@*\,&‘} ) 29
) 30 7o 27
w ¥ SSCLDC21-10-2012
203.Theu; v:é.rage of 5 coensective integers
stortifif with m’ is n. What is the
é‘a age of 6 consective integers
ng with (m + 2)?
m Yenstl 1 ofed S m ¥ Io Bl
¥ 2, n ¥ 6 FuT Femusl w1 sitwa I R,
. W (m+2) | AR TR B

2n+5

@ 5 {b} (n+2)
© (3 @ =
SSC TIER I 2012

204.Eight consective numbers are given.
If the average of the two numbers
that appear in the middle is 6, then the
sum of the eight given numbers is:
13 worA demmt @ T ¥ ok 9 ¥ 2ufen
Tl st w1 sl e #, A el e =
S5 I F=HK?
@ 54 (b) 64
fc) 36 (d 48

88C LDC 21-10-2012

205.The average of four consective even
numbers is 15. The 2nd highest

number is:

IR FR 9 demedl w1 o 15 ¥ 7E

R 72 Fen 7@ =

{a} 12 b 18

fc} 14 dy 16

88C GD 2012

206.Average of first five odd multiples of

3 is

3% yuH e e o, # oftea e w2

@ 12 b 16

(c) 15 d 21

88C DED 21-10-2012

207.The average of four consecutive even
numbers is 9. Find the largest num-
ber.




I FOME 99 HEmE w1 Ahd 9 1 uEn
aE FE T B2

(@ 12 b} 6
€} 8 i 10
SSCTIERI 2012

208.In a 20 over match, the required run

rate to win is 7.2. If the run rate is 6
at the end of the 15th over, the re-
quired run rate to win the match is:

20 3 % i A, sfa & foe 7.2 @ =1 9
A ofrea ofed o 159 S W g A
T ' 67, 1 S 3 ol s |
2 TR B2
@ 1.2 (b} 13.2
(c) 10.8 d 12

SSCDEO 04-11-2012

209.If the mean of 4 observations is 20,

when a constant ‘C’' is added to each
observation, the mean becomes 22.
The value of C is :

4 WA 1 afrea 20 1 S| YCT W T
Fem ¥ g fion w1 Al oftma 22 @ W
“C" HIUA T F?
fa) 6 by -2
fc) 2 d 4

BSC LDC 21-10-2012

210.The average weight of 40 children

of a class is 36.2 kg. When three
more children with weight 42.3 kg,
39.7 kg and 39.5 kg join the class,
the average weight of the 43 children
in the class is:

40 fmnferat %t @an w7 ey R 36.2 kg
#1 =fe w7 frened fome #9901 42.3 kg,
39.7 kg 3 39.5 kg ¥, e ¥ wwfem w4
¥ wan o 3ufterd 43 femnffal @ sl ww
ECk e

@ 392kg )
{c) 3835 kg {d)

36.5 kg
37.3 kg

SSCLDC 21-10-201% '

211.The average pocket money of 3
80 in a -

friends A, B, C is Rs.
particular month. If B spends dbuble
and C spends triple of what A §pénds
during that month and if the: a\!erage of
their unspent pocket money is Rs. 60,
then A spends (in Rs]

#A fiml A, B, C3#t -ﬁé@ﬁisoﬁ‘l
afz A FI aﬁan B’%mﬁﬂfcﬁﬂww

w ¢ v ww beeomd w T afn W
#ea T 60 &, a’ll‘%hﬁrmﬁaﬁaﬁ?
@ Rs. 10 + (b Rs. 20
{c) Rs. 30 id} Rs. 40

S8C TIER II 16-09-2012

212.5 members of a team are weighed

consecutively and their average
weight caleulated after each member

is weighed. If the average weight
increases by one kg each time, how
much heavier is the last player than
the first one ?

et 3 & 5 TN T FEOR AR A T
T T §RE § IR-H19 F 9% A 9
T T TR Y G A 9N 1 kg TEW
®, @t kW ==, wam W ¥ qEn o
feper wfirer Wi &2
a) 4 kg ib) 20 kg
c) 8 ke {d} 5 kg

SSC TIER IT 16-09-2012

213.In the afternoon, a student tread 100

pages at the rate of 60 pages per hour.
In the evening, when she was tired,
she read 100 more pages at the rate
of 40 pages per hour. What was her
average rate of reading in pages per
hour ?

ZEt F A, O famneff 60 9% wfq wa #i
TWH 100 T TS ¥ M F THA, W@ T¥
U S E, 40 ¥ 9fF g #1229 100 99

i vgar 21 391 T W e F s

ECEY
@} 60 (b} 70
{c} 48 id) S0

SSCLDC 21-10-2012

214 . While purchasing one '-i_tgin costing

Rs. 400, one has to pay-sales tax at
7% and on ancther costing Rs.
6400, the sales tax was 9%. The per
cent of sales tax one has to pay, tak-
ing these items together on an aver-
age is : B

fadl T 40077 Tﬂﬁ = i 9 T
T 7% TR 9N T 1% 7] Forw Fia
7 6400 ¥, 9% ¥R UEA FTa & IA
T H Ty wiEs 9, = fm

kot ey
13 15
@ 87 b 817
1
ic} 82 d) 8

SSCLDC 21-10-2012

215.A man purchases milk for three con-

secutive years.In the first year, he
purchases milk at the rate of Rs. 7.50
per litre, in the second year, at the
rate of Rs. 8.00 per litre and in the
third year, at Rs. 8.50 per litre. If
he purchases milk worth Rs. 4080
each year, the average price of milk
per litre for the three year is :

uF =i A | ware o % o gy =i
o T4 H, 3 € 7.50 9 WX & 9@ 9
foftar =nf 2 8.00 ¥t 2=x & w9, 7o T
T4 7 8.50 7fa Fiet % WA | 3y = Ak
T UAF G4 T 4,080 F1 8 SR, 91 st

1 7 %1 3iEa T 9 o 9w
(@) Rs. 7.68 (b) Rs. 7.98
©) Rs. 7.54  (d} Rs. 7.83
$SC DELHI POLICE (S-1j19-08-2012

216.8ix tables and twelve chairs were

bought for Rs. 7,800. If the average
price of a table is Rs. 750, then the
average price of a chair would be :

6 W9 71 12 Hdar ¢ 7,800 ¥ wd W
afz 1 W § sied R T 750 7, @1
1 SlOd eq TH B2

ja)l Rs. 250 (b Rs. 275

() Rs. 150 :{'&] Rs. 175

’ %SCMTSI?-OS-QOIS

217.The ave;agﬁﬁnf & numbers is 27. If

each of the nnmbers is multiplied
by 8, find theé average of new set of
numbers.

& Sems F1 e 27 #1 7R W@F den H
8 97N = o =, & 7 siwa v w2
@ 1128 b) 938
(€) 316 ) 216

SSCDEO 04.-11-2015

218.The average of the first nine integral

muitiples of 3 is

3% T A TR 1 ofoa 7R w2
() 21 b 12
(e) 15 @ 18

88C DEI 04-11-2013

219.1f the average of 6 consecutive even

number is 25, the difference
between the largest and the smallest
number is :

& FHTE 99 el W o 25w, 1 9

Y o0 TEH B YN F S TG HLL
fa) 8 (b} 10
) 12 @ 14

S8C GD 22-04-2013

220.The average of nine consecutive

221
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numbers is n. If the next two
numbers are also included the new
average will

o HAA Heme 1 aEA n &) Aty e 2
gEmst ® off TR TR wE, @ T s
i F¥?
{a) increase by 2
{b) remain the same
{r) increase by 1.5
{d} increase by 1
85CLDC 04-11-2013

JAverage of first five prime numbers is:

e 5 99T S w1 Am e ?
fa) 5.3 (b) 5.6
ic) 5 @ 3.6

SSCDEO 04-11-2015

612



296.Find the average of cubes of first 455% e%z,,

227.The arithmetic mean é{tﬂe fo"llw1ng

295 What is the average of the first six 228.The average of all the numbers

{positive) odd number each of which between 6 and 50 which are divisible

is divisible by 7? by 5 is
vorm 6 foom el e FAH, B 63 50 el Femal T b WA R,
e e 7 9 faafea =2 31 59 faarfea Bt 2
(@) 42 (b} 43 @ 27.5 (b 30
() 47 (dp 49 (© 28.5 @ 22
SSC TIER I 19-05-2013
223.The average of first ten prime num- 88C CAPF-5122:06-2014
bers is 200.If a, b, ¢, d, e are five consecutive
Hoy 10 A Feme = s T T odd numbers, their average is :
@ 10.1 10 a b, ¢, d, e wurm fowm dem ¥,
() 12.9 d) 13 T S T A
SSC |GD) 258 22-04-2013 abede
224.The average of first three numbers {a} Sia + 4) (b 5

is double of the fourth number. If the
average of all the four numbers is f¢) Slatbrerdre)ld} a+ 4

12. Find the 4th number. 68C COL 1(2013) 27-04-2014
wom 3 Feistt = i, Sl den w5
'q'\‘ﬂﬁl 230.The average monthly income of P and

71 = demst s 12 71 <heft Fen Q is Rs. 5,050. The average monthly

a2 income of Q and R is Rs. 6,250 and
the average monthly
48 income of P and R is Rs. 5200. , The}, “
(a} 16 b 7 monthiy income of P is: ’é

PEE @ siwE wies m?sml

© 20 @ % e R # ofma WIS A T 6,250
td P H AlEA 5 WUEE A1

SSC TIER I 19-05-2013 25,200 1 P4 AfEw 311% ﬁa

2L

225 The average age of four boys A, B, C

and D is 5 years and the average age (a) Rs. 3,500 (b % 4 000
of A, B, D, E is 6 years, Cis 5 years () Rs. 4 50 % Ké. 5,000
old. The age of E is {in years) Q

LDCOZ 11-2014
AR AFEH A, B, C 31 DHY offwd 39 s 5
2 2% s s 6w B C 231.What is thg aﬁﬁae’ac mean of first
|AB.D® E 20 odd rtatfk;af*‘numbers

! g s d &1 EH 7Y 7AW FO %ﬁggﬁmgqmmﬁmwmm
@ 12 b 13 N

@ [i]scius'rsm-o B 1& by 22
3 (c] 20 () 17

|SSC CGL 16-8-2015, Moming)

positive integers.

2. As}erage weight of 3 men A, B, Cis

qﬁ49maﬁ$qﬁaﬂaﬂmaﬁaﬂl %';' &4 kg. Another man D joins the

(a) 30625 by 1225 group and the average now becomes

(Cl 30125 [dl 6235 % 80 kg If another man E whose

Al g, weight is 3 kg more than that of D

les replaces A then the average weight

of B, C,D and E becomes 79 kg. The
numbers : weight of A in kg is:

1,22 3, 3 % @%,5, 5,5, 5, 15 =ifem A, B C 1 eim o 84 5.
g$663~6 6‘;‘%,5@7,7, 7.7, 7, m. #) ©F AR =fE D @ o WM ¥ 3w
is iy T 80 fEM. B WA 1 A W S E

:

1,22 3, 3 ’:@;—4:4’ 4.4,5,5 5 5 e =9 DR 3 fEm ot &, AF W
5,6,6,6,6 66,™ 777777, a1 &, 40 B, C, DN EF iR &9 79
7 1 SR A T R o, & W # & A a5 T H

@ 4 M} S5 (a) 80 {b) 72

(e} 14 ) 20 (c) 75 (dy 70

$8C CGL TIER 11 21.09-2014 (S8C CGL 16-8-2015, Evening)

234.The aver:
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233.A librarian purchased 50 story-books

for his library. But he saw that he
could get 14 books more by spend-
ing ¥ 76 more but per book average
becomes ¥1 less. The average price
{in T} of each book he bought, was;

F AnafEs ol A & ol wRr ]
50 fFd @i # AfeT o T 6 A
76 3t @ =@ % 14 frad st @l
FE@ # s ufq feam sioE ©T 1T R
S %, 9 5 R WA T v faae
iR T

{a) 15 @) 25

(c) 20 s ﬁegjilo
1880 861 %6-8-2015, Evening)

e natural numbers
is 15. If 30 is hdded to first number
and 5,js subtFacted from the last num-
ber, tha average becomes 17.5 then
the ber of natural number is?

wemai w1 afea 153 A oW
H 30 SiEr = Ju ftm Hew H 5

‘Wma’taﬁmwsz&m% 3 v

w’ wemsl 1 wEn W Hil
(a) 20 {b) 30
) 15 (d) 10
(CPO 21.06-2015, Morning)

235 Average of n numbers is a. The first

number is increased by 2, second
one is increased by 4, the third one
is increased by 8 and so on. The
average of the new numbers is

n Hearh w1 A a &1 we gem 2 WE
feem Wi %, T W 3 4 i fon w2
i drctt e o 8 Wiy fra e # i e
Y ST @ wEm w i wgE  # T
wemali F haa 0 82

() a+ (b) a+

2(2"-1) o+l
n

n+l n-1
() a+2

(c} a+

(CGL Mains 28-10-2015}

236.The average of five consective posi-

tive integers is n. If the next two
integers are also included, the
average of all these integers will

wta T YR i o aiea o §1aw
s B ks i wfee % fRe o |,
Tt it o sirea = Em?

{a) increase by 1.5/1.5 g =il
(b) remains the same/ 371 & @M

{c) increase by 1/1 W% WM
{d) increase by 2/2 9@ =W
(CGL Mains 25-10-2015}

[l




237.There is a number consisting of two

digits, the digit in the units’ place
is twice than in the tens' place and
if 2 subtracted from the sum of the
digits, the difference is equal to

243.The average of 8 numbers is 21. If

each of the numbers is multiplied
by 8, the average of the new set of
numbers is:

8 Heaw = i 21 &1 IR v vEn

Year : 2001

249.0f the three numbers, the first is

twice the second and the second is
thrice the third. If the average of
the three numbers is 10, the largest

1/6% of the number. The number is sﬂwmm?ﬁ dest § T T w number is :

R B B TF e A T B =W s T Em d Wema | vem wew, fida dem w1 R
T®E F WM a4 TR ¢ ok ik @ 8 (b} 21 T 8 7o e W, g Wem w1 AR T
= s B A A A2 wer oy, @ Sw 5| (c) 168 « 29 # o A dEms = smm 10 2, v T
e B 1/6% W ¥ 7€ Hewm 2 d) . ing) Hen m w:

{a) 23 {b} 25 (5CLDCOE-12:2015, M (a) 12 {b) 15

244.The average of all the odd integers

(c) 26 (d) 24 between 2 an 22 is: (c) 18 (d) 30
CGL Mains 25-10-201%
238.The average oftl'n(elargestandsma]lestl 2 31 22 % <t @ oo ol 1 e Year 2002
o #m? 250.The average mon#gly income of A and
3 digit numbers formed by 0,2 and 4 ! B is Rs t of B and C is
would be : a) 13 (b) 12 Rs. 15640 and Agand C is Rs. 14400.
0_’23&{4'51-“—“':“;“”3&?“53'3% ic) 11 {d) 14 The mon e of Cis
gemel 1 st Fn o2 {SSC LDC 06-12-2018, Moruing) AT BH wiks A T14,000, B
ta) glg {3] gﬁi 245.A student was asked to find the value A ¢ 3hwa TR W 715,600 T C
(e} 21 (d) of x, and given the artihmetic mean i sl wifts @ T14,4900 4 C
(CGL Maing 12'04'20,15] is 12 of the following 12 numbers : w3
239.If the average of eight consecutive 3 79 3 8 19, 17. 21 : ' SURE LI O
even numbers be 93, then the greatest ';1’ » 915, 13, 8, 19, 17, 21, 14 16000 {b} 15000
number among them is and x ) 14000 {d) 15500

of 5T STRHF T wEms # sl 03,
q 3 gEww w0 i
(a}100 (b} 102
(c} 86 {d) 98
{CGL Mains 12-04-2018)

240.The average (arithmetic mean) of 3%,

3% and 3% is
3%, 3¢ 3T 30T SR T T 22
(a) 377 + 357 + 397 (b) 32° +3% 439
[C} 360 ld] 3177
(CGL Mains 12-04-2015)

241.A man spends his three months in-

come in four months time. If his
monthly income is T 1,000 then his
annual savings is.

& SR AT AR A S e = AR e

A @ T & o s wiaw s T,

2, ot suE! Aiffr wwm 82

(a) T 3,000 (b} T 9,000
{c) T 4,000 {d) T 6,000
(88C LDC 01-11-2015, 4

242.A shop of electronic gopds i d

on Monday.The average ey

for remaining six day k is

¥ 15640 and the av% sale of

Tuesday tg wggay is

T 14124, The p unday is:

#) e 3 \. shan wfiFe it T

15640 ¥ OgIER 3 whEr # i

o 2 14124 A Paar w5 fawt 2-

(@) ¢ 23220

(b) T 201888

(c) Data inadequate

{d) T 21704

(88C LDC 01-11-2015, Evening)

=1-

246.0f the three num

o fameff @ x#: 9F AR wE H
AR i@ ™12 e s, ¥'
15, 13, 8, 19, 17, 21, 14 Q%
e A 12 4 b 2

@3 CEaY ﬁs\
o) 17 @ P
’%DSE aver-

age is 60, the i ¢ fourth of
the sum the ol number. The
first muam Ny

W= d=m

60 ¢, IR T Heem,
F TH-Aerd #1 gz

{b) 36
(d) 45

7 \he average of 7 consecutive
umbers is 20. The largest of these
mbers is :

AR demel w1 sftea 20 3, wad w<
e 7 17

(a) 24 (b) 23

{o) 22 (d} 20

248.The arithmetic mean of the scrores

of a group of students in a test was
532. The brightest 20% of them
secured a mean score of 80 andg the
dullest 25% a mean score of 31. The
mean score of remaining 55% is:
T g § Uit frenfeial w1 sitma 52 @
20% Auret S} w= shwT 80 F wE 25%
wgfg o # sit|a 31 ¥ W= W S5%
ot 1 srem @ =X

{a) 45 b 30
{c) 51.4 (d) 54.6

Wizard of Maths — Rakesh Yadav Sir

.Of the three numbers, second is twice

the first and also thrice the thrid. If
the average of the three numbers is
44, the largest numbers is :

i St o, Gdiw e, v gem w9
T € o i W Y da R § aR de
e F siua 44 ¥, 9 T a9 Hen
7R F:

(a} 24 b) 72

fc) 36 d) 108

252.The average of first three numbers

is thrice the fourth number. If the
average of all the four numbers is 5,
then find the fourth number.

T A9 wEne w1 ahea =i wem W e
T 24 A R weml W siteas w, & g
e q[ F7
(2) 4.5 (b 5
(e) 2 (d 4

253.The average of first nine prime
numbers is
9 9 WA wEasl o sitva W w
@9 ) 11

2 1

(©) 115 (@ 11g

254.0f the three numbers, first is twice

the second and second is twice the
third. The average of three
numbers is 21. The smallest of the
three number is:

9 gl F, v v, i wew 9 9
T # 7o fia s, g wew A T D
TH ) 9F wema w1 ofmm 21 2, @ v
DA T T FLY

{a) 9 (b} &

(©) 12 {d) 18




255.0f the three numbers, the first is 3
times the second and the third is 5
times the first. If the average of the
three numbers is 57, the difference
between the largest and the small-
est number is:

o demal |, v we, i w=m
M T F 7 e T, yum we Wt
ofe T 31 afk A gl # sitwa 57
), 7 T S uw v o gemei W

I FE
@9 (b) 18
{c) 126 {d) 135

256.The average weight of three men A,
B and C is 84 kg. D joins them and
the average weight of the four be-
comes 80 kg. If E whose weight is
3 kg more than that of D, replaces A,
the average weight of B, C, D and E
becomes 7% kg. The weight of A is:
9 =Rl A, BT C 1 SR 997 84 kg
#1 =¥ 3 =9fF D amfa B €, faue
F0 S w1 T o Sokg @ W &
qf%, E fows 97, DF 991 | 3 kg AfE
AR Tafm s 21 B,C,D WER
T A 79 kg T TH ¥ AT I H:
{a) 65 kg. b} 70 kg.
ic} 75 kg. {d) BO kg.

257.The present age of a father is 3 years
more than three times the age of his
son. Three years hence, father’s age
will be 10 years more than twice the
age of the son. The father’s age is:
i %Y =du oMy, SWE T F A W AA
T ¥ 3 srfuw #1 7 af ax, few w
AY, THH P K A F R P F 105
st ) foa % oy 2
{a} 33 years {b) 39 years
ic} 45 years {d) 40 years

258.The average monthly income of X and

Y is Rs. 5050. The average monthly

income of Y and Z is Rs. 6250 a
the average monthly income of X ;

Z is Rs. 5200. The montly inco A ¢ )

of X is:

XN Y 3 s wfa® 5 2 5050, ¥ 7

o0 Z s wifas 2w T p2s0, X
F aftgd s T 5200, #1 X ;
EokTH N
{a) Rs. 4050 b %\}0

. 3000

ic) Rs. 4000 {
Y the first is

259.0f the three

twice the 0 n& the second is
3 times th irtl. PIf their average is
100, the the three number is:

F1 wemsT ¥, Y e, Tah wom M
T & e g W, A T = A
1 ofx @ e w ofwa 1002, A TR
@ WEm T F:
{a) 120
{c) 180

=]

{b) 150
{d) 300

260.In a family of 8 adults and some mi-
nors, the average consuption of rice
per head per month is 10.8 kg: while
the average consumption for adults
is 15 kg per head and for minors it
is 6 kg per head. The number of
minors in the family is :
firtdl uftaR 3 8 =5 9 7@ fevin & TE@
F1 wiq e Wi =km W 10.8kg 31 TARE
TS H EYE 15kg WA = a9 6kg WA
farvin & frent # Wem 30 w4
{a) 8 (b) 6
(c) 7 @9

261.The average monthly income (in Rs.)
of certain agricultural workers is S
and that of other workers is T. The
number of agricultural workers is 11
times that of other workers. Then
the average monthly income (in Rs)
of all the workers is :

% TR T WRF FAS T I TG W
fgs AR T &) FEH W wen, woRd
wem 11 0 &1 ol sfE ool
Tife® S A HL?

S+11T S+T
@ 5 (b} 12
1S + T gL
12 @ s

Year : 2005

262.The average of three
The first number

7 @) 132

t numbers, the first is

second and is half of the

If the average of the three

s is 56, then differene of first

d third number is :

Wemsll § 9um wEw, T 9o F
0 @ wem W et oAk @A
s w1 3t 56 @, W YW g @A

WE F R TR FE?

{a) 12 (b) 20

£) 24 (d) 48

264.The average monthly salary of the
workers in a workshop is Rs. 8,500.
If the average monthly salary of 7
technicians is Rs.10,000 and
average monthly salary of the rest is
Rs. 7,800, the total number of workers
in the workshop is
st wrdTen N ARl F ifEE W W
sfraa 28500 #1 frad 7 woigd W ol
M@ 710,000 TN W F AGA IE
27,800 ¥ FrfwET 6 =w wegd @ wen
R HL?
a) 18
{©) 22

{b) 20
d) 24

Wizard of Maths - Rakesh Yadav Sir

Year : 2006

265.The average of 5 consective natural
numbers is M. If the next three
natural numbers are also included,
how much more than M will the
average of these 8 numbers be ?

5 e gewsl @ siwa M ¥ Al e
v wafaw wEmel # st fra 99, a@
T sitea M ¥ fe wifis 82
(a) 2 (b} 1
(¢ 1.4 @ 1.5

266,The average of three numbers is 28,

the first nuwmb is half of the
second, the t@irg{iimber is twice the
e

second, thgn ird number is:
A ven # é&g £ e wew, feda
wem ¥ wer, 7w dem
= W R 2 e dem IE w0

(a}% (b) 36

{d-18

be; average of m numbers is n? and
Y of n numbers is m?, then aver-
t of (m+ n) numbers is :

' G W sheanzaun ses i
m2#1 (m+n) T w1 siws 7@ w2

m
(@ (b m+n

c} mn [d m-n

268.The average of 10 numbers is 7. If
each number is multiplied by 12,
then the average of the new set of
numbers will be

10 95 &1 aitwa 7 81 9 TEE En 6

12 % Ton fofem e < T oA T H12
fa} 7 {b) 19
) 82 id) 84

269.5 years ago, the average age of A, B,
C and D was 45 years., With E joining
them now, the average age of all the
five is 49 years. How old is E ?

5a¢ TR, A, B, C 71 D} WA g 45
ad off| s E e & w2, @ e @)

s smg49 7 & St E B g F@ w0
{a) 25 years {b} 40 years
{c) 45 years (d) 64 years

270.The average expenditure of a man
for the first five months of a year is
Rs. 5,000 and for the next seven Rs.
2,300 during the year. His average
monthly expenditure is:
uF vt F FoM i A o oshen o
5000 T4 FFR 7 T W T TWL2,300
#1 3o slvm e = T B0
(a) Rs. 5000  (b) Rs. 5,446
{c) Rs. 3,425 {&) Rs. 5,600

615



271.In a certain year,
monthly income of a person was Rs, -

275. The averag

Year : 2008

the average

3,400. For the first eight months of
the years, his average monthly
income was Rs. 3,160 and for the
last five months, it was Rs. 4,120,
His income in the eighth month of
the year was :

Tt =, frdlt =ifm Y sl wfess sma
73400 ?1 99 T Wom 8 Wit Wt sitwa wifaE
WM T 3160 A1 W 5 e W shad
241203 @ s =8 T W I I FY
(@) Rs. 3,160 (b} Rs. 5,080
{2) Rs. 15,520  (d) Rs. 5,520

272.The average of nine consective odd

numbers is 53. The least odd num-
ber is :

o wPTA T Semal w1 st 53 3 vl

B U HEm A4 F2
a) 22 (b} 27
() 35 (d} 45

273.The average per day income of A, B

and C is Rs. 450. If the average per
day income of A and B be Rs. 400
and that of B and C be Rs. 430, the
per day income of B is :

A, B g C H wfafea sffwm smazas0 2 A
7w B 1 wfafeq slhwa srr 2400 U3 B
C# Wil sl am 7430 21 B 9 WA
ST A 2
(a) Rs. 300
(c) Rs. 415

(b) Rs. 310
{d} Rs. 425

274.The average of eight numbers is 20.

If the sum of first two numbers is
31, the average of the next three

1
numbers is 21 3 and the seventh

and eighth number exceed the sixth
number by 4 and 7 respectively, then
the eighth number is :

8 wemat w1 20 %) w2 §

4 31, et 3 gems w siE 21—

areEl g e e, geEl. e M-aﬂl?
v ) 3t W I 2‘"‘% '
(a} 20 (b) 2&
c) 21.6 (d}¥5§},

t income of
ronily |

A and B is 0, the aver-

age moriigly u@me of Band C

is Rs. 15,35f dnd the average
income of A and C is Rs. 15,200.
The monthly income of A is.

A 3R B % simg wfes s ¥ 15,050
2 B3R C % diwe wits 9@ T
15,350 % 3R A 3R C %1 sl s T
15,200 %, 5t A 91 T 31 farartt 272

=1

276.

277.

278.

§

&

i

(a) Rs. 15,200 (b) Rs. 14,900
¢} Rs. 15,500 (d) Rs. 15,900

(S8SC CPO 20-03-2016, Morning)
The average age of a classis 15.8
years. The average age of the
boys in the class is 16.4 years
while that of the girls is 15.4
years. The ratio of boys to girls
in the clas is

et e o oia a1 15.8 T ) Fan
H Tgsi #t i oy 16.4 9 ¢ SRR
wefEal 1 alem a1y 15.4 @6 81w
¥ AgH @ wsfEal W oA &2
(@) 3:5 (b) 2:3
fe) 3:4 (dy 1:2

(SSC CPO 20-03-2016, Morning) 281,

The average age of husband,
wife and their child 3 years
ago was 27 years and that of
wife and the child 5 years ago
was 20 years. The present age
of the husband is:

ofa, ufe it 3T T =t sim g,

£ _Ah!-;‘

(a) 20 (b) 21
(c) 22 (d) 23
{88C CPO(Re) 04-06-2016, Morning)

.If the average of 5 consecu-

tive integers is x then, find the
average of next to next 5 con-
secutive integers.

K 5 T Yo W oltgn x € A

I A 3 5 FHANE YU F iEa

T FL

(a)x+5 b)x+5
d)x+25

c)x+ 104

fan‘mly there are three man,

& wonen and one boy. If

e Average age of three men

1&—-&18 years and average age

three women is 44 years,
‘then the age of boy is:

3@@27aﬁzﬁaﬂwﬁqwa—a“’ o mwﬁan#?w&ﬂaﬂﬁmm

ﬁaﬁmmsﬁqﬁ%ﬂ‘ﬁiﬂﬂk%

] aduE S w82
(a) 40 years (b):35
{c) None of the opﬁgﬂ%
{d) SO years

{88C CPO 20,p¥ é’ Evening)
If the dﬁfe:el;oe hetween the
average ®f %, yahd y, zis 12,
grence between

then the

(b) 48
id) 12
{SSC CPO 20-03-2016, Evening)

.2§7&The ratio of the number of
I“‘*@ players on the three cricket
‘teams A, B, and C is 2:5:3. If

the average number of runs
scored per player for each of the
three teams, A, B, and C, is
30: 17: 25 respectively, then
what is the average number
of runs scored per plaver
across all three teams collec-
tively?

A, B 3R C o7 fipshe i & faenieal
aﬂmmeﬁjﬁm2 5:3% 3k
ﬁaﬁA,B,aﬂtcﬁmm
% oftga T %1 o/ 30 : 17 : 25
2 @ ogfes =1 @ wff 9 I A
T faendl Zam s o o oW
oA wem w0 E

Wizard of Maths — Rakesh Yadav Sir

40 = %1 7fEw o 41 7Ey, 99 TR
IR @ dAEH B AR R oy W
Hima 1 48 = Sl ufeensii w1 owa
Y 44 ad ¢ A FEH F oY e &2
(a}6 years/ad¥ (b)2 years/=d

(c) 4 years/@9 (d) 8 years/ad

{88C CPO(Re) 06-06-2016, Morning)

.The average temperature on

Tuesday Wednesday and
Thursday was 41 degrees, and
on Wednesday, Thursday and
Friday was 40 degrees. If on
Friday it was exactly 39 de-
grees, then what was the tem-
perature on Tuesday?

UTER, FeER #t FER W s
A 41 el 3R 99aR, TEER 3R
YFAR F SiEa TEE 40 fol em
7z gFar & araa § 39 faft amam
o, q TTAEGR FATE F A7
(a)42 degrees/fem

(b) 46 degrees/fet

(c) 23 degrees/feti

(d) 26 degrees/fem

{SSC CPO{Re) 06-06-2016, Evening)

.The average of five numbers

is 7. If there new numbers
would be added, then the new
average comes out to be 8.5,
What is the average of those
three new number?




284,

g s W sraa 7 Ak 9
Fea WSt W @ T oiEa 8.5 ®
o BT A e A e D

fopa 227
(@) 9 (b) 10.5
(¢) 11 (d)11.5

{SSC CPO{Re) 06-06-2016, Evening}
The average salary of all the
associates in a team is 16000.
The average salary of 7 senior
associates is 24000 and the
average salary of the rest is

286.

Iq% i R F 86 FEm N A
¥ ait faw = sfeets W@ F
37 9R @SH o SEa WR T Tm?
(a)112 kg (b) 108 kg

(c) 110 kg (d)98 kg

{8SC CPO[Re] 07-06-2016, Morning)
A set A conists of integers 27,
28, 30 and 33. If integar k is
included in the set, the
average of set A will increase
by 30%. What is the value of
integer K?

wired 24 SR S w9 gu ool wemed
sirga 18 21 39 SEen Y |t gened
1 JfwE T B
(a)Less than 18
188 &0
(b} Between 18 and 24
183 24 % 9
(c) More than 24
24 9 sfaw
(d) Cannct be determined

fifa = o - g3a@
{SSC CPO(Rs) 08/06-2016, Morning)

12000. How many associates AT 27,28,30»%?33‘3}3113?% 289.The aggr e\ﬁ,ramfall for a
work it that team? =fz goi K d2 W ufwfag e ‘Ovesek ¢xclu Saturda{1 was
w 3@ 3 Tt T F o 3 2 o2, @ WA S i A 30 Wi rajnc‘;L B_@hﬂ‘*rggﬁjih;zﬁ
16000 %1 7 afts wwdi @ o - 3fs @l YOS KW AE 82 erage rf’i’nfan for the week
¥ T 24000 ¥ w9 wEE F (a) 68 (b) 79 ratged to 1.5 cm. Then the
d 4 T 12000 f T @ H (7375 (@)75.25 ntéll on Saturday is:
af | BigH TF GAE § q9 H
o T 287. 'IE:seC :\Ezgeoz.;zz;sa family, ‘7:« i ﬂﬂ?la‘ﬁoms s ;T.; -3 + gl i
e +1
(8)21 (b} 22 with 5 members is 28. Ifone % E’:ﬂ 15 A Eéﬂ o2 T q 9
(c) 23 (d) 24 of the members of ag 1q i - i g2 :
excluded the average ag pf !
: c}11 cm d) 6.5 cm
maximum of 16 passengers e | ':ﬁ ﬁ ((;m CPO(Re) 08-:.2016
with an average weight of 80 s o1y 28 7 a0 B 290.Th s of E”mg’l
kg. However, four boys more v w e k ??[qﬁanzaﬁ ; fesasverﬁgf dma.r sotac al?s
. ) B 0 children is 35. the
than '?’e maximum carrying : marks of one of the students,
capacity of the elevator (@) 25 } 20 who got 35, was incorrectly
entered it making the N {d) 24 entered as 65. What is the
average weight as 86 kg and iy choil) 07.06.2016, Evening) correct average of the class?
overloading the elevator. 288. er¥ze of the first 3 whole 35 a=l F OF B & e ofF
What is the average weight of brs in a given series is 35 #1 35 3iF WE FH AR TH
those four boys? 24 #hd the average of the re- famnelf 2 3% A / 65 fed T
fci 3 mammg whole numbers is i 5
& ferwe 80 18 What will be the average wa w EE ﬂl‘gfl 4
afirran 16 Tl =t @TT’" bf all the numbers of this se- (a)33.7 (b) 34.
B e G T iea? (c) 35.24 (d} 36.50
- ﬁ ﬁﬂémﬁ%ﬁ?ﬂ??‘imm (88C CPO{Re} 10-06-2016, Evening)
- ﬁ ANSWER KEY
1. B9 ®m 117. M |25 @ |33 @@ |4l © [49. © |[57. @ |65 (@ |73 (a
2. (Bi10. (@ |18 (d |26. (¢) |34 (o) [42. (b) [50. @ |58 (c) |66. (b |74. (a)
3. (0|11 @ |19, ) |27 (0 135 () |43 (o) [51. (¢ |59 (¢ {67. (c) |75 (@
4. M 12, (¢} 120. (c) |28. (¢} [36. (b) | 44. (@ |52. (c) |60. (&) |68 (c) [76. (d
5. {d [13. () [21. ) |29 (@) {37. (@ |45 (¢} [53. (& |61 (a |69. @ |77. (b)
6. (b |14. (@) [22. (¢ |30. (c) |38 (M |46. (@) |54 () |62 (a) |70. () |78. (a)
7. 4 |15 @ |23 ic) |31 (@ |39 (a |47. (& |55 (b |63 () |71. (&) |79. ()
8. (o) |16. (@ |24. (c) |32 (a) |40. (a}) |48 (a) |56. (c} |64. (c} |72. (&} |80. (d
Wizard of Maths — Rakesh Yadav Sir 6171l



81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92,
93.
94.
95.
96.
97.
98.
99,
100.
101.

(d)
(b}
(b)
{b)
(b)
(b)
(d)
(c}
(d)
ic)
(a)
(b)
()
()
{a)
{a)
(b)
(c)
fa)
(d)
{a)

102,
103.
104.
105.
106.
107.
108.
109.
110.
111.
112,
113.
114,
115.
116.
117.
118.
119,
120.
121.
122,

(a)
(a)
(c)
(c)
()
()
(b)
(c)
()
(b)
(b)
(c)
(a)
{a)
(a)

{d)
{c)
(c)
{b}
(c}

123.
124.
125.
126.
127.
128.
129,
130.
131.
132.
133.
134.
135.
136.
137.
138.
139.
140.

141

(c)
(b)
(a)
{b)
{c)

(a)
{d
{c)
(c)
()
(a)
(a)
{d)
(a)
()
()
{d)

- (a)
142.
143.

fc}
(a)

144.
145.
146.
147.
148.
149.
150.
151.
152.
153.
154.
155.
156.
157.
158.
159.
160.
161.
162.
163.
164.

(a)
{c
(a)
{c)
{b)
(a)
(b)
(b)
@
{b)
{c)
{b)
{c)
{d)
G
{b)
{c)
{c)
(b}
fc}
fc}

165.
166.
167.
168.
169,
170.
171.
172.
173.
174.
175.
176.
177.
178.
179,
180.
181.
182.
183,
184.
185.

()
(a)
(b
(b)
(a)
(b)
(b)
(c)
()
()
()
(d
(c)
{c)
(b)
(c)
{b}
(d}
{d}
(b)
{d

186.
187.
188.
189.
190.
191.
192,
193.
194.
195.
196.
197.
198.
199,
200.
201.
202.
203.
204,
205.
206,

ANSWER KEY

(b)
(b)
(b)
(b)
(b)
(<)
(b)
(d)
(a)
(c)
(b)
(c)
{c)
{c)
{a)
{d)
)
(a)
(d)
(d}
(c)

207.
208.
209.
210.
211.
212,
213.
214.
215.
216.
217.
218.

219,
220.

221.
222,
223.
224,
225,
226.
227,

(@

()
()
(b}
(@)
()
()
(b)
(b)
(b)
(d)
()
(b)
(d)

(b):

(a)
{c)
{b)
(a)
(a)
{b})

228.
229,
230.
231.
232.
233.
234.
235.
236,
237.
238.
239.
240.
241,
242.
243.
244,
245.
246.
247,
248,

(a)
(d)
(b)
(c}
()
(d)
(d)
()
()
(d)
{a)
(a)
(b)
(a)
(a)
(c)
(b)
(b)
(d)
{b)
(c)

249,
250,
251.
252,
253.
254,
255.
256.
257.
258.
259,
260.
261,
262.
263.
264.
265.
266,
267.
268.
269.

{c}
(a)
(b)
(c}
()
(a)
(c)
()
(a)
c)
()
()
()
(d)
(d)
(c)
(d)
(a)
(c)
(d)
(c)

270.
271.
272.
273.
274.
275.
276.
2717.
278.
279.
280,
281.
282,
283.
284,
285,
286.
287,
288,
289.
290,

()
{b)
{d
(b)
{b)
()
(b)
(a)
()
()
(c}
()
(a)
(¢}
(a)
(c}
()
(c)
(b)
()
(b}

—
1]
o
>
[
O!'J.:l
wl
]
x
R

1S02 40 3344

i hari Oom.

chav.in o snapdeal s
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SOLUTION

B e O e S

1. {b) Note: Detail solution of this type 3,
of question given earlier now

{¢) According to guestion

= Big medium Small
choose allegation method to save Price 15 10 5
the valuable time (39 TR B ¥ . . X
T farega =t 619 % 9 W fxa T #) @ Quantiy 3 _ 2 S
TEYED T F 9 % fau fsm Fem w 45  +20 + 25 =90
wan w)
90

According to question ‘. Average cost= —=9
’ 10

(b} According to the question

Average (3¥HR)

D;g{erence 27 4.

~_.
SN

7 % 800 + 8 x 1000 + 5x1200

20
32/ A48~ #{
4 5 5600 + 8000 + 6000 .
- 20
27 units difference divides in 4 : 5
{12,15)
19600
60 33 =
20

-, Average marks are (3T %)

= 45

Alternate :
According to guestion

32x60+40x33
N 72

1920+1320

72 \ “._ », : S
- 994—0 \j\’ = A:B:C
72 & !%N 3:4:5
=45 Y k
2. (b) Acco ghe question

83=x+(76x4)+(B5=5)

; iSXG0+1QXG5 Average =

1
‘«‘ £ ._..:= -

ﬂ[///A{07//////1//////l////A’//////////A’//////////f//////I///A’////A//////A’//////A///W////lll///_II//////&‘

s G e e

ARRRRRIRRRRS

o A e i,

(b  Use alligation and Mixture:
Girls Boys

0\8 k

tage\f’boys in the class (&

3
\ | %1 wfver)= gxloo - 60%
M et the weight of 1 student (¥FI

T T o FTG) = kg
the weight fo 15 student (15 20 il
F)= 15x kg
the weigth of new comer (4 B F
FA1)= v kg
According to the question.

15— 40 + y = 15(x + 1.5)

15x - 40 + y = 15x + 22.5
= 62.5 kg

Alternate:

If increase in weight of 1 student
(FemoEIaTmAIEEdda )
= 1.5kg

s increase in weight of 15
students (15 861 % %51 | JfE)
=15 x 1.5 = 22. 5 kg

wieght of replaced student (7 o1 #
aFF)= 40 kg.

. weight of new = weight of
replaced student + increase in
weight of 15 students

=40 + 22,5 = 62.5 kg

(c] According to the question

The average weight of 50 students
was (50 BT 1 iR )

=45 kg

when one student leaves the class
the avg. reducd by 100 gm (& TF
P Fa BT & 2 4t siwE 791 100 WW

w9 5 9 %)

Average 12 - Total weight reduce of 49
40 students
= 49 x 100 = 4900 gm = 4.9 kg
Average = 910+ 900+780 _ 2590 _ 2903044425 _ 978 . The weight of student who left
40 40 ——= 72-—31 -5 Ans. (YT TIZA e B FN FI)
= 64. 75 12 = 45+ 4.9 = 499 kg
‘@“ Wizard of Maths - Rakesh Yadav Sir 619



9. (b According to the question 12,
New comer the age of 45
persons is
1
decreased by = Py years
1
ie = 'é % 45 = 5 years
Replaced person age (¥ 3@ =f@
T AG)= 60 years
New comer age = 60 - 5 = 55 years
Alternate:
Let the age of new women (W &
it Afgen # WG)=x
60 - x 1 13,
45 9
60 - x=5
X =60 -5 =55 years
10. (d) According to the question 14.
Average weight of the 8 boatsmen
1 '
increased by= 15 kg (32 Afawt & 15
) 1
i Fom A < 17 kedfs &)
', Total increased in weight (99
) 3 16.
W ) =8 =12 ke
weight of old Man (TR =afd &
T9)= 60 kg
weight of new Man (T4 =afF =t m)
=60+ 12 = 72 kg %,
11. ({d} According to the questicm b

=]

Average weight of th

increased by = 1 k&lﬂ[‘%ﬂﬁ ED

\'Q?-N.':'-,{:;‘ ?

', Total u}t‘re%se in weight

1
=]2X—-4 ;
3~ 4ke

weigirt of old Man = 55 kg
weight of new Man = 55 + 4 = 50kg

- FE) =

o

{c} According to the guestion.
Total increase in age (31 # F{A
) = 3 x 8 = 24 years

Sum of the age of persons (=afFmal
F Y FAM) = 30 + 34 = 64 yrs
If the age of new person same as
replaced person then there would
have been no change in average.
But average age of 8§ persons

increased by 2 years (3f% T =afm

F) A W R H A P WA R

oira A FE FKA T A dfE e

Tl F sliea a1 < o =g W)

. Average age of new person
64 + 24

- = a4
2 r

{b] weight of new sailor (¥ fFF
au) =42 + 15 x (1.6}

=42 + 24
= 66 kg

(a)  Age of retired teacher (W’%
25+ (10 x 3= 25+ .

foare F1 aW) =
30 = 55 vears
{d) Let the welght of the new
student (91 f& T W’Wﬂ] = xkg.

According to questlol; W)

x - 35 IS
59 kh,
@, a{age of 40 boys (40 FgH!

w ﬁ? = 16x40 = 640
New aé’ef“of 40 boys (40 TEH w1 T
“13.875 % 40 = 635
Difference (#M) = 640-635

=
o

- = 3 years.

17-x= 5
17 -5 =
Alternate
Average is decreased it means the
boy who joined the class is younger
than the boy who leaves the class.
(AYga == B TN T Haow 2 fy wa A
J B A # IO g9 wa Sad
EEEEEE R LR
Let the age of boy who join (M1 f&
w4 H A A T B B W = x
17 - x = difference in average 13i]’€?l
A st
17 - x
40
17 -x=5
x =12

12 ye Ans.

= 0.125
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17. (b) Let the swm of age of 3 persons
(T T 8 =ufsmat 1 wg | ) = 8x
According to question {F¥ITHR),
Bx-24 +y= B8(x+ 2
Bx-24 +y= 8x+ 16

y= 16+ 24
¥= 40 Ans,
y is the age of new person. (4 =fem
3 yd
Alternate:

Let the age of new person (AM &
T AR &t 3G = x years

X - 24 + 5 fﬁ vears
18. (d) Let nly;..gum of age of 8 men
(T Fe 8 R H g H A = 8x
gnen ‘the age of two new men (@
-4 wfeadl ® Y = yyears
? According to question (THTIHR),
T Bx-21-23+y= 8x+2
8x-44 + y= 8Bx+ 16
u = 16 + 44
y = 60 years.
Average age of new men (T4 =IfF +1
60

y
s I = 5 = ~%s

Alternate:

(sum of new men) — ( sum of old men)
8

=2

sum of new men- 44

8

sum of new men (& zafFal F1 A
=16 + 44 = 60
Average of new men (T SRR 1 2l
= 30 years

19. (bjLet the age of younger boy (W1 &
B ASH F W} = xyears
then the age of elder boy @, o TTH
I = (x+ 5)
According to question (YFATIER),

=2

(30> 15) - 20+ x+ x+ 5= 31 x 15
430 + 2x + 5 = 465
2x = 30
x = 15 years Ans.

20. (c) Let the weight of the new parcel
(1 % T A #ae) = ckg

According to question,

12x 1.8+ x= 13 x 1.75
21.6 + x= 2275
x= 1.15kg.




21. (b)Sum of age of teacher (fIeF =1 25.

I FT °M) = 10x years

and retired teacher age (i ¥afEa
iy =Y 3W) = y years

According to question,

10x- y+ 25 = 10{(x- 3)
10x - y+ 25 = 10x- 30

y = 535 years
Alternate

let the age of retired teacher (W
& darfEa fines =1 3 = x years
x-25
=3
10

x = 55 years
22. {c) Let the weight of 25 person
(N f% 25 = &1 797 = 25xkg.
and the new Person weight (3 ¥ =@
HWE = ykg
According to question,
2Bx-60+y =
25x - 60+ y =

Yy = 85 kg
23. (¢} Let the weight of 50 students

(@ fF 50 B 1 F5F) = S0xke.
and the new student weight (3 W
oE WA = yhg

According to question (TEHR},

25(x + 1)
25x + 25

1
50x-50+ y = 50[’“"5)

S50x - 50 + y = 50x + 25
y= 75kg

24. (c) Total age of 2 players (2
famfsd =1 %@ a1y
= |8 + 20 = 38 years

Increased years = 2 x 11 = 22 months

Age of new players (T faergt %1 3m)
= 38 years + 22 month = 39 years
10 months
Average =

Alternate:
Let the total age of 11 players (A

19 years 11 months

According to question,

26.

27.

28,

5 11 faefeal %1 §a 9P = 11x
then the sum of age of new pla
@ = fEErE ® a1 F1 A = yyea

Mx+y-18-20= x

1
1llx+ y-38 = llx%

1,
= —4
¥° s

239 239
= —— = 19 years

A - ———
VETABE T %6 12

11 month

=

() According to question, 29.
Required Average (3@ sifwm)
6> 50+ 51x2 +55%2 300+ 212

10 B 10

30.

— = 51.2 kg.
{c) Age of decreased = 24 x 1= 24
month = 2Zyrs
New comer = 18 - 2 = 16 years
Alternate:

Let the new comer(TVt FF T4 =M
_316 B A7) = xyears
18- x 1

24 12

18-x 1
24 12

31.

18 -x

2
18-x=2
x = 16 years
{c) Let the age of New bgys\is
years. (1 f6 7 4% T 31 #
then the age of class is 24 ye
(3 T Y g 24 T4

According to questio

1
24y - = + -
y- 10+ x q% 6)
24y - 10 = + 4

= 14 years
{ A ifMg to the question
e

c
) s of 100 students {100
3TF) = 40
matgs of 100 students (100 Bl H
%) JF 40 x 100 =4000
I

t was discovered that a score of 53
as misread 83

- difference in marks (3% ¥ W) 33.

= 83 - 53 = 30 marks
v, Actual marks of 100 students
was ( 100 TH F1 AR(TH %)
= 4000 - 30 = 3970
average marks of 100 student was
3970

(100 Bt &1 Sitwd sTF = ———
100

=39.7

Alternate :
By misread
The diff. of no = 30

= total no of student = 100

3
then Av. = m- 0.3

Now the new A.V. = 40 - (.3 = 39.7
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32.

(a)According to the question
Required average(31+ie siaa)

500 + 46 - 64
- ———— = 43.2
10

(¢} According to question
The avg. of 10 number is (10 ¥
1 = 50
. Sum of 10 numbers are (10 TEM3H
A = 15 x 10 = 150
He mistaken writes one number 26
instead of 36. (SHH Y@ I OF HEA
H 36 3 T 26 foa &)

ift) =36-26=10
10 numbers (10

10

ording to question let us

ider by mistake he writes 10th
mber with its digits
interchanged. (W f& s@% 10 5 ¥&A
H) qEEa I e F WA T W o

)
10x +y— (IOy + x)

10

(In this remaining nine numbers
are same and they cancel out)
10x+ y- 10y—-x= 18

1.8

9x - 9y = 18
x-y=2
(a) let the number of students (A
T ol &1 9gi)= x
According to question
50x -- 100 x 30
———— =45
x
40x - 3000 = 45x
S5x = 3000
x = 600

{d} According to the question

avg, weight of a 20 boys (20 agH
1 3fma F9F) = 89.4 ke

Sum of a weight of 20 boys (20 AZH
F1 FA T9) = 89.4 x 20 = 1788kg

It was later discovered that one
weight was misread as 78 kg instead
of 87 kg (I | T8 T & 5 o= T
To F 87 FEm. & = 78 fRm w_y T
. difference( M) = 87 - 78 = 9 kg
- Actual sum of a weight of 20
boys (20 TEHI 1 ARGTTH 9}

= 1788 + 9 = 1797 kg

1797
Actual avg.( AFEEF sfra)= —-23—

= 89.85 kg




34. (b} According to the question

avg. of 18 observations is( 18 34Ul =
@) = 124

. Bum of 18 observations are (13
Ygwi &1 4 = 124 x 18 = 2232
later it was found that two
observations with values 64 and
28 were wrongly entered as 46
and 82 (W% ¥ 9 7o = FF T S 64
qG1 28 GETAW 46 Fm 82 g fw )

:, difference = [{82 + 46) - {64 +
28)) = [128 - 92] = 36

.. Actua] sum of 18 observations(18
Wil 1 IRl d)= 2232 - 36 = 2196
avg of 18 observations (18 Tl =

i)

35. (¢} According to the question
The mean of 50 no. is (50 dEml w0
)= 30
Sum of 50 no. is (50 TEMA F TM)
= 50 x 30 = 1500
later it was discovered that two
entries were wrongly entered as 82
and 13 instead of 28 and 31. (9% ®
o 7 oon 5 5 wfafe e = 5w
£ W 28 31 31 & 9T 82 A4 13 7
™)

. Difference = (82 + 13) - (28 + 31)
= 95 - 59 = 36 (Extra)
.. Actual sum of 50 number is { 50

w1 arafa® A = 1500 - 36 = 1464

1464
.. Actual avg. @mEfES ﬁlﬂ?k ? = 29.28

Alternate:
Sum of wrongly entered numbers

(FE 9N T HESH T I
=82 + 13 =95

Sum of correct numbers (FE1 HEAT
% AM) = 28 + 31 = 59
Required average (3ufre i)

39 -85

2196
= = 122
18

0 + =30 -072

50
= 29,28
{b) According to the jo

36.
avg. of 25 ovbservati k3
sl 13 Ox
sum of 25 obgerv 3, 5 Baol w1
4Ty = 13 x -
one obser tefed wrongly 48
instead o & 73 %

=73 - 48 = 25 (less)
. Actual sum of 25 observations

(25 A& F1 ArEfeR AT 325 + 25 = 350

330
Actual avg. = E =14

=]

37. (a) According to the question

mean of 10 numbers is (10 WEA3
H A= 30 . sum of 10 numbers
is (10 Se&msAl &1 A= 300
It was observed that numbers 15,
23 are wrongly taken as 51, 32
Difference = (51 + 32) - (15 + 23)
=83 - 38
= 45 (more)
. Actual sum of 10 numbers {10
gEmsl ®1 IrafsE 3M)=300-45=255
. Actual avg of 10 numbers(i0

wEmsi w1 AT dew)
255 AB.E
10 ’
Alternate:

Sum of correct number (T& T
w1 AM) = 15 + 23 = 38

sum of incorrect number (TR &N
F AM) = 51 + 32 = 83
Difference = 83 - 38
The difference of 45 effe

45
numbers = — = 4

10 . \
wrong average (e N 30
correct average }=30-4.5
= 25.5
(b} Accon 1 estion

Correct (W€ "eE)= 28
C d r (57 & "E)= 82

D e = 82 - 28 = 54
TheSifference of 54 effect on 27

38.

.\ sa
\number = — =2
/( t _ 27
wGiven average (a1 mn siramy= 60

new average (=1 sird)= 60 - 2
=88

{a) According to gquestion
Wrong marks (THA %)= 68
Correct marks (WEl %)= 86
Difference = 86 - 68 = 18

39,

Difference ‘18 effect the 100
d 18 0.18

t ts = —— = 0.1

students 100

.. Wrong average (o &)= 58
Correct average (S8l sfwa) = 58 + 0.18
= 58.18
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40. (a) According to the question
Wrong number = 26
Correct number= 62
Difference = 62 — 26= 36
Difference 36 effect the 20 items
36
- E = 1.8
. Wrong average = 47
Correct average = 47 + 1.3
= 48.8
41. (o) Accor%in question

&! =79
Xragc = 97

e = 97 <79 = 18
‘18" effect the 20

Diffegenc
gertation. = —
0) 20

Wrong average= 75

= 0.9

Correct average = 75 + 0.9
= 75,9
42, (b) According to the questions
mean of 100 item are {100 'nl'FgEﬂT 2
A= 46
Sum of 100 items are (100 TG *1 9
= 46 x 100 = 4600

Misread 61 instead of 16 and 34
instead of 43

. Difference = (61 + 34) - (16 + 43
95 - 59
36 (more)
Actual sum (ArefaE G)
= 4600 - 36 = 4564
Now total observation are (¥ |&
Y& = 90

4564 ~
90 = 507

Actual average =

Alternate:
Subtract the misread and add the
correct from the sum.(3M ¥ § Yo@9T
ol T wEm 5 i dEn S A )
Sum 100 x 46 = 4600
New sum = 4600 - (61 + 34) + {16+
43) = 4564

New number of observations (W&o

1 Tt g=m) = 90

4564
New average {71 3iFd)= o0 50.7




49.(c} Correct average of the marks ob-

tained by him. (& i)

43. {¢) According to the question
Actual number (FRfTF J&T)= 17
New number (T ¥&m)= 31
Difference = 14 (86 - 68)
Difference ‘14’ effect the seven T T

14

bers = — = 2 18
umbers = 5 = 88- - =-88-3-85
<. Present average (FaWA siem)= 18

50. (d) A ding to th tion.
New Average (1 drma)= 18 + 2 = 20 () According © Juestion

Wrong marks (& 3{%)= 42 + 74

44, (a) According to the question
let the number of students (WA % o = 118 ,
7w - x correct marks (V@1 %)= 56 + 32
= 88
60x - (60 x 100) + {30 x 100) Difference (3a)= 116 - 88
o =45 = 28 marks
60x — 3000 = 45x . This difference effect the 14 stu-
15x = 3000 dents (T M A 14 Famnfefal w wafaa
x = 200

45. ({c} According to the question
Incorrect number (7@ WE&A) = 60
Correct number (W€ &) = 50

28
FAME) =« — =2
14

+. incorrect average (A aga)= 71
correct average (W& 3@A)= 71 - 2 = 69
{¢) Right value (T8 TF)) = 56 + 32 =

Difference = 60 ~ 50 = 10 (more)
Difference ‘10’ effect the all 10 5],

old average = 80

new average = 80 -1 =79 Difference average ( F®
46. {a) According to the guesition 3

Incorrect number = 32

Correct number= 23

Difference = 32 — 23 = 9 (more)

14
Correct average (HEl
= 71-2 = 69
Difference 9" effect the 9 integers 52. () Accordin 0} question
: A

9 20 % 56 - 64 + 61
Correct av —_—
©. Old Average = 11 20

New Average = 11 -1 = 10
47. (d} According te the question 0= 1117
Incorrect mark = 46 = 20 = “20_
Correct mark = 64
Difference = 64 — 46 = 18 {more}

88
. 10 Wrong value (RR AM) = 42+ 744 1
items = = = 1 Difference (370 = 116 — 2

28

=

Difference ‘18" effect the = 55.85 cm.
18 3.Wc] According to question,
students = — = 0.5 orrect observation (gt Her
36
Old Average = 52 _ 50x36+48-23
New Average = 52 + 0.5 50
48. (a) According to q i
let as consider by mist ites
Lo :“mb“ with i 1800 +25 _ 1825
inte bl = =
interchanged 50 50
= 36.5
S54. (c) According to question,
correct Average

are same and they concel out Sx50+48 -84
10x+4-10y —x - 5
4y_i.._ = 3.6

10 250-36 214

gx - 9y = 36 - ——— = — = 42.8
x-y=4 S 5

=]

Wizard of Maths - Rakesh Yadav Sir

55. () According to the question
Average age of eleven cricket plyers

is 20 years (11 sz faenfed %1 siwa
amg 209 #1)

total age of eleven cricket players
is(11 frmhe faenfeal #t 19 sg= 20
x 11 = 220

If the age of coach include then
the average age increase by 10%

@ w9 F 39 0 g & S i o
wfaer @8 A ¥ de.

x 20 = 22 years

10
=20 +
100

= -2
56. ccording to question

of 9 observation is (9 Y&l F
) =16
sum of a observation is (Jgulf F1 A=
16 x 9 = 144
when one more observation include
the new mean(¥d TF 2R Hgo S @
s & W T ) = 17
Sum of 10 observation (10 Wi
) = 10 x 17 = 170
-, 10* ohservation (TEAT Y&w)
= 170 - 144 = 26
57. (a)let the number of girls (W AgFEA
F HWEH)=x
The number of boys (FZH &1 TEM)= y
According to question
T3x + Tly =71.8(x + ¥

1.2x = 0.8y
x 2
y 3
girls% = x 100
2
= — % 100
5
= 40%
Alternate by Alligation
girls _ boys
73\ /7 1
71.8

x 100 = 40%

Y% gitls =

2+3




58. (c} Accerding to the question

By using allegation method
Whitballs Price Red balls Price

N/
/N

5 units — 10 balls
1 unit - 2 balls
3 units = 2 x 3 = 6 halls

White balis = 6 balls.

39.(c) Accordlng to the question
By using allegation method

B

A
77 5 70

/ ON

id} Accordmg to the guestion
Total increase in weight including

teacher (frerd # o T9m o 5
FE ) =400 x 35 = 14000 gm = 14 kg
If the teacher's weight had been
‘42 kg so there would not have
been any change in

average weight. (If% fers = 79 42
fEm. 2 ora: ofrm wom ¥ w¥ 9fy =
#hil)

. Teacher’s weight =

60.

42 + 14 = 56 kg

61. (a) According to the question
By apply allegation
A
25
1
62. (a) According.to the guestion

Average: 4b + 3G = Rs. 120

sum : 4b + 3G = 120 x 7 = Rs. 840

Average: 4b + 150 x 4 = Rs. 600
Sum of Girls = 840 - 600 = Rs. 2400

Average of Girls (TEfFdl ®1 sfom)

=]

Alternate:

63.

64,

By allegation

Boys Girls
150 x

N\

4

120 - x = 40
x =120 - 40 = 80

(b) According to the questions.
Average weight of

42x25+28 x40
70

whole class =

=31 kg
(¢} According to the

q,

Male

3000
: 3

5 M) According to the question

Average weight of 25 students (25
sl F1 ird 791)= 50 kg
Sum of the weight of 23 students
(25 =7 F F I F 9M)

= 50 x 25 = 1250 kg
If the class teacher include the
average is increased by 1 kg (afg
fous #1 =5 ot =g < = 2 @ offoa T
. w2 W #)

Average weight of 25
students and teacher (25 ¥ F:
e w1 afed a9 1) = 51 ke
.. Sum of weight (T FH FM)= 26 x
51 = 1326 kg
. Class teacher weight (faF 51 T=R)
=1326 - 1250 = 76 kg
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1050 +1120 @
70

Alternate:

If the weight of the class teacher
is included the average is
increased by 1 ke (afy fags 1 3w
ot Jig & ot @ A o ww feam =g
Eio k)

;. Total increased in weight (¥4
¥ ¥@ JfE) =26 x 1 = 26 kg

Note : If the weight of class teacher
is same as the average weight of
25 students then there would have
been no effect on average. But the
weight of teacher is more than the
averge of 25 students weight then
average is incregse by 1 kg (%
ﬁmﬁ w1 TG aftaa 7o =

ﬁiumaﬂw@m
Qsmaﬁaﬂmm

ﬁF!TI
Class er welght = 50 + 26

ordmg to the question
hing Non- teaching

\ staff
12000

5000

/

16000

N

2000
5 H 2
5 units — 20
1 unit —» 4
2units > 4 x2=8§
Non- teaching staff = 8
{c) let the total number of workers
(9 5 o w5 |19 o) = «
According to the question -
12 % 400 + (x -12)x 56 = 60x
4800 + 56x - 672 = 60x
4128 = 4x

4128
x= ——

4
= 1032

66,

67.

Alternate:
By apply alligation;

e
N

4 340
2 170
¢X6 ¢x6

Total worker = 1020 + 12 =

1032




68. (c) According to the question 73,

Average marks of 40 students is
(40 3 T iwE %) = 86

Sum of marks of 40 student is (40
BE F IAF T ) = 86 x 40 = 3440
5 highest marks are removed then
Avgerage marks of 35 students is

{a) Sum of age of four brothers 77. (b} Use mixture & Allegation,

(= e ® 9E AWM = 12 x4 = 48 Technician Workers
Sum of age of four brother and their 12000 6000
mother (S WA Ft IW 70 TR O = \ /

IF F WM =17 x 5= 85

Mother’s age (Wl ®1 I%) = 85 - 48

(5 AfUFam HF TEH ® 9% 350 B = 37 Ans. / \
&) = 3had) = 85 74. (a)
s Sum of marks of 35 students 2080 4060
is (35 TN B ST F A = 85 x 35 = Failed 12ty 2
2075 Passed : _
condidates condidates 2= 14
= 3440 - 2975 Average Total worker (& FHT= 7 + 14 = 21
= 465 Average Alternate:
465 Let the w rf = x
Average = —_- = 93 / Accordiffg u 1on,
8000 | 000X7+6000><x
69. (d) Average of whole class (T & gggg; : 56 = 84000 + 6000«
* si 9 3iv) / \
'I‘otal rs (|A HHAM) =7 + 14 = 21
85x4487x5_340+435 78. se Alligation and Mixture:
5+ 4 9 5 . 1 ents Teacher
6 4
775 . i .
= ? = 86.1 Passed candidates : Failed candjgat
5 :1
70. (b) Let the average weight of 12 per- 6 units = 120 7
son is (TF 76 12 = F e a9)= / \
x and weight of 12 persons (12 S units = 120 x5
HfFdl F1 FA T )=(x + 33} 6 33 : 1
According to the question, = 100 candidates l ‘L
11x95+ x+ 33 Alternate: > 12
12 * T H e = x . ® %ﬁ x 12 T 396f8t2'f‘d1nt3 &
1045 + x + 33 = 12x Let the 1 oMwfandidate who ’ e total age o oys
11x = }90873 passed the A ation = x ;;a)cher 21; (24;@_&#3?151 fogs Y |/A
x = . = x = years
. candidate = (120 -
s The weight of 12th person is (12 d [ Let the teacher’s age (A1 % foers =t
wfag #1991 = 98+ 33 =131 kg W = (120 - o f H)= x year
71. (a) From alligation method . i According to question,
imng to questlon, 25 x 15+ x= 24 x 14
Boys Girls T 375 + x = 336
70 75 = 120%35=xx 39+ (120- 015 L x = 39 years
4200 = 39x + 1800 - 15x 24 Students| Teacheli
¥~ x=100 ‘I' ' '
(d} According to question, 14 years = 15 years
20x12+5x7 15
Average s -1x 24 @ +24
25 e
39
3R+2R = 5R
240 + 35 275
= 25 " a5 T 11 yrs To balance the average of teacher,
its must be 24 more than total
76. (d According to question, average i.c (FarF # g =1 wgfaa

T2 Average of whole class (‘13"[ FHT FI

10x12.5+20x13.1

T fes #1 9M = 15 x 15= 225 i) =

Sum of girl’s age [FEFHF & 38 = 30

WY - 1dx14 - 196 125+262 387

Teacher’s age (%% I 37) "2 " 30 = 12.9 years

= 225- 196 = 29

=
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FW # fou o sfmra: 5w Ao § 24
SAfw g TRT)= 39 years

Average of only teacher (337:!("1 (HEED
F1 sirma)= 39 years

As it is only 1 person.

. age of teacher also (fows F 30

= 39 vears




80. (d) Use alligation and Mixture:

Boys Girls

A+l

N/
3/‘\1

A-x= 3
x= A-3
Alternate:
Let the average score of girsl is (AN
fF wefedl ®1 T 5F)= x
According to question,
JA+LD+1 (¥ = 3+ 1) AT
3A+3+x= 4A
x= A=-3
{d Let the age of teacher (A &
fes FF A= xyears
According to guestion,
30x 9+ x= 31x10
270 + x = 310
x= 40 yrs
{b) According to the question
Average age of 40 students of class
is (e W 40 B A siEA 4TY)
= 18 years

let the average age of 20 new

students ([ 76 20 T @ ] ftwa
Y = x years

40x18+20xx _ 13+1]
60 2 years

85.

81.

82.

720+20x 37
60 2
720 + 20x

30

720 + 20x = 1110

20x = 390

x = 19.5

. Average age of newly admitte

1‘8 (ﬁﬁﬁﬁﬂﬂm}

= 19 years 6 month
{b) According to quest
Husband + wife \

83.

2
Husband +

Husba

4 years

Husband + wife + child = husband
+ wife + child — Husband + wife =
63 - 54 = 9 year increase

‘. 9 years divide among husband,
wife and child equally

-, age of child(F=% F1 ¥9) = 3 years

=1

84,

86.

{b) According to the question 88. (o) According to the quesiton
F+M
- P+Q
5 35 years > = 15 years
F+ M= 70 years ...........[i} .
P + (¢ = 30 years (5 years ago)
F+M+8 2
3 27 years PrO+R
F+ M+ S =81 years .......ceuurns (i) 3
S =11 years
{b) According to question P+ Q+ R = 60 (Present ago)
Sum of increased age of P and Q
H+w are = 30 + 10 = 40 years
2 = 25 years
. Present age R %!
H + W = 50 vears - 60 — ?ﬁ )
H+W+{ - 20 age of &ears (maﬂfeﬁm
3 R &t A 20 + 10 = 30 vears
H+W +C= 60 yean 89. (d ceording to the questions
. Sum of present age of
H + W(Ifd-Teil % dar Ial %t am) - =4y7m (i}
= 50 + 4x2 = 58 years . {ii}
.. Child age = 2 years [+) (+]
(b) According to the questio A-C~= 7y llm """""" (i}
P+ Q iven: when,
2 C = 5 years 2 months
P+ Q=250.... ageo) A = 13 yearsl months
P+Q+R B = 8 years 6 months
— =25
3
A+B+C
P+ Q+ RA 7§ .X.(A) (present age) Average of T
Prege of P+ Q=250+
10 = 6 26 years 9 months
R =75~ 60 = 15 years = 3

of R after 5 years(Ws a4
o am)

= 15 + 5 = 20 years
d} According to the question

verage age of a family of 10
embers is

(10 TE@ 9 & IRER # sfwa sm)

= 20 years

Sum of the age of 10 members (10
wHEl Y FEF A

=20 x 10 = 200 years

If the age of youngest member is =
10 years (9ff T=9 B2 wegn | oy
10 94 2 @)

Sum of the age of 9 members at
the time of birth of youngest
member (¥4 32 T B W9 ® 99
A e # A A) = 200 -10 x 10
200 - 100

100 years

.. Average of 9 members is ( T&EH

90.

100 1
aﬂmﬂm)- —9—-116 vears
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= § years 11 month

{c) According to the question

H+W
2

= 23 years

H+ W =46...... (i}

As given in the question after five
years they have a one-year old

child. (¥m f5 wem § fer mn & v Ay
F A% TE TF 94 F GH =0 T

l.e, After 4 years of marriage child
was born(¥{l % 9N @ WK ¥ W
T EI)

. Average of (H+ W + ()

46+ 8 54
3 3
= 18 years




91.

92.

;. Age of new boy = 10 + 7 = 17 yea
93. (d) According to the question
RAM +2C
—3— = 17 years

=l

(a) According to the question

Average age of 8 members two yers
ago( R T TEe 1S wEwl W s o)

= 18 years

Sum of age of 8 members two years
age (3 ¢ TR W@ T FH oy W
) = 144 years

After the addition of a baby the
average age of the family is same

today. (TF T=3 F1 30 I TN P TR
FF § TRER F s 4Tg T §)

i.e, Average age of 9 members
today = 18 years
Sum of age of 9 member today( TdHH
¥ o EEl B WY F AT ) = 162 years
In these 2 years the age of 8
members is also increase in age of
8 member =8 x 2 = 16 years
.. Sum of age of 8 members
today(THAF | 8 TIE B TG F AN
= 144 + 16 = 160 years

Age of child = 162 - 160

= 2 years
(b}  According to the question
Due to new comer average age is
increased hy
(7% T w2 RO 3fga 35 § gfg)=2
month
Total age increase in 42 boys
= 42 x 2 = 84 months or 7 years

Note: If the weight of new comer
is same as the boy which was
replaced then these is not effect 2

months (3 T FLH F T [TH TgH
T F IOoW ¢ 9 2 A W HE w7
="

Ram + 2 C = 51 ye

Wife + 2C

Wife + coeenas(iil)
If Ram g years old. this
value puty
2C

2C = 18 years old .......(ii)
Put the value in equaltion (ii)

Wife + 18 = 48

Wife = 48 - 18 = 30

Wife = 30 years old

94.

95.

97.

{c) According to the question

A+B

= 20 years

A+B

L}
S
=1

[
1]
g
[0

C+B

2
C+B=
C+A

2

C+ A= 42 years ........ccovueenn i)
Add equaltion (i),(ii) and (iii}
2{A+ B+ C)= 120 years
A+ B+ C = 60 years
From equaltion (i} and (iv)
40 + C = 60
C =20
From equation (ii) and (iv)
A+ 38 = 60
A = 22 years
From equaltion (iii) and (iv)
B+ 42 = 60
B = 18 years
. ABC = 22, 18, 20
(a) According to the questi
Average age of 5 membe

= 19 years

38 years ..........o.....lid)

21 years

(F4wH W ST S W)= 33 y
Sum of age of 5 mbers todfy
(a7 ¥ 5 e # )
= 33 x § = 165 yeags
If the youngest m r4s 9 years
old (3% T BRI = #)
@ of 4 members
before the¥Wgipth B youngest child
(w4 | wE Wr el
£ =165-9-4%x9

= 120 years

120
rage = — = 30 years
4
{a) According to the question
verage age of 7 children(7 =4 %!
) = 12 years
Sum of age of 7 children (7 =l F
g 4) = 84 years
If a child aged 6 years died then
Sum of age of 6 children (3% 6 Td
FNGE qou W W@ R 6 T B Y
& M) = 84 - 6 = 78 years

78

.. Average = ? = 13 years

{b) According to the question

3%x204+4x21+3x22
A F=3
verage To
60 +84 + 66 210 21
- 10 T 10 years

98.

99,

Y e
P24+ 40 + 26m +29

100.

101.

102.
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(¢) According to the question
Average age of a family of 5 members
3 year ago (3 ¥4 WA WEw ¥ W
T WY A AY) = 17 years

sum of age of a family (e # g
F TA) = 5 x17 = 85 years,

A baby having been born the
average age of the family is same
today.

., SBum of age of a family of 6

members{ @R F 6 95 &1 a7 F
AM) = 17 x6 = 102 years
. Sum of age pf a family of 5

members presedl ¥77A T ¥@ER % 19
i % =85+5x3=85
+ 15 = e

. Age of chil} (=% =t 3mg)= 102 -
100 =2 y
{aj Acgording to the question

ﬁn; § 20 26 29

x2+[xm +[x] =6+ m

= 93+26m

93 + 26m
6+m
102 + 17m

Average = = 17

93 +26m =
9m = 9
m=1i
{d)Let present average is (W fF a6
#G) = x years
Total age = Sx year
According to question,
Sx-y+z=D5k-15
where y = Replaced member
z = New member
-y+z=-15
y—z=15
This is required difference.
{a)Let child age (M f% F=* %1 W)=
X years
3 years ago total age of family(3 T4
et IR %Y |{A AP = 85 years
present total age of family (S W
TRER $ FA 7Y} = 85+ 15 = 100 years
According to question
100+ x

. =
100 + x = 102
x = 2 years

P+ Q+R
(a) 3

P+Q+R=3R+15
P+Q-2R=15
P+ Q= 30.. (i
From equation (i) and (ii)

=R+ 5

39 -2R =15
2R = 24
R = 12 years




103. {a} According to question, _
Total age of 30 students (30 famferal

F FA TH) = 30 * (14 years 4 months)

107.

{b) Total age of [amily at Present
(TdHT Sfmm F= 2 9y

= 5x17 + 3x5 = 85 + 15 = 100 years
Total age of 6 members in family (9fER

1
=30 %14 - P 6 TI H |/A A )=6x 17=102yrs
3043 Baby age (954 %I 3W) = 102 - 100 =
k3
= 2 yrs.
= = 430 years ¥
3 Alternate:
'é‘ota] age of (30 + 5) students (30 + Sum of 5 members 3 years ago (3 T4
%7 79) = 35 (13 year 9 month) VR 5 T A = 17 x 5 = 85
3 1925 sum of 5 members at present (FIUF
=35x13 — = years o 5 wee w1 A = 85+ (3 x 5)
4 = 85 + 15 = 100
1925

Total age of 5 students = - 430

205

4
5, One of the new five student
is (13 fomeff #t A= 9 years 11
month old

Remaining 4 students age (¥4 4

fereniydal =t oang) =
= 10 years 4 month

{c) According to the question,
Average age of 7 persons (7
w4 T 3 = 30 years

Sum of age of 7 persons (7 SfE %
Y W T - 30 x 7 = 210 years
Average age of 5 persons (5 SAfFaal
F g W AT = 31 years.

Surm of age of 5 persons (5 =faFl =
g F A = 31 x 5 = 155 years

.. Sum of age of remaining two per-
sons ﬁ% T 2 }
wfqeEl F S7 F AM = 210 - 155

= 55 years
. Average of remaining two is @

i 55
gzwﬁaﬁﬁmmﬁm=?

= 51 years 3 months
108

41years4month
4

104,

1
= 27— .
2 > years

105, (¢) Mother + 6 children = x
7 = 84

6 children = 6 x7
age of mother (7 %1 AEDY 4
106. (¢} Sum of age

& 9y W
Parent’s age =

176 — 48 =
Father's age — Mother’s age = 8
x—-y = B
x+y

128

109,

Average of 5 members of present (T
¥ 5 trel w1 M = 17 % 6 = 102
Present age of baby (=4 1 THU™
) = 102 - 100 = 2 years

) SumofM+F+8 =42 x3 =
126 years

{at the time of marriage)

Sumof M+F+S8+B+C=36x5
= 180 years (after 6 years)

Sum of (M + F + 3) after 6 years =
126 + 3 x 6 = 126 + 8 = 144fea
sum of (B + C){after 6 yeapfi=

144 = 36 years

B+ 3 =36=C =75 (age of ch

will become 5 year: 6 years)
(5 74 A% 7= w AY 6
B = 31 = age of bi§ 6 years

.. age of bri a e time of
marriage G T F A7)

=3 25 years.
c] A ig to question

le four mambers of a

A,B,C and D ‘D’ is the

yoNggest member (91 FF
A BY DU thar 2 W@ ? sk D
w gl 7)
| A+B+C+D
.. —'—4*— = 36

Present age (FdHM 3W) = A+ B+ C
+ D= 144

If the present age of the youngest
member D’ (3% wa® s W8wm D %
T 3g)= 12 years

’. The age of the family at the time

of birth of youngest member is
=144 - 12 x 4

‘= 144 - 48 = 96

. The average age of the three
members A,B and C is (#7 759 A,B
¢ F o o)

= — =32
3
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110. (¢} Accroding to the question

Average of five numbers is(5 H&A
1 i) = 7

Sum of five numbers
are =7 x5 = 35
Average of cight
number is = 8.5
Sum of dght mumbers
ae =8 x85=68

33 increase

- Avg. of three new numbers (¥4
33

i gEnsi = W- — =11
° 3
111. {b) Acc e question

Avg. a ents and teacher
(fnys 7 B R ofwd )= 16 years
therm the total Ag. of student and
t =16 x 10 = 160
@ﬁ of 4 students
age of S students
19 x 4 = 76
10 x 5 = 50
-, Teacher age (TreF #i 7 y)
= 160 — 76 - 50 = 34 years
112. (b} let the five persons are
A.B,C,D.E (arsn %5 wrw =afaw
ABCDE ¥
According to the question

A+B+C+D+E
— -8k

A+B+C+D+E=190kg

5 persons + Boat
6
5 persons + Boat = 312 kg
. Boat = 312 - 190
Boat = 122 kg
According to the question
 JVHVHVIEVID

2550x4 =
10200

VL +IXHX+XXTT
31205 = 15600
Total Expenditure (F8 &)
= 6600 + 10200 + 15600
= Rs 32400
Savings

= 52

113, (g
L+ 11+
2200x3=

6600

= Rs 1260

Income = Total Expenditure + Savings
= Rs. 32400 + 1260
= Rs. 33660

33660
12

. Monthly inccome = = Rs. 2808




114, {a} According to the question

Average of 30 numbers is {30 WBWN
1 = 40

Sum of 30 number is {30 TSN F
M) = 40 x 30 = 1200

Average of 40 numbers is {40 TEmsH
= 3lw)= 30

Sum of 40 numbers is (40 T&NH F
qm) = 40 x 30 = 1200

1200 + 1200

Total =
otal average 70

2400

70

- 342
7

115. (a) According to the question

Average of 20 numbers is (20 WS

7 = 15
sum of 20 numbers is (20 TENA
M = 15 x 20 = 300

Average of first five number is (799
wi= gema #1 afwE) =

sum of first five number is (W99 =
HEmA F AM) = 12 x 5= 60

.. Sum of remaining number (¥
wEnA & A} = 300 - 60 = 240
Average of remaining (9 @3 F

240
sHwa)= I5 -6
116. {(a) According to the guestion

1.11+0.01+0.101 + 0.001 + 0.11
5

Average=

1.332
= T = 0.2664

117. (b) According to the question
Height of 6 persons (6 =¥l =i
@) = 6 x tm 15 cm = 6m 90 cm
Height of 8 persons(8 ZfFa i
=8 % Im 10 cm = 8m 80 cm
Height of 6 persons (6 Safaadl
A =6x1ml2cm=6m 72 cm
Total Height of 20 perso 20

sl # w@ ) =
22m 42c
Average =
=1ml2 1 ¢
118. (d} Accordin a jestion
Average of 11 L is (11 HEme
w1 oiwa -

Sum of 11 T3 is (11 W= W
W) = 50 Y1 = 550
I+ I IVHVEVT | VIVIHVIIFIX X XD
49 x 6 = 294 52 x 6 =312
*, VI number (33 &)
= 312 + 204 - 550
= 56

=]

119. {c) According to the guestion

AT (I
1+ 11+ B g )
15 % 3 = 45 16 x 3 = 48

If IV number is (X 83 w&m)= 19
then II + [II = 48 - 19 = 29
Put this value in equaltion (i)
. I =45 - 29
I=16
120. {¢) According to the question
Average of nine number is(9 TENM
w1 ) = 50
Sum of nine number is {9 A H
) = 50 x ¢ = 450
LI HE VARV VID VI + X
54 x3=270 x 52 x 3= 156
= 450
270 + x + 156 = 450

x =124

121. (b} According to the question
Average marks of 22 candidates are

(22 ol #1 o 51%) = 45

Sum of marks of 22 candidates are
(2290 ® 3% $1 AM)=45x 22 = 990

. I toX I+)(I +|XII loXXII.
55 x 10 =550 + x + 40 x 11= 440
X+ 990 = 990

. x = 0 marks

122, (¢} According to th stion
Mean of 20 items is ( A =
)= 55
Sum of 20 items A FT FiT)

- x 20Y 00
g removed
75
8 items
- 75 = 1025
1025
verage = ———
18

= 56.9

{c) According to the qusetion

verage of 50 numbers is (S0 HeEw

afrea )= 38
Sum of 50 numbers is (50 TENSH F
T} = 38 x 50 = 1900
If two numbers are discorded ie
(afe % vEAm 7§ Wl 3 )
= 45 + 55 = 100
-, Sum of 48 numbers is {48 HEml
®H AA) = 1900 - 100 = 1800

1800

Average = = 37.5

(b)l According to the question
30x16+20x15.5
50
480+ 310 790

- —————x — = 15.8
50 50 ke

124,

Average =
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125. {a) According to the question
Avg. of 11 numbers is = 63
Sum of 11 numbers is = 63 x 11 = 693

g avo@D, + VI VI XX

65 x 6= 390
umber two times add

VI number = 360 + 390 - 693
= 750 - 693
= 57
126. (b} According to the question
(MSHrF+ M+A + M+ J + Ju,
2570 x 4= 10280 2490 x 3 = 7470

60%6 = 360
VI

nditure = 10280 +
= Rs 32900
To avings - Rs. 5320

cornc = 32900 + 5320 = Ra.

38220
12

. (c} According to the question
J +F+ M+ A+ MtJHJutA+8+0+W+D |
1800x4 = 7200 2000 x 8 = 16000

. Total Expenditure

= Rs(7200 + 16000) = Rs. 23200

Total Savings = Rs, 5600

Total Income = 23200 + 5600
= Rs. 28800

ely Income = = Rs. 3185

28800
12

Monthly Income =

= Rs. 2400
(b} let the total number of workers
(vrn 5 wdia ) gem)= x
According to the question
12000 = 7 + (x - 7 )x 6000 = 8000 xx

12 x 7 + (x- 7)x6 = 8x

84 + 6x - 42 = 8y

2x = 42

x=21

Total workers = 21

128.

Alternate:
12000

N

6000
2000 \
1 : 2

1= 7

3 = 21




129, (a} According to the question
Average of 50 numbers is (50 T@NH
%1 sftma= 38
Sum of 50 numbers is (50 T F
Ay = 38 x 50 = 1900
Two numbers discarded (%t WA
B &t M) = 45 + 55 = 100
Sum of 48 numbers (48 TEMH HT
m = 1900 - 100 = 1800

a+b+c+d+e+f= 237

1800
Average= ‘E = 37.5
{d) According to the question
Average of six number is (6 S
w1 sRT)= 20
Sum of six number is (6 ¥EHA F1 AN
=20 %6 =120

130.

133. (a)let the six mamber are a, b, ¢, d, e, f.

136. (d) Total Expenditure (@ &)
= 1200 x 5 + 1300 x 7
= T15100
Total Saving (FF ¥4) = T 2900
Total Income (FH 3M)= T 18000

(T fF 69 a, b, ¢, d, e, )

According to the question,
a+tb+crd+e+f
6

3.95

18000
a+b Avg. Income (3@ 3m)= —— =1500¢
S~ 34 12
a+tb=68...... (ii) 137. (a) Total of 13 result (13 oMl
c+d A = 70x13 = 910
5 = 3.85 Total of First seven result { 999 7
c+d = 77 ... (iii) T@AA F W) = 65%7 = 455
Put the value of eq (ii) & (i) in eq. Total of lasgg result ( 3fm 7
(i), (WM (if) T (iii) 0 AR HEEH Hemsi ~NBx7 = 525
(i) # T W) =7 )= 455 +
e+f = 237-77-68
e+f= 972 525 - 910 .
138, (¢ _Tot come of 40 person (40

- T A I = 40x4200 = Rs.

9.2
Average (sir) - S 4.6

. 68
one number is removed then ] 134, (a) Let the numbers in decreas- income of 35 person (40 =gt
Average of five number is (% &N ing order be (T fF stH F9 o W=) % ) = 35 x 4000 = Rs. 140000
mﬁ%WSGﬂlﬂ’lﬁﬁlﬂﬂ.kl? = xx-1,x-2,x-3, x-4, x-3 Tota.lincomeof75person(‘753ﬂﬁi‘lﬂ'f
Sum of five number is (5 TS F = According to the question, ¥ %7 amy

M= 15 x § = 75

= 168000 + 140000 = Rs. 308000

. x+|lx~1)+(x-2)+{x-3)+ 4
*. removed number (T2 T T=E)- = ( ) ( ) ( ) Average income of 75 person (75
120 - 75 = 48 5
—_— - 0 el 1 s s - 308000
131. (¢ga +b +c¢c +d Sx - 10 . 75
= = 30
-+ Average of a, b, ¢ first three (72 5 12320 2
dm e a, b, c 1 i) < 16 = x-2= 30 QJ = —5 = Rs. 41063
total ofa+ b+ ¢c= 16 x 3 = 48 ,...{i =
\ o = ‘x 32 139, (¢} Total marks of 8 students (8
Again +» First numb 2 M- x o) 51 8= 408
then la rx-5 = xo=
= Average of la‘st 3 numbers b, ¢ and = Total marks of 9 students (9 Bl W
d (3itm A wemsit b, ¢, d F )= _ T FF) = 68x 9= 612
15 = D between first and last
o (avm 7o SR TN 1 Sf) Tman_na:ksorrfstudemsmaifm
= thentotal b+c+d= 15x3 = 45 =32”% 27= 5 ajﬁm=408+612"1020
““““ (i) lﬂ."\:ﬁ]ﬂ:‘rg' of twelve no. (12 =Ml = Average of 17 students (17 ol F g
= from {i} - (ii) (WhFm i F @ g =15 1020
2R W) um of twelve no.( 12 TSI F1 TP1) =T7 - 60 Ans.
= a+brc-(b+c+d = 48,45 = 15x12 =180 o
Avg. of first two no. (W9 2 Weqsl w1 140. (d)  Sum of five no. (W9 FEWH M|
= a-d = 3 ; Sy 14 g = 275 = 135
N Sum of first two no. (Y99 2 FENA FI Sum of four no. (A YA F M)
= a‘20"3["":1', qm) = 14 x 2 = 28 - 26 x 4= 100
- 23 Sum of first two + Sum of rest = 180 Excluded no. (82 T T@m) = 135
= a Sumn of rest = 180 - 28 - 100 = 35
= ‘Therefore, firs a (WM HEM =132 141. {a)Total items of first 3 months (VB&
a) = 23 x| + % 41 A mA A% = 40003 = 12000
132. (@) Accoriin o question, - 14 Total items of 12 months (12 W& %t
28 T ) = 4375x12 = 52500
- 15 - [ *11#154x+144321425 X2 = Average of last 9 month (3™ 9 WE
7 Avg. fo rest (Y g Wemew w1 i) w1 3w
= 105= 93 +n 152 1 52500 - 12000 40500
= x=12 T s i} 9 9 1500 Azs.
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142. {c}  Sum of 9 no. (9 TEMA W AN
= 30x9 = 270

Sum of first five no. (J9W 5 TEMaat

F AM = 25x5= 125

Sum of last three no. (3™ 3 TEst

WM = 35x3 = 105
6th no. is (B4 &M ¥
270-125-105 = 40

143. (@) Total marks of three batches
@ 3=
= 55x530+60x55+45x60
= 2750 + 3300 + 2700
= 8750

N 8750
VOTAge T S5 i 60445

875

W = 54,68

144. (a) sum of 30 results (30 oM
qm = 30 x 20 = 600
sum of 20 results = 20 x 30 = 600
Average of all results (@1 SRoma F7
m 622+60’0 - 1200
+ 30 50
{c} Sum of 15 numbers (15 TG H
T = 15 x 7 = 105
Sum of 8 numbers (8§ TEAHAT &1 7
=8 x §,5= 52

8750
160

Ans.

= 24

145.

Sum of Last 8 numbers (#fim § TEm

H AN =8 x 9.5
middle numbers is (754 &Y #)
=76+52-105=23
146. (g} Let the 1Sth student age [HFI
fF 158 3@ F1 Y = xyears
According to question,
Sx14+9x16+x=
70 + 144 + x = 225
214 + x = 225

x = 11 years
147. {c} Let the sixth no. (W &Eﬁ
qEm) = x N\.«
x+4

= x+7

then the seventh (d,

and the eight (3it

According toueft
31

6 hy
2X_5+ +Wrx+4+x+7

= 8 x 20
31 + 64 + 3x+ 11 = 160
106 + 3x = 240
3x = 54
X = 18

Eighth no, (714l ¥@ x+ 7 = 18 +7 = 25

=1

15 x 15 ™

148. (b} Let the last no. (M % 3ifm vy

= X

According to question,

12x 11 +7 =% 10+ x =

132 + 70 + x = 240

x = 240 - 202

x= 38

149, {a) According to question,
Average of all 8 boys (9t 8 FZH =

siam

9x12+3x16 60+48 _

8 8 8

20 = 12

108

27 1

=5 2|.32 Years

{b) Let the average age of the new

students (A1 i T o 1 shtwa amg)
= X years

According to question,

40 x 15 + 10x -

600 + 10x
10x
x -

150.

50 x 15.2
760
160

16 yrs,

Alternate:

0Old students New s

15

151. {b} the average of four new no.
® (TE) SR T TEmet W oaimE)- x
\According to question,
00 x 44 + 4x = 104 x 5O
4400 + 4x = 5200
4x = 800
x = 200
152. (d) Sum of 30 no’s (30 e =
M= 15 x 30 = 450
According to question,
15x 30 = 18 x 10 + 11 x 20 + last no.
450 = 180 + 220 + last no.
last no. (3@ WEM)= 450 - 400
= 50
153. (b} Let the new observation be (HFT
f& 0 dyv)= x
According to question,
6x 455+ x= 7 % 47
273.0+ x= 329
x = 329 - 273
x = 56
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154, (cJAccording to question
let the four mambers of a
family are A,B,C and D ‘D’ is the
youngest member (1 &
A, B,C DU% YfER & ¥3= ¢ ot D
T BT ?)

A+B+C+D
4
Present age (SAM 34} = A+ B+ C
+ D= 149
If the present age of the youngest
member‘D’(‘lﬁ{m TR W™ D #
Tﬁhﬁ Y= 12 y
. The age §f

- 36

fa.rnlly at the time
t member is

According to question

M. (b i i
@ The average age of 20 girls is

(20 wgfFA F A Y = 15 years
The average age of 25 boys is
(25 WgH Hi 3fwa MY = 15 years
= 24 years
Mixed average
20x15+25x24 300+ 600
- a5 ~ 45
300
= E = 20 years
Alternate : By using allegation
method.

Girls N age
Difference 9

/\

no. of glrls no. of boys
9 divides in 4 : 5 are 4 and 5
. Average age = 20 years

156. (c] let the average of runs for his
11 innings (A & 11 wfEt § 9@

™) =x According to the
question
11lx+ 90
Sl = x-5
12
11x + 90 = 12x - 60
x = 150

. His average of runs after 12%

innings 150 - 5 = 145




157. {d) let the score of highest innings
(ar f Tt Tt swm W)=«
the score of lowest innings(fFd Rt
FL A=y
According to the question
Average of 40 innings of Cricket
plyer (TF sz faaet % 40 wie =
o) = 50 runs
Sum of 40 innings runs (40 WE
B @ F AM) = 50 x 40 = 2000
Average of 38 inninge runs (38 Wfcdl
7 3m)- 48
Sum of 38 innings runs (38 Wil
1 I - 48 x 38 = 1824

X+ y = 2000 - 1824

x+ y=176 ......... (i)

x-y=172 ........... {ii) (given)
Solve equaltion (i) and (ii) x = 174
y=2

‘. Highest Scrores = 174
158. (d} let the score of highest
innings(¥A fF fFh 9 s=a@ T = x
the score of lowest innings (f&dt
T | A ) =y
According to the guestion
Average of 64 innings (64 W T
srem)- 62
Sum of runs 64 innings (64 WfEAr
w IM) = 62 x 64 = 3968
Average of 62 innings = 60 runs
Sum of runs of 62 innings (62 WA
F W ImM) =60 x 62 = 3720
ox+ oy = 3968 - 3720
x+ y=248 ... ... .
x-y= 180 ... (i)
(given) sove equation (i) and (i)
x =214
y =34
His highest score (IH&T I=389 i)
= 214 runs
159 (b} let the scored in the eleventh
innings(AF T 11 o T = A= x
According to the question

60x10 + x
11
600 +x = 682
x= 82
Alternate:

N ’\
( /“ Yo

of
innings.
Lox- 62 =20
x= 82

=]

160. {c)let the average score till his 11
innings (A & 11 & 9 7% @
sfg @) = x

According to question
11x + 63

12
11x + 63 = 12x + 24
x =39
12th innings average (12 & W =
stEm= 39 + 2 = 41
Alternate;
Let the average score till his 11
innings = x

N

x+2

Y \

63 - Ix + 2)- 22
63 -x-2-=
-x+ 6] =
x=61- 22 = 39
Average after 12 innings = x +
=39+2=41
161.ic) let the average s
innings (@ & 10 =t
According to
10x + 100 \«’

= x4+ 2

till ‘10’

10x + 10 + 55

x-45

presen ins are = 45 + 5 = 50
162, g to the question

verage of 30 innings is

(30 o geeETet 1 si@a) = 40 runs

Sum of runs to 30 innings is (30
qﬁ?ﬁ*ﬁma‘m)-wxao-lzm
et his highest score is (W1 %
) = x

lowest score is {70 T} = y
Lox-y =100 ... (i) (Given)

If these two innings are not
included then the average of 28

innings is (I W A W | 77

gl Wy @ 28 wiftal Fr SitEa)= 38 runs

Sum of runs to 28 innings is (28

it = @ w1 )= 28 x 38 = 1064
x+y = 1200 - 1064

x4y = 136 oo (i}
Solve equaltion (i) and (ii)
x =118
¥ = I8

.. The lowest score of the player

is (faaE) =1 799 =F) = 18 runs
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163. (c] let the average of ‘11’ innings is
(vrn fif 11 ofedl s ofRmm)=

According to the gquestion

11x +120

= + 5
12 x

Hlx + 120 = 12x + 60
x = 60

". His new average (%61 3141 s
=60 +5 =465

164. (¢) Accordiflg Nithe question
Increa & 1 players

=11 x3 years
Currént age of 3 players who are
d =3 x 33 =99 years

ge of 3 newcomers (3 7%
| 1 IW)= 09 - 33 = 66 years

66
Average age = ? = 22 years

. (¢} According to the queston

12.4 26 _59
\ 5/

127 12

6.8 04

17 1

lxs 1)(5

85 wickets 5 Wickets(given}

The number of wickets taken by
him till the last match was (3™
#7 7 7o g0 fg T e W dem)=
B85+ 5 =90

166. (a) Let next innings Runs (M 3Tl

i # w ) = x

According to question

32x10+x
11

=38

320 + x = 418
x =98




167. {(b)  Let the no. of wickets (AT &
e B we - x
According to question (WA,
24.85x +52= 24 (x + 5)

24.85x +52= 24x + 120
0.85x = 68
68 x 100
x= ———
85
X = 80
No. of wickets till the last match
is (fem 49 9% fo2d T WM x+ 5=
80 +5 = 88
Alternate:
Apply alligation
Average of last inning (318 T F sy
= — =104
5
Average before last inning (3@ 91
? TER 3hyE) = 24.85
Final average of all innings (@t f&l
=24
24 .85 10.4
24
13.6/ \ 0.85
136 85
A 8 0.5
Ratio ol
circkets .l,xlo wa

Total wickets still the last inning
(i T 7w B = 80 + 5 = 85.
{b) Sum of age of two players (2 Faenfgaf
T 3U F A = 17+20= 37 years
Decreasing age of players (f@ j:
W HEE AP = 11 x 2= 22 mo
Sum of age of two new players (2

168.

Tarenfedl %t 36 &1 M= 37 yrs - 22 /

mont = 35 yrs. 2 month

Average [\ﬁﬁﬂ = 17 years
Alternate: A

(17+20)—(sumoftwone lafer _E

yer 2 T fEenigal

average of two new player (2 T4

211
WWM=E

= 17 years 7 months

=1

169. {a}
be (1 f% 11 o F1 ) = »

According to question,

I0x32+x= 11 x 36
320 + x =396
x= 76 mns
170. (b)  Average run of 10 innings (10

wfea F 3f%E) = 50 runs

Increased run in 11 inning (11§ WA

d) gd ateq = 11 x2= 22 runs

Total runs (HH T = 50 + 22 = 72 runs

171, (b) let the average of runs for his 64

innings (A % 64 wifal 0 afa)= «

', According to question

64x +0 5
65 x-

64x = 65x - 130
x = 130

‘. His new average is (39%F1 T

sied) = 130 - 2 = 128.
172. (c) let the number of wickets taken
by him hefore the last match was

(9 f sfFa i ¥ el s9% g fau

Q

T e i W@ = n

12.4n + 26

—— =124 - 0.2
n+5

124n + 26

— = = 12.2
n+5

12.4n + 26 = 12.2m,+ %l
0.2n =35 é

175 wickets
173. (¢} let the average of runs for his §

innings (AM & J@wl 8 Wi =

3 wickets{given)

)=x
According to question
8x + 100 °
—— = +
N x
8x + 100 = 9x + 81
x =19

- his new average of runs (3H%I
T sirea)
=19 + 9 =28
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Let the runs in 11 innings

174. {c) let the avarage of 9 people
expenditure = Rs. x

According to the question

30x8+x+20
9

=X

240 + 20 + x = 9x
260 = 8x

x =325
Total exp ‘tt&axe =32 .5x9
= Rs.

175. (¢}

to question,
= Totatempdfature of first four days
( el 1 F& M9wM) Mon + Tue
Wedk + Thu
x 4 = 100°
Total temperature of Last four days

(#ifm = & = 0 WA Thr + Fj + sat
+sun =255 x 4 = 102°
o (i)

Total temperature of week (¥ H@RE
H FA AGAA)= 25.2° x 7 = 176.4°

After adding equation (i} + {ii)

Mon + Tue + Wed + 2 »x Thu + Fri +
Sat + sun = 202°...... (iv}

After subtracting equation (iv) - (iii}
202 - 176.4° = 25.6°C
= Temperature of 4th day
= 25.6°C
176. (d} Let the average expenditure

(@ T ofma @) = Rs. x
According to question,
35 x x+ 42= 42 (x— 1)

35x + 49 = 42x - 42

¥ = 84

€ = 12
Initial exper. \av ARFEE T = 35 x
12 = Rs. 420

177. (¢} According to the question

Total weekly emoluments of the
workers (FHUFA ® TR WAES
T=RH) = Rs. 1534

number of workers (FHIA =i
1534




178. {¢} According to the question

M+Tu+W+Th
Avg. of ———— = 37°

182. (4} As we know that sum of square
of '’ natural number is (¥0 IR ¥
iR n WS dmEsl & = w5 )

6n

+F+3AT+ -
Argol Tt P+ SAT S 8¢ A1 According to the question,
4 . Avg. of square of first ten natural
Th+ F + Sat + sun = 164°C..... fi differe- number is
" pwgoi M+Tu+WsTh+F+Sa+Sun Nnee39'C
; =3¢ i (10 +1){(20+1)
M4Ta+WThF+5asSun=273C =
In equation (i} and (i) Thursday two lix21
time included. -
. Temperature of Thursday is 6
(TR +1 dEHA) = 39°C =38.8
179. (b) let the eight Successive numbers 183, (d) According to question
are (77 5 37 AR weEm #)x, .
First 10 whole numbers are {W¥H
x+ 1, x+2, x+3,x+4 x+5 i
x+6, x+T 10 gof &&= §)

According to question

X+X+1+x+2+x+3+x+ - 0,1,2,3,4,5,6,7.8,9

4+x+5+x+6+x+7 = 6.5

... =n(n+l)(2n+1) ) (n+l)(2n+l)
6

., Avg. of 10 whole no. (10

3 ' i wemel w1 o) K
8x+23x :gi 0+1+2+3+4+5+6+7m
x =3
-, Smallest no is (<M T&W 2)= 3 f‘\
greatest no. is { AfEFTT FeEm P=x+ ~ ﬁ
7=3+7=10 T 10
*, Avg. of smallest and greatest no. ‘ré’
i e T S dem sy 184 (P) he onsecutive
posmve imj ﬁ'? [ AR
10+3
== :

180. (¢) According to the - 00
As we kmow thet “.vg. of ‘n’ positive

2, x+3,x+4,x+ 5,

186. {b) According to question

X+ Xy 4 Xy 4 Xt ¥ Xy
20

X FE AR +X,, = 20¥

X —101+x2 —101+x3 -101+

e +x20 ~-101
20

:(xl txy 4%y + m+x2)-20><101

.
20y - £0 L

Acordmg to question
avg of x no . is (x WEm |

=

ofxno is (x TEH F A= xy
\’l‘he avg. of ¥ no. is {y S&mal = A= x

Sum of y no. is ( y T&N F A= xy
. Then avg. of all no , is (W WesH +1 9r1)

Wrxy 2y
x+y x+y

188. (b) According to the question
Avg. of x no . is ¥
sum of x no. is = xy*
Avg. of ¥y no. is = ¥*
Sum of ¥y no. is = yx*

integer ir Xt xt QX1 B1 x+3+x+4+ X454 %46 ) xy® + yx?
. Avg of all no. is =
n(n + i) '&__ 7 X+ y
2xn S =26 xy(x+y)
(n+1) 4, *‘_Yx+ 21 = 182 A .24
5 ik = 161 x+y
Here n = 100 A : x = 23 . . -xy. :
- 185. (d} According to question 189. (b} According to the question
100+1 101

l.- 2 2 =‘ 1 2
181. (b) According to the % As we

know that. f\
L \j laat term+1
No. of -_: B =
¥ 2
E 99+1 100
No. Of Odd =— =50
2 2

Avg. of odd terms upto 100 = 50

Note: Avg of n’ odd terms(n’ f&m
e} = afta ) = No. of terms.( T H
weE)

=1
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30 pens + 75 pencils = Rs. 510
Average price of a pencil (T% Hfam w1
e =) = Rs. 2

Price of 75 pencils (75 Tf=a F1 qe4)

Avg, of ©' numbers x X X, ....x is x

sum of n numbers = n x

n —
< 2 x 75 = Rs. 150 ,El("l -x)
. Price of 30 pens (30 FoM 1 Tc4) put i = 1,2.3.............. n then
= 510 - 150 = Rs. 3 -
s. 360 fix, + 2 + ot e X - D)

-, Average price of pen (& FeH H

i As we know that x + x, +x  +
HAE g4) . 1 2 3
..... X, X
360 _
- 30 = Rs. 12 [nx_nx]=0




190. (b) According to the question

I+0+10
3
T+ + 1 = 405 ...........{5)
let largest no. is HI(AFAT $T d8d wem
sfwmd) « 195
S P+ 11 =405 - 195
I +«1I =210 .......... (i)
T-H=20.......[(v) (given)
Solve equaltion (ii} and (iii)
S T-115and 11 = 95
Smallest number is ((FH T = 95

191. {¢) let the three consecutive odd
numbers are (A T 47 smmmt faum

weard §)

= 135

=X x+2,x+4
According to the question

X+x+2+x+4 1

=—x+12
3 3
3x+6_x+36
3 3
3x+6=x+ 36
2x = 30
x=15
S last no. is = x + 4
=15+ 4

=19
192. (b) According to the question
consecutive even numbers (FAIR
™ HE ) = a,b,e,defg
consecutive odd numbers (AR
ey m) = j'k,l,m,n
consecutive even number (TTAR 4
H&am)
2,4.6,@. 10, 12, 14

2+4+6+8+10+12+14 56_

7
middle term

8
7
Consecutive odd n %ﬂﬂ
e wemt) 1,3 ,@)Kﬁ j
ddle term

1+3+454+7+9 25
5

. Samegs i situation.
Avg. of ev ers(TW wEmsT w
stwa) = d
Avg. of odd nGmbers ( fauq TN =t
)= 1
2. Avg, of all humbers (Tt Teaad
#1 siTa)= %

=3

193. (&) According to the question

I+0+M

3
I[+H+1=120 ... i)
Given; =21
and Il = 31

&t
M s

11 1
To make ‘II' number same
I a I
6 +3 +
5 units difference
10 units = 120

- 40

= 10 units

) . 120 12
nit= — =
um 10

S units = 12 x 5 = 60

difference between the largest and the
smallest( AfyFan au A gEmei &

d= ) = 60

Alte &

196. (b) According to the question

I =21 and =31
1 2
I 1
I 3
o 1
to make I’ number same
I Il m
6 +3 +1 =10units
sum 7 units
I+ Jiig
Given : = 20
L+ M
unit = 60
1 unit = 6

7 units =6 x 7 = 42

UEE! WEA = 6x
W& = 3x
el gEm = x
A e = ofta

6x+3x+x

194, (a}) According to the queston
1 = 2l
and I = 300
= —"=20
©Q_2 3
Il

©_3

III 1
To e T same
I I 11

6 +2 =11 units
4 units difference
G
I+0+1i
3
I+II+ 11 =148.8
11 units = 148.5

148.5

= 49.5

1
o

1 unit =

4 units = 13.5 x 4 = 54

195, {¢} According to the question

I++M+1v
4

I+ 00+ I+ IV =240........... {i)

1= %(H+M+N)

Given:

A =11 + II1 + IV ..... {ii)
Compare equation (i) and ({il)
I+ 4] =240

51 =240 = ] = 48
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= 13.5

= 10x = 60
=> x=6
then 7x = 42
197. (c) According to the question

first three numbers is increased by
2( et #m wee ¥ 9 it 3f %1 W)
=3 x 2= 46
Remaining three numbers is
decreased by 4{¥19 &F wemsl § 4
o7 g2 e T =4 % 3= - 12
difference < 6’ effect on 6 numbers
s

- - -1

. Previous average (fr@m sfiwa)= 32
New average (R #ifgd)= 32 - 1 ~ 31

198. (c) According to question

X+Yy+2z
3
x+y+z=135 ... {i)

= 45

y+z
x=




From (i) . If month start on sunday then
yt+tz= 135 - 51 = 84 ......[iii) there are
also, five sundays in a month and 25
gtz other days.(¥f% W g H T
=y+2 T3 § @ TR | e Far 791 25 19
2 et %)
i’ r z : iy v .. no. of visitiors on sundays (=R
y # denfmEl F WE)= 510 x 5 =2550
y+z=135-51 no. of visitiors on other days (39
y+z=284 7 denfral 1 W& = 240 x 25 =6000
“yrz=4 -, Average visitors (3i®a dwrd)
2z =88
z*= 44 = M = 285
Required difference = 51 - 44 = 7 30
199, (¢) According to the question 201. (d) According to the questions
\ 1+ I+ (0} I+ +IV )
X+ 18x 3= 54 16x3=48
Average of __X =M If IV = 19 (Given)
2 L+ 11 =48 - 19
put x = 1 M+ 1T = 29 ......(ii)
1 . Put the value of equaltion {iii)
1+- and (i)
_1=M 1+29 =54
2 =28
M=1 202, (b} According to question
Mean of 11 numbers is (11
X4 — 24— FR) = 35 ,
X2 = 12 = Sum of 11 numbers 1 Tﬁ £l
2 2 qm = 35 x 11 = 385 W

Now check from the option

option : (¢} 2M? - 1 put M = 1

2 x 1- 1 = 1 (Satisfied)
Alternate:

According to question

I+ 11+ v+

32xg= 93 ; ;
VI+VIHVIINR + X

37 x
R4 192 — 385 = 29
4 1 I two times add

1
X+ —
R | S o
2 203. {a) WAccording te the question
® letM =1
1 1 . 5 consecutive integers are (TR
X+— = oM . _
- e PiEE) < 1,2,3,4,5
1+2+3+4+5
1 —_—————— = n
LK = (2Mp -2 = 4M§§ 5
x -
) - 15
Iw n= —=
5

+
Required average =

. {a} Accordingrto the question
Average no. of visitiors on sunday
(Tgar % deniE B sied 93 = 510
Average no. of visitiors on

otherdays (#1= f7 danfel #1 i@
W) = 240

=1

. & consecutive integers starting
with (m +2) are = 3,4,5,6,7,8
3+4+5+6+47+8 33 11

6 6 2
Now check from option to put n = 3

2n+5
2

Option : (a)

2x3+5

11
= — (Satified)
2 2
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204. (dj let Eight consecutive number
are (N 5 SR 3116 Weamd &)
= 1,2,3,4,5,6,7,8, sum = 36 units
two middle numbers are (W4 F T TEN)
= 4 + 5 = 9 units
Average of two middle numbers (3
e geEme # o E) = 6 (Given)
Sum of two middle numbers (3 T
T wWoA) =6 % 2= 12
G ynits — 12
12

1 it -
uut — 9

. 36 ynit ‘{Exaenis

9

2o 8um &secutivc number

(e Wt S A= 48

(d} et t 4 even consecutive

n rs (AFT % 4 oFmAR Ww wemd

wW+2, x+ 4, x+ 6

rding to the question

205.

Al

+x+2+x+4+x4+6
2 =15

4x + 12 = 60

4x =48 = x = 12
. 2% highest number is (T4 FAfFmw
HEM=x+4 =12+ 4 = 16
{¢) According to the question
First five odd multiples of 3 is (¥
= o T f4em o 7) = 3,9,15,21,27

3+9+15+214+ 27
5

206.

. Average =

75
"3 15
fa) let four consecutive even
pumber (7M1 f% IR AR ¥\ gemd
D+t x+2, x+4, x+6
According to the question

207.

X+x+2+x+4+x+6

4

4x + 12 = 36

4x = 24

x=6

largest number (3fima &)= x + 6
=6+6=12
208. (¢) According to the question

20 over match required run rate
(20 3t & ¥ ¥ 3= | siwa)=7.2
Total runs are (/A )= 7. 2x 20
= 144 runs
If the run rate is 6 at the end of

the 15% over (15 AL = 3fd ¥ aff @
w1 A ed, @)
. Required runs (3sfe @)

= 144 - 90 = 54 runs
Required run rate (39 s

= 10.8




Alternate: Given:
6 x
B 2 3
—=— and — =
A1 A 1
7.2
A B C
/ \ Spent | 2 3 =6units
6 units -~ 60
3.6 1.2 1 unit 10
x1.2 x1.2
. A spent = 1 x 10 = Rs, 10
Ratio of —a\ 3 1
' 212. (¢} let the average age of lst
1_5?:?872 - 36 5 overs person (WM % wER =aRm Wl sitwa
x=72+36=108 ) = x years
209, {c) let the four observations are(AI I Il 111 v v
& 495w ?) = abde x
According to question x+1
a+bret+d o i x+2
; =20 e (i) a3 .
atcibtcretcid+c € xtd >
4 = 22 Then,
According to question
4c +(a +h+es d) average of 5 members (5 wE ]
" =22 )= x + 4
sum of 5 members (5 TR Hﬂ&ﬂ"lf
3 00 - = {x+ 45 = 5x + 20 %
4 sum of 4 members (4 'HTPIT L
210, (b A d,°=2h _ = (x+ 34 = 4x+ 12
- (b} According to the question -, weight of Sth mem m
average weight of 40 children (40 @1 TT) = 5x + 20 - 4
a=dt & AEA T9)= 36.2 kg AN
36.2kg . last player is &mav1a (HAfem
for 1. e o ot )
+6.1 kg s +3.3 kg 213, 'tou question
. "
kg at the rate 60 pages
423 39.7 395 S R HTE H W 100
(kg) (ke (kg.) ?
Total increase weight of 3 student fite taken to read 100 pages
(7 =i % wom o |/ ) A i TR | T W)
= 6.1+3.5+3.3 ha
= 12.9 kg .
‘. This increase weight effect e
erxa of 43 children (% Gl T ‘Evening
EEC| A7 HY g9 F0M) 100 pages read at the rate 40 page
12.9 Py ' per hour(40 3= W ¥0 H1 W/ 100
— =03 B g W 52 W1 TRA)
o 43 6.2 ' \fx\n Total time taken to read 100
average = 36. Y = ¥ o)
New average = 36.2 +8.3% 36.5 kg. pages(100 TS ‘TG';'I | e
211. (a) According to t estion 100 5
} "0 =—2- hour.
3 Average rate of reading in page per
= ’ 1 hour (fa=2 T3 #i 3w )
=A +B #% 240 200
Unspent pochet money (%41 €301 = 5 35 200 x 6
A+B+C R
) - 220 g 3'5 10415
=A+B+C =180
Spent Pocket money = 240 — 180 _ 200x6 -
= Rs 60. 25

=1

214. (b} According to the question

Costing: ftem-1 Item - 2
OSUNE: 400 6400
Sales Sales
tax 7% tax 9%
Rs.28 Rs. 576

{ "&
k] .
t

216,

217.
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Total sales tax {F& TR )
= 28 + 576 = 604

*. together salt;e gax = 6800

215. (o) Aocordmg}to the question

Quaﬂtlty of Milk in st year (WA I

B

{iantity of Milk in 2" year (38 o4

4080
o3y HAM) = —— =5101tr

Quantity of Milk in 3rd year (F&
4080

= —— =480 1tr
8.5

Total Milk (F& 3¥)= 544 + 510 +
480 = 1534 ltr

Average price in three year (3 79

= § g F A

4080 x 3
q = ————=Rs. 7.98
sima 784) 1592 5
(b) According to the question

4Price : 6 T + 12C = 7800

Average of Table (W1 %1 3fs qe4)=
Rs. 750

Total price of table (%% F1 FA )
= 750 % 6

= Rs 4500

Total Price of chair (&l %1 o Y74)
= 7800 - 4500

= Rs. 3300

Average of chairs (Tt #1 ¥iwq)

= —— = Ras. 275
12

{d} According to the question
Average of 8 numbers is (35 F@TH
1 i) = 27

Each no. is multiplied by ‘8" then
average is also multipled by ‘8’

(9o e F a3 A T fE S #

ar: Hwa A i 8 @ om EM )

= 27 x 8 = 216




218. {c) According to question 220. (d) let the numbers are (71 & M ¥) 224, (b) let the four numbers are (WA f&
First nine integral multiples of (3 = '2’ xt l',yx + 2,8x +3, x+4, x+5, x R HE ¥) a,b,c.d
. +6, x+7, x4+
F W o ) According to question M = 12
3 = 3,6,9,12,15,....... 4
Sum of numbers 5n Xtx+lex+2rx+34+x+ a+b+c+d=48
4+ x+5+x+6+x+7+x4+8 Also,
Pw(2«:1+(n—1)d) 9 a+b+c
2 _— =
3
9 9x + 36 a+b+c=6d
- =n
8n = _(2x3+2-1)3) 9 ~a+b+c+d=48
2 6d + d = 48
X+ 4-=
. 7d = 48
9 If next two numbers also include B
Sn= = (6+24) (afx Q) selt Wt ot wig 9 B) (x LI
2 + 9,x+10) ;&\7/\‘
9 then average 225. (a) Acclyging. thithe question
Sn= 5 x30=135 9x+364+x+9+x+10 A+B+C
) 11
135
Required average = ? = 15 11x + 55
Y
219. (b) According to the question average= x + 5 S i
Sum of‘6 oo}'xsecutwe number is {6 Difference = x+ S-x-4 r{ i Ho=8 s old . put thevalue of ©
AR WS T AM) =25 x 6= 150 Difference = l{Increase by 1) in equauo3 n (i)
221. ib} According to the questrﬁﬁa - A+B+D+8=20
Sn = E(ga +(n-1)4) first five prime number are (““"’W A+B+D =12 v (iii)
2 g =) = 2,3,5,7,11 . Put the value of equaiton (iii) in
HoE equation (ii)
6 2+3+58F+1 28 12 + E = 24
150 = —(2a + (6 - 1)* 2} Average = — T _— 5 =z E=24-12=12
2 P E- 12
Average = 5.6 ~ ° 226. (a) sum of cubes of n positive
6 222. (a} Accor@ng tdlﬂlg questlon numbers is
150 = 5’[2& + 19} First six fﬁvmber which is 5
divizible ] l‘% =; fam 'H'@IT@, El _ (n (n + 1))
300 = 12a + 60 mavafaqﬁiw ) p
12a = 230 7.3%,38%49 63,77 2
540 ) TiaT14114 . Average = n{n+1)"
2T T ' p
n
w & 8p= —|2a+{n-1)d = n = 49
. Numbers are 20,22,24,26,28, ﬁ@% S 2[ (n-1)d]
Difference in largest and smalle A 6 49(50)2 N
is (ST U R HEA B HR) ‘«c: ‘S < 5(2x7+(6—1)l4) = — —— = 30625
=30-20=10 ., . .
o 227. (b} According to the question
Alternate: % Lo Sn = 3{ 14 + 70 (o) € 1
Lettheﬁconsecutwen‘%ifs(;s%x,x+ Sn = 252 1+2+2+3+3+3+4+444+
2, x+4, x+6 x+ 11;? 259 4+5+5+45+5+5+6+6+6+6
A.T.Q. REY Average = —— = AVE.= 646+ THT+T+T+T+T47T
6x + 30 %. i@b 223. {c) According to guestion 28
= =¥ Yoo/ first ten prime number is (¥Y9H T
N Em&)=(2’ 3,5, 7, 11, 13, 17, 1+2x2+3x3+4x<4+
=>6-’C+30“¢5 0 19, 23, 29) Sx5++6x64+7Tx7
= 6x= 120" Sum = 2+3+5+7+11+ 13 + 17 Avg.
- 20 +19 + 23429 28
xr Sum = 129
then largest no. =x+ 10=20+10=30 Avg, - 1+4+9+16+25+36+49
Deff. between largest and smalest - 129 - 28
Averag: 12.9 !
no. 30 - 20 = 10 Avg. = 5
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Alternate:
we know that sum of n? terms

_ n(n + 1)(2n+1)
6

232. (¢} According to the question,
Average weight of 3 men (3 =afsal
1 3fWd 9K A, B, and C = 84 kg.

= Total weight of (A+B+C) ({8 = 84x3

= 252 kg
_ 7x8x15  7x120 =  After joining D, average of 4 men
T Te T e MO (A+B+C+D)
here terms are 28, (D#® W WA+ B +C+ D F 3R\ M)
140 =80 kg
. Average = 28 =5 = Total weight (A+B+C+D) (¥d WR)=
) , 80x4 = 320 kg ......... i)
228. {a} According to the guestion . _
numbers between 6 and 50 Weight of D (D #1 W)= 320 - 252 =
divisible by ‘5’ 68 kg
(eﬂsoﬁﬁawhﬂﬁWM) = E&Telght of E(EF MY= D+3 = 68+3
10,15,20,25,30,35,40,45 =71 ke
10+15+20425+30+ 35440445 =~ o O D and B average weight (B, C,
+15+20+25+30+35+40+
Avg. D, E ¥ Jwa W= 79
8 Total weight (3 ¥R} (B+C+D+E} =
220 79x4 = 316 kg .”(ii]
Avg. = 8 ° 27.5 Alter {ii) - (i) subtracted (FHIHW (ii)
229. (d) let five consective odd numbers ﬁEﬁ t'iaﬂ 3?: 11-{)320
are (WA & g9 wAR faon Gem ¥) 71_A__4
1,3,5,7,9 - 75
Herea=1,b=3,C=5,d=7,e=9
! ! -, i 233. {d) Let the average pnce of
Ad d to th t
ccording to the question (A 5 T P -1 s
Avg = 143+5+7+9 N 25 According to the questl
S S 50x + 76
Avg. = 5 =
Now check the option. (50 + 14) 14)
Option: (d} a+ 4 A
Here a = 1 0x + 76
1 + 4 = 5 satisfy = T bl
230. {b} According to the question 64 /) ;
= 50 wx - 64
P+Q 14
= Rs. 5050 x
2 =T 10
P+ Q=Rs 10100 ..............{0) Tiefo rage price of 1 book
Q+R ¥ 3iwa 7w) =T 10
2 = Rs. 6250 234. |d) nubmers of natural number
. are fr wem TRfre ¥ n
Q+ R = Rs. 12500 ............. The average of some natural nubmer
P+R is (HB WFhw dens w1 dhm)= 15
g = Re 5200 um of these natural number (Yfa®
P+ R = Rs. 10400 ................ 3t H AM)= 15 x n= 150
Adding equaltion (i) and (ii) 30 is added (9183 WI) and 5 is
2(P + Q + R) = Rs. 33000

substracted (YA w7)

So, Now addition of these numbers
(319: 9m)

= 15n+30-5 = 15n+25
According to the question,

P+ Q+R=Rs 1650 A..

P + 12500 = 1§60 '
P = Rs. 4000
231. (¢) First 20 ogd @ (79| 20

faam weam) 15n +25
1,.3,5,7 B 39 = ———=175
Arithmeti ean (garar n
) mhveragh ) = 15n + 25 = 17.5n
= 2.5n =25
_ First odd no.+ last odd no. = n=10
2 Therefore, the numbers of natural
1+ 39 number r (VFfaS
T T, = Average = 20 densi # WEm n)= 10

=1
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235. [a)Series :-a, a+ 2, a+4 .onenennn.

sum =na + 2 + 4+ ..., upte n
terms
sum = na + 5
s, - 202™ -1
2-1

202" -1

Average (3ia)= sa.+—[—l
n

236.(c})Shortcut Methgd:-

If consecyt ies is given
and n ulyber is included
will always be in-

gl # 91, 7
yx 0.5 ¥ )

verage increase by 2x0.5 (991
)= 1
) Shorteut method:-
Do by option { FaFed =1 wam w6 W)
Let number be 24
Sum of digits 2 + 4 =6

1
= 6-2= EX24= 4 = 4 matched,

S0 24 is answer

{a) According to the question,
Largest number (F99 =gt d&)

= 420

Smallest nurnber (&9 Bl F&N= 204

238.

420 + 204

Average (shaa)= 2

624
=3 = 312
239. (a) Let the eight consecutive in-
teger are (W1 & 8 warm wEmi)x,
X+2, xtd, xt6, a8, x+10, x+12, x+14
According to the guestion,

X+x+2+x+4+x+6+x
HB+x+10+x+12+x+14
8

744

=93

8x + 56 =
8x = 688
x = 86
Greatest number (¥ TEM) = x +
14 = 86 + 14 = 100

240. (b) According to the question,

+360 +390
=

3
= 429,559 489




241,

{a) According to the question,

Annual income (4% W)= 1000 x 7
12 = Rs. 12000

Annual expenditure (IFF Wl )x 1000
x 9 = Rs, 9000

Saving (F)= 12000 - 9000 = Rs. 3000.

= 60x3 = 180

1
First no. (Rl 4&H =ZX130 = 45Ans.

246. (d) Sum of three no. [@F T=AsH | 251. (b) Let the third no. (FF1 fF #radl

e = 2x
then the second no. (@l O W81 = 6x
and the first no. (3R T@eh TEW = 3x

According te question [Y¥TIHN],

242. (a) According to question 247. (b} Let the seven consecutive no. Sum of no. maﬂ = "ﬂ“] = 44 %3
’ ’ is (AT f% 7 TOTAR WEAT §) 2% + 6x + 3x = 132
Total sales for remaining 6 days (T3 _
. - 1 ox 42 +6 11x = 132
. X, X+, x+2, L0 Xx
fas!) (Sun+ Tue+Wed+Th+Fri+Sat) um of S:;‘::[ ;:;wecu tve no. Largest no. is 6x (Wfusaa J=m
= 15640 x 6 = 93840 Rs. .......(i} i”z"o"i_;'i" 140 = 6x12= 72 '
Total sales for tuesday to saturday 252. {c)Let the fourth no. {‘Iﬁﬁ?ﬁlﬁw-
(HMEER | viEn aﬁqﬁmﬁaﬁ) (Tue n and the averaﬁlrst of three no.
+ Wed + Thr + Fri + sat} = 14124 x S, = 5(23‘”(““1)“) (et 3 %
5 = 70620 Rs. ... i) Accordibg 1o ¢
= After subtracting eq. (i) - (i) (FHHM 7 Sum-of four
(i) 1 (i) T TR W) 140 = ~(2xx+(7-1)1) T S
x

= The sale on sunday is (IfFar =i f&=l) 280 = 7 (2x + 6)

‘ 2
= 93840 - 70620 = 23220 Rs. _ A
40 = 2x+ 6 X . -
243. (c) Avg of new set of number 7 @‘m ne. 1s {ﬁtzﬁ ) 2
- (n x 8 34 %; :(d) First 9 Prime number is (Te! 9
=21 x8= 168 x= o =17 %‘WMQ]235711131719
244, (b) Series —» 3 + 5+ 7 ......21 é@%&“
Total number = Largest no. is (3 e ) _2+3+5+7+11+13+17+19+23
17 +'6 = 23 o
Last term - first term o 248, (c) Let the total f mstudents
difference [qmﬁwﬁ’(aﬁ@ '190 =@—11l
According to questia&{ﬂﬁﬂqﬁ) 9 9
- A3, 20 x 80 + 25 x 8% +.58 x x= 52 X 354 (a) Let the third number be (A1 &
2 100 A g W el T
1600 + 77%.4 59% = 5200 v
18 55x = .§200 600 - 775 then the second number be @, T
=5 1= S5x. = 78S ) 2x
sx =5l 4 and the first number be (3T W&
Sum of series (3tft T IM)= .
249, (cautmnlﬁnomﬁ;ﬁaﬂm x HE 4

According to question (YFWTHN),
Sum of number (GEAT 1 M = 21 x 3
x+ 2x+ 4x= 63

" and thie 1™ (G0 T = 3x

2[éa+(n - 1) d]
2 iy, ‘-‘_then the I* no. be (@ veeil TEm &7 = 6x

10 “igum of no. (W& FT WM = 10 x 3 e =63
— -2—[2x3+(10-1)x2] X+ 3x+ bx = go x =9
x=

. x is smallest number (x =W HEm &
Largest number is 6x (WA Hem)

=5[6+9 x 2 - €x3-~ 18 955, (c) Let the second no. (Arn f& Tod
%& &) - x

=5x 24 %1 % 250. (ajincome of A and B (A 39T B &1 the first 1o, be , 3

=> 120 M = 2 x 14000 = 28000 Rs. then the first no. e ¥ - 3x

* and the third no. be (3 daf T= -
Income of B and C (B 701 C #1 379 15 ¢
= 2% 15600 = Rs. 31200 According 1o question (F¥AITHN),

Averagc ( i ‘-
N Income of A and C (A 74T C 1 5g) = Sum of no. (G F1 T = 57 x 3

245. (b) 2 x 14400 = Rs. 28800 3x+ x+ 15x = 171
\ Incomeof A, Band C (A, BT C &I 19x = 171
3+11+7+9+15+15+8+19+17 + 21+ 14
* il et ed (28000+31200+28800) x = 9
12 ) = I =9
2 = o= 27

=12 = Rs. 44000 U= 135

=137+ x = 12x12 C income = 44000 - 28000 Difference = largest - smallest

x=144 - 137 = T Ans. = Rs. 16000 Ans. = 135-9 = 126
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256. (c) Sum of weight of A, B& C (A, B 261.

TC F T F A= 84 % 3= 252kg.
Sum of weight of A, B, C & D {A,
B, C3AID ¥ F=Hl F1 9
= 80 x 4 = 320 kg.
D’s weight = 320 - 252 = 68 kg,
E's weight = 68 + 3 = 71 kg.
Sum of weight of B, C, D & E
= 4x79
B+C+6B+7] =
B+C =316 - 139
B+C =177
A+B+C =252
A = 252 - 177
A =75 kg,
257. {a)  Let the present age of Son (AR
fF ¥ %1 ad9A WY = xyears
and the Father age (3t foa %1 amy
= 3x+3
According to question,
2(x + 3)+10=3x+ 3+ 3
2x+ 6+ 10= 3x+ 6
2x +16 =3x+6
x = 10 years
Father's age = 3x+ 3
=3x 10+ 3= 33 years
258. () Income of x & y (x TN y Tl 314
= 2 % 5050 = Rs. 10100
Income of y & = (y 7 z H1 3
= 2 x 6230 = Rs. 12500
Income of x & z (x 781 z Fl #MH)
= 2 x 5200 = Rs. 10400
Income of x, y & z (x, y 901 z FT [

10100 + 12500 + 10400

316 kg.

= 2 264,

33000
= 5 =Rs. 16500

Income of x = 16500 - 12500
= Rs. 4000

259, (¢} Let the third no. MM f& el
oEm = x
then the second no. (@ 3 ¥&9 = 3x
and the first no. (3% e W = 6x

According to question,
100 = %

sum of no. (F&R FT M =
6x + 3x+ x= 300
10x = 300
X = 30 265
Largest no. (3Yy®an
x 30 = 180

260. (¢} Use Mixture

Adulis

Ratio of — 8

7
Adult d
- T

=]

262,

{¢} According to question,

Agricultural 11

B other workers; i “l_
Average of monthily Income of all
workers (94t FHfE % Wiaw Jut *r
SR

11x3 + IxT _ 118+T
B 12 12
{d) Let the third no. (/1 & e

o) = x

then the second no, (@, T & = 2x

and the first no, (3 TR TEW = 4x
According to question,

sum of no. (FERA F1 9 = 3 = 77

4x+ 2x+ x= 231
Tx = 231
x = 33

First no. be (T8t &} dx= 4 x 33 = 132
263,

(d} Let the second no. be (@M &
T e = x
First no. = 2x
Third no. = 4x
According to question,
sum of no. = 56 x 3
2x + x + 4x= 168
Tx= 168
x= 29
Ist no. = 2x = 2 X =&48
IIrd no. = 4x = x ‘-W‘)G
Difference = 96 - 46"
fc) Use alligatjgir Mlxture:
pareny

Workers .

. 7
7—>7

15+7 = 22 5 22 workers
(d) Let the five consecutive no. (HII
f ol wmeR dE)= 1,2, 3,4, 5
Average of no.’s (T F1 i)
1+2+3+44+5
= ———— m= 3
5
Average of eight no’s (38 wHeEna
w1 3itwa)
1+2+3+4+53+6+7+8
8

= — =

4.5

3+4x= 45
x= 1.5
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X is increase the average of no.
266. {a) Let the Ist no. (AMT & wE=l

O = x

IInd no. (Tl =@M) = 2x

illrd no. (A =wan = 4x

According to question,

sum of no. (&M F1 dM)= 3 x 28

x+ 2x+ 4x= 84

Tx = 12

IMrd no. = 4x= 4 x 12 = 48
267. (c) Sum of m no s (m 9= &

qM) = m x
Sum ofnwnuz%n x m?

xn +nxm

Average o
{&k\g w" m+n
s
4 m¥nem)
=V = mn
*m+n

o
f(d) Average of 10 no. (10 FEmaif
1 )= 7

Each no is multiplied by 12 (W%
T w12 W ow H fem W ® )

Then average will also get
multipled by (I sivea & «it 12 9 on 8
SnE)
= 12x7 = 384
269. (c) Let the E's age is (9F0 f% E %}
HY)= x years
According to question,
20+ 4 x 45+ x= 5 x 49
20+ 180+ x= 245
x= 245 - 200

x = 45 years
270. {c} According to question,
Average monthly expenditure (ot

Hifee o)

5 x 5000 + 7 x 2300
B 12
25,000 + 16,100 41,100
12 Y

= 3425
{b) Let the Income of eighth month
(a7 f 3= 9¥R Y W)= Re, x
According to question,
B x 3160+ 3 %4120 = 12 = 3400 + x
25280 + 20600 = 40800 + x

45880 = 40800 + x

x = Rs. 5080

271.




272,

273.

274.

=1

(d) let nine consecutive numbers 275, (b} Total Income of A & B Next-a+5,a+6,a+7,a+8,
are (WM & 3 Frm gEm ) =2 % 15050 a+9
X x+2,xt4, X+ 6, x+8, x+ 10, =3 30100 Next to Next-a + 10,a+ 11, a
X+ 12 x+ 14, x +16 Total Income of B & C +12. a+13. a+ 14
2 % 15350 ? ’
X+x+2+x+4+x+6+x+8+ = ¥30700 £ Ist-condition= 5a+10=x
X+104+x+12+x+14+x+16 . g3 . Total Income of A & C 5
9 = 2 x 15200 Sa+10=5x  ..(J)
= ¥ 30400 find condition
9x + 72 = 477 Total Income of A, B, & C ©
9x = 405 _atlld+a+ll+a+l2+a+13+a+l3+a+14
_ 30100 + 30700 + 30400 = g
x =45 5
least odd number is (W Bt _ 5a+50310§ 5a+10+50
fm wre) « 45 21290 _ ¢ 45,600 ‘\ 5
(b) According to question 2 In eq. %
Income of A = 45600 - 30700
A+BsC =% 14, 900 > Szl RN
3 = 450 276. (b} According to the Question A;; E
A+B+C= 1350 ] ording to the question,
+ = LAY e 3
W ?g};s Ci‘gli "-::__‘," the Age of Boy is x
AvB k (T TigE W g x )
2 C% 7x40=3x48+3x44 +1 xx
A+B=800 ... {ii) Ratio of K 280 =144 + 132 +x
Bac Quantlty
P 430 5 Alternate‘
B +C = 860 (i} 277.(a) Total age of hu , wife (48 - 40) (48 - 44)
"""""" & their Chl]d Yoy nt
= MMM WWW B =40
1£A+B =800 (T § H?é T o~
. C = 1350 - 800 = 550 . m% +8 4
Put the value of ‘C’ in equation =13 3 = 90 years. lx3 lx3
(s ¥ ¢ T U T W) o Rof wife & child at o b 40-24 - 12
B + 550 = 860 2!
B = 860 ~ 550 ﬁqc-ﬁaﬂtaﬁ\aﬁa@ B=40-24-12 =4 years
B - 310 282. (a)
(b) let the eight numbers a =20x2+2x5=50 years Tue + Wed + Thu = 41° x 3 = 123[i]
a,b,c,d.efgand h average of e usband age o A
numbers is = 20 (N 5 513 & 90 - 50 = 40 years Wed + Thu + Fri =40° x 3 = 120{11]
a,b,c.d,e.f.g, R h & 3o =00 =7 sfwm . o
20 #1) x+y _yt=z {H - (i)
278.(c) 5 =12 After solving both, we get
S Sum of eight num 20 _ Tue - Fri = 3°
_ xty-y-z=24
T F;oAM) = 20 x_g=g4 Tue = 3° + Fri
Accordige tq"OyesWon 279.(c)A:B:C=2:5:3 =3°+39°=42°
a+b + c+ g +h = 160 - 283.(c) Sum of 5 no. (5 T F= M)
5T . eevyees _ 30x2+17x5+25x3 = 7x5=35
Avg = 10 Sum of 8 no. (8 T T 4m)
+3x+ 11 = 160 = 8.5x8=68
Sum of added all three no.
= 60+85+75 .
3x - 54 =——10—+—= (I T A wEmeH F Am) =
x= 18 68-35 = 33
~ Eighth number is H (979l ¥& 280, (c) Lat No. are a, a + l,a+ 2, 33
H=x+7=18+7 =95 a+3 a+4 Efficiency (Bfl'ﬂ?l)=—3—=11
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284.(a) Ejsmg Al%f\gz;tmn)Method _ 20.5x130 . (zEfaT x ® fodl 9@ & o @
et fafy g 100 : o T 18 & 24 @ 9% @)
= b sum of first four number + k 289. (¢} Let rainfall on saturday = x
24000 12000 Now 5 = Total rainfall from sunday to
\/ New Average friday (foR ¥ AR & %=
16000 118 +k = 38.35 % 5 W) =0.5%x6=3
/ \ 118 + k= 191,75 Total rainfall in whole week
4000 8000 K=19175-118 (R war 4 1 =)
1 2 =73.75 =2x7=14
1 unit —7 287. (C] Total age of 5 members (5 rainfall on Saturclay
So, total associates (®dA R # A AY) = 5 x 28 = 140 S 14-3=1L°
ﬂﬁ‘{"f) ={1+2) . 140-20  290. (b) Avg,of @ﬁaﬁldmn is 35
3units =3 x7 =121 Required average = ————— ; B . o
4 Incor &ﬂaer of student
285. (¢} (o & ) =
Passengers weightTotal weight = @ = 30 years . e ) =65
16 x 80  =1280 4 then’extra number (74 AR
20 86 = 1720 288. () Let the remaining mumber be x. { ;Jg!‘:@q?&=65_35=30
Weight of 4 Boys = then, % LO¥ decreasing average of
440 Now A 24%3+18x “sach student
owAvg. = —————
A 0t of 4 Bovs = 440 8 x+3 (Y BT T = gam i)
verage weight o oys = — _ 72+18x
=110 kg. x4+3 A = 0.857
Now put values of x & 35 7
286.(c) Average of A set |4 : ;
57 for x=1, Avg, = 2‘235% Correct average of each
_ 27+28+30+33 118 =295 for x = 2, Avg, = 21. student (Y% BF 1 & 3 )
4 4 So for any valye-of:x*New av- = 35-0.857
After increase Average erage will ah_ty;ays- be between =34.14
(7= # siwm afg) 18 & 24%, 4 ./
’_‘k )

EE OF COST |

1509 40 3394
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